gt s |° - CCSEI-IAP25

Lflay

6T600.

2025

Qung) iflay
(UL g iLs So)

sre Seray ¢ aerm wefl Cryb] - : [Qurgs wHrQuenser : 300

damésené@ o wealls@b e Spsseam .y,u‘jlé;_mumm& SQUETONGL LigssaLd

11.

12

13.

14.

wédlu sidleyemyaer
Bbs efams@snguy, Coia Aanki@easnE 15 HOLhsErsE (pPaTasns 2 Bs@nd@ epmisiLGID.
@5 amsQstEry, 200 damssamars Qararhereng. Shsdr elams@snEuier apslILssSmSLD BssCar Sideg
APEECeum snl_ng. :
dloLsamer Hloushe OMR e ssmar  gearm SiopEsaTETaiiILTaTyTe a_réjes@é;% aupRISILELD.
Aeosoas GHoug edmeill sedun Gauppiu. Geaengw wyfleemrsdar oL gsratigib, Csiadsal
SigHEF Fligg@ib auphiEiiL’ (Harerer. .
smasg elamssEps@n o wellss CouamBib. massg) aflaréa@pd Fwres WG LiaTEeT Q&Emeim_enau.

Beicfams@snsiy eaammar OMR oL ggrafle @hiush@ weryb wHmid oL waléas GaTrkigGd apemnb,
Qaclams@sniEgide smass amss@sd afl@surs  @EALOUC Reeraeun  GraTU@SUD, - G ulld
QeupmssT s6r craeutb @dma eaaumsuyb 2md Caig Gsrdraran. elems GsrEidd gGsaub G®DLITE
%%hlﬂ_sht. Cairauir sigemen Gsitay OsTGaSHE (perasns sempssamsraiuureti b Gsfleilss, sfiuns e dar
DT (P(p@DLTeT slemgosn@Lidemen siL_mub QupnsQaTerT Gouampib. Coia) Csm_mdu Gy Eg S05g
peopulLre efleamgQsnEiiLy LrHdld STiLLom L mg. TR '

o msEr@L U LS adrmar @Bs LsssHdr aog Cud weeulld sHlsar CeTRssLLL T B
Brusdr aupgs Ceuanpo. Caup aasyd clamsCsrGUld aupsdomrg. =

gai@aun efamayb (A), (B), (C), (D) wpgpud (E) erar gmibg ufdsamar (aflansem) Carampiereng. Brusear (A) siveg (B)
sdwg (C) e (D) Qeasais @Gy gm sfurar aflamus Gsfle) Calig oo gsraller Ehlagssm L Cadmpib.
am Cadellée gomée Gupul L sfurer el Garusts Bhisdr smbamsd, sieubper Wessllureg oar Brsdr
Tess SmESDiEGaT S5 eilmLmw efassralld EHEsEsT L Cadmhib. 2 rksEhs@ oL Csfiusidme aaflo,
Brauser (E) cremuens el Hiniu Gauar®ib. eniugumnGeb, g Csaeilse @Gr g olloL g CaipGs0ss
Gouampid. Briser gn Cadrelsg @emise CohulL eforuioar siafligsnd, weubpeT R0 eflen  #flumegne
Bmpsraib ks elaL gauprensmaGel smsILIHID. '
lams@an@ifer abs G sHanbd ehsellss @PULs@eTLD ﬂ@,ﬁ;&aﬁLng}. Guyser erpdlLmTlUSHES
Aams@sr@der seLfiusssdpe wear cerar “Space for Rough Work” ussmseer uLwerLGsHs
@snarererd. @bs Sifejeny aeamgiuns SeruporuL CeuemHib.

. siwasg @emsaibd ghde aiyCGa @ndurearg.
10.

Coiey Crrsde @ps olemsGsreuloatur owg oL gsreaGur Gsiey @mpawei® Geaaiuieo
(D555 DL TE. ' _ _ i .
Caiia] apigbs e o i@l efla Ssrener siampdsansranlumeTiLD UL EF GeanCr
BaeilamsosngGemar Briser ahsss Qeba oiguodssiiu@eiisdr.

ShIBEHEHE euphsiLLL ellamgsnafle wEdlnur Qarer cllams@sn@iy aemeaflear OMR eflassmafie s
oepeiu alsdoar sfiuns smoourssmnod Gapste. OMR dasgmr Qebanggrésiu@in. Garamed
SHLLNESEILLL allamggmer AsmEiL cranGenr @miSluinang.

smew Bn o Qasmeim_ u@gj@mmu Guenm (Black Ink Ball Point Pen) gefly Gaumi Bp Guenm 2 LGUITGLILGES
OMR eflen._ggmer sennumsLiLL g rrder sidellaL sarer eaangsmés L.

Brusar CopsenL. idemraaid aapapuresy Gdupps seaubenmed CaireuranenmiLigdlen @S]@uqrﬂ@muﬁ]ﬁ
SigrumLId THEGD pleilySoss@EnsE o aremas CrAEn aar Siflanss LGNS

I ENGLISH VERSION OF THE ABOVE INSTRUCTIONS ARE PROVIDED ON THE BACKSIDE OF THIS BOOKLET

3

[Turn over

2-12




SPACE FOR ROUGH WORK

CCSEIL-IAP25 - 2



Which of statements are True?

@
(i

(:iii) .

(iv)

A)

- (B)
vl
(D)

(E)

Octane number increases with chain length.

Cycloalkanes have higher Octane number than straight chain
alkanes..

Alkenes and aromatic hydrocarb_on have higher Octane
number than straight chain alkanes.

Branched chain alkanes have lower loctane humber than
straight chain alkanes.

(1) and (iv)

(1) and (i)

(i) and (iii)

@), (ii), (iii) and (iv)

Answer not known

égammeﬁ@ o1l Fflwimes gnbm ?

G

(1)
(iii)
@iv)
A)
(B)
©)

D)
(E)

eadledl Cgrii smpib Curg %EGL&T T &gr &Ll_lﬂ'éﬂﬂ)gj

Cprmar  si@Csarsmans a;rn_u;.@nn cuemerl A0CaHaEHERdE 2 Wb
2,&5CL6r eretr 2 6w (h).

Cprrar  oOGsMmEDETS  STLG@ID  BwEasERD  CImomigs
manl Gy sriues@sh iHs sCLen aar Qandr_g. |

Cprrar si0CsaameTs ST @b dmersdr 2oL suddls Qsmii
S@Casanser Gampeunar &G e erair GAsTaT ).

(1) wpgud (iv)

(1) wpgid (1)

(11) womb (1i1)

(@), (), (i) wppd (iv)

eflenL c;rg,rﬂuas}mma |
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2.  Match the following hormone with the disorder caused :

(a) Insulin 1.  Cushing’s syndrome
(b) Thyroxine 9. Diabetes insipidus
(c) Glucocorticoids 3.  Acromegaly
N (d) Growth hormone 4, Goitr.e _
5. Diabetes Mellitus

@ ® @© @
A) b 1 | 2
B 2 4 3

4

wey 5 41

M 2 4 1
(E) Answer not known

L w = W

anmTGLOTETSENET Biene _&dﬂl_ﬁé;@m CrmusGarm(® QuUIHSSIS :

(a) @ensedlan 1. Geudin Sem Gomb

(b) mg,grréséw 2. mu.um_&h'_r_ciu @erdliav
- (0) @GEnsECaraigsmil - 3. .:Q{SEGIITITL&&SH'QS]

(d) cueriiEd anmirGiomet 4.  spo®.
| | 5. BAfey Gpmis

@ O © @

‘A 5 1 2 3
B 2 4 3 1
© 5 4 1 3
® 2 4 1 3

(E) & Gafwecicrene

CCSEI-IAP25 4



‘Choose the right matches : . f g
(1) Carotenoid —  CssH70OsN Mg

@

(®)

(2) Chlorophyll a> —  CssH7,OsN Mg

(3) Chlorophyll ‘> —  CssH70OsN Mg

(4) Xanthophyll —  CsoH470OsMg
(1) and (2) are correct - (B) (3) and (4) are correct
(2) and (3) are correct (D) (1) and (4) are correct

(E) Answer not known e

shlurs’ QUIBSSILL L oss CaibAsOdsab :

(1) sGrmgarmi —  C5sH70OsNMg

(2) ugswbd ‘@’ —  CssH705NMg

3) usswid b’ —  CssH7OgN Mg

(4) &nﬁ@g)no°uﬂsb : —  Cs50H700sMg

A) (1) vpmd (2) sfwurarea (B) (3) whmid (4) sNwreneneu

(C)  (2) wpmbd (3) sfwirarerar D) (1) wombd (4) sNwurarena

efenL_ Ogfweidene

. The "Ndbel Prize in Medicine was awarded to Victor Ambros and -
- Gary Ruvkun for their discovery of

(A)

(©)
(D)

(E)

Expression Sequence Tags
Micro RNA

DNA micro array

SNP’s

Answer not known

sLim =bGrmev whHmb HCr reuGenr HHCurher erbgy searpliglyssns
wmsgleusde GCrrue (g eupmISILILL g ? '

)
®B)
(©)
D)
(E)

Qeuafliur® euflens L GOECFTHSET

miekr <yir.ereir.er. (micro RNA)
I GTGT. 6 .- [HI 60T <{&wuf]
erev.erem.19. (SNP’s)
MenL Qgfweldeame
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B. Whit:h of the following statements are true about crew selection and

training for “Gaganyaan Mission”?

@
(id)
.(iii)
(A)
(B)
©)

P

- (®

Crews are selected after clinical, psychological and

‘aeromedical examinati'on.

Mission-specific training will be cbnducted_ ‘at ISRO,
Trivandrum. ' - ' :

Selected astronauts will undergo their generic spaceflight
training in Yuri Gagarin Cosmonaut training centre, Russia.
(i) and (ii) only

(ii) and (iii) only

(111) only

(i) and (iii) only

Answer not known

Qeraumd snpmisefic), eree “seanurer  clanCeuefizdlL”  elirfsmand
CaibQshiEsd wHHILD L9Hé Ghsas sflwurer sppisEeT? :

(1)

i)

(iii)

(A)
(B)
(©)
- (D)
(B)

fem@euefl  Liwewr  efiffsdr, LGS, o erefuicd wHmb eflmer
BIGEETTIN LfGsngmasErs@EU 9pGa GsibOsHEsILE S eTart.

famQeauefdr L L9pd,  GevGyr - (ISRO), SmeianbsLyssled
peoL GunISEDS. : ' : |

Cairey Qeuwnur L efamQeuefl  Liwiewt @ﬁUﬁ&iIdT,.@urrgj If@uﬂlrrm
amer@aalls uwenr LW€@HH@eer Fagwreled o der Wi -&&miflem

- syerGeuafls Lwesfl LuGHE! @wwHHd GumeTiaar

(i) wpgid (i) iG>

(i) wppib (i) v Go
i) oo

(@) wpgid (iii) w G
aﬁlaﬁl_ Glg,rﬂu_laﬁld)ma}

CCSEI-IAP25 ey, 6 ' B



Which of the following statements are correct about PFAS?

®
(11)
(111)
(A)
(©)
(B)

. : THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
PFAS is per and poly fluoro alkyl substances. e experr commrrree For Fivat pecision

It is used in paint industries.

RiCasiad uigih e AA (pasiprs
(i) and (ii) are correct (B) (i) and (ii1) are correct
(1) and (i11) are correct (D) (i) only correct

Answer not known

Epssrapid sappissefe PFAS upPw sfwrear sappissmer CaibAsHEsaLb.

oy
(i)
(iii)
()

(&)
- (B)

9.eri.qr.eren. eramug GuitLli@sGrm wHmid umredlli@sCrm < oamase
CLITL&6T @GLD.

Qg auarariLFs (duwllern’) Gsmihsmmaseaie LIRSS ILGEDS.
@& pretSlder &rlilsamens @ﬁ@m@é;@tb ﬁ,r_u_sirr 2 GLUIZ).

(1) woHmbd (11) sfwurearene (B) (i) wpmib (iii) sflureree

(1) womid (i1i) sfwrearema (D) () wLEwL sflwurearg

ev Qg Mweidene

The biological oxygen demand is ‘the amount of dissolved oxygen

e

required by in water.
Microbes - (B) Plants
(C) Animals (D) Seav_veeds ‘
(E) Answer not known ._
2 WirGauueller ysallger Camaeu ararLigl, Bild ' ums&furqueh
Curg BSTULOILD YSeSlRET BH6Ta] 3 ELD.
(A) memayui | (B) Qsgser
(C) Neomgser D) s_bpurdlaer
(E) oL Osfluaidma

7 ~ CCSEI-IAP25
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8. Which of the following is the first Indian Geo—StatiQI{ary Satellite?
INSAT 3D (B) LANDSAT 8 |
(C) TKONOS1 (D) QUICK BIRD
(E) Answer not known | _
\Qesreu(peuareubbled erg apse @pHur Lellet QewnhenssCaTer?
(A) INSAT 3D e (B) LANDSAT 8
(C) IKONOS1 (D) QUICK BIRD
(E) &ler Qgflweiédena _ S

9. Who among the following tribes act as cattle keepers?
(A) Dhimor (B) Kewats
Rawats | (D) Bhils
(E) Answer not known . _ :
\Semeumid Lipri@iquileried Wi SrpenL. LgmofuureTiserTs QeweuHHTTEET ?
(A) B (B) Gseum’ v '
(C) peurieiv _ (D) eveiv
(E) ofer Qsflueiicen '

10. Assertion [A] : Development of a nation depends on
| infrastructure facilities.
Reason [R] . Transport and communication are the back bone

| of economic development.
\,@({ [A] and [R] is true and [R] is correct explanation for [A]
(B) [A] is true but [R] is false "
(© [A], [R] is true but [R] is not the correct explanation of [A]
(D) Both [A] and [R] are not correct
(E) Answer not known %
ampm [A] - priiger eueniFsl o sl Lenliy cuslenwE Fnbsgl.
smyentd [R] @ GursGaurss  LHMID - Qgreve@griy, Cur@GETTSTY
auarrEdludlen 1pgCsa@IbLTELD. ' '
A)  [A] wpgio [R] #ACGw, [R] ssrar Blsé eflwimar Aerssid [A] @p@id.
B) [A] &fl yerme [R] seumi -
© [A] [R] sACGW, wparme [R] [Alssrer sflwner eflerésinche
D) [A] wppid [R] @renGid seup
(E) ofen Qsflwelldrene

CCSEL-IAP25 8 ; | R,



11. Match the following type :

Match correctly the river and its places of rises.

(a) The Krishna

(b) The Alaknanda

(c) The Gandak
(d) The Brahmaputra

(A)
(B)
©

D)

(E)

(a)

3

o

9
4

- Answer not known

2
4
1
1

. (C)

4
2
3
2

.~ W =

(D)

Deraumd aleamull QUTHSS-

Garwal Tibet border
Central Himalayas
Tibet

Sahyadris

o o ¥ P

THIS QUESTION AND AMSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FINAL DECISION

g8 GCaerall MM aflenL @midl (pig allm &S

SUGLEV| BT (GH(Lpel6lT (LD sMEUSHLILIL. 2 6IT6TE)|.

<M LHMID Sig) &@surr@mfer@m_gi_ggﬁlmm sflwune QUTmSS! :

@ e
(b) ém)éis‘r_s‘rbgrr
(c) aman s
(@ Qbwug
@ O ©
A 3 2 4
B 1 4 2
© 2 1 3
D) 4 1 2
(E) ol Gzflwieiidvena

(d)

G R o

1. amieurd HOug erédame

2.  wsHw @ouwioene

3. #£Qus

4. gwirgiflev

9 CCSEI-IAP25
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12. Arraﬁge the following events in chronological order.

@) Ahemadabad Mill Strike |

| (i) Champaran satgragfaha
(iii) Kheda Satyagraha
(iv) Rowlatt Satyagraha

VS G, 6), i), (V)
B) (@v), (i), (), @)
©) @), G, Gid), Gv)
) (i), G), @), @)

- (E) Answer not known

HTQ @ﬂm&ﬂuq 2D EGS.

() sigpwsruns 86 Camm ApEsd
(1) swbumyer &{&,ﬁu_tmﬁlyas;.b.

(it) Gssr ssHurdysd

(iv) Qreter ssHwurdysn

@) G, @), G, Gv)

®)  Gv), G, @), 6)

© 6, G, i), @)

) (G, (), 6), @)

E) e Aslucoma

CCSEI-IAP25 10



13. How did education contribute to the Indian Renaissance? (
@ Contributeci Grow;ch of Moﬁey
) Promoling et T
(iii)' Promoted social and cultural progress
(A) @ only "5 |

| vng (i) and (iii) only

(C) (i1) only
D) @ and (ii1) only

(E) Answer not known

Qpdlw Logjmsur'réé'!éé@és sevalilulen u@gaﬂuq.é@mm &gsﬁ] Qewigg) ?
'.(i) Qam auarii&Slepw @a;r@g,g,gﬂ

1) ofelwued oble) aueaiséssns

(iii) sapst LaTLTE WaCabdd GHLIL L g)

@) ) wepw

(B) (i) whHmid (i.ii) LD

(C) (i) wr @b
O 6 wppo ) oo

(E) &levr Qzflwelidane

B 1 CCSELIAP25
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14. Match the following :

(a) Peshwa

(b) Amatya

() Sachiva

(d) Sumant
@ @ ©
@A 1 2 3
B) 1 4 2
e 2 3 4
™ 3 2 1

(E) Answer not known

a0 N

@

o= W

- Foreign Secretary

Chief Minister
Finance Minister

Superintendent

Qereumeuaeapenmll QUTBHSSIS :

(a) Gueizeur
(b) <= uﬁr@,ﬂmr‘r
(¢) s&four

(d) &wps

@ 0 ©
@a 1 2
B 1 4
© 2 3

9

3

2

4

D) 3 d

K

2.

3._

(d)

= = W

(E) &fer Qsfluciome

CCSEIL-IAP25
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15. Choose the right matches among tsrpe : |
(@) ‘Indian World’ _J ournal 1 | J.S. Buckingham
(b) ‘Telegraph’ Journal A Charles MacLean
() ‘Bengal Kirkarw' Journal ~ 3.  Mekenly |

(d) ‘Calcutta’ Journall ; 4. . Duane

@ ® © @

VB 4 3 2 1
B 2 3 1 4
© 3 1 4 2
) 1 4 2 3

(E) Answer not known

sflwner eflen_amwis QuTBSSIS :

(@) ‘@bdu 2 wsb’ Qsid 1. Ceg.erelv. LEHRISTID
(b) ‘QLadfpmy’ @sip 2, Frirae QoéeSer
(¢) ‘Qumusred dissrm @sb 3. @&sered

(d) ‘asd)asﬁg,rr’ Bsp 3 4, I Ly GUITGHT -

@ ®d @© (@

A 4 3 2 1
@ 2 '8 1 4
© 3 1 4 2
@ 1 4  2- .8

(B) &en ngﬂmaﬁ]d}mm

B 13 - CCSEL-IAP25
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16. Reason and Assertion type :

Assertion [A] : Cmema was becommg popular in 1940’s.
Reason [R] . Anna could achieve hlS ideals through Cinema
Artists.

@A)
v

©)
D)

(E)

[A] is true but [R] is false |
Both [A] and [R] are true; and [R] is the ;:orre'ct explanation |
of [A] N,

[A] is fhlsel but [R] is true
Both [A] and [R] are true, but [R] is not the correct explanation
of [A] | |

Answer not known

STFenTd WHNID sbhH s :

spm [A] 1940 sefled Aaflor Gru@wns QGESS!-

smyaord [R] @ Saflon soeEiser (pon SjamaT S Qe Sunisemer

@
®

©)

®)

(E)

SOLWU PSSl
[A] &M e [R] seum

[A] wppd [R] @rer@nd &rﬁ, Guaub [R] erarug [A] &g sfwmer

- eller&EHLmEGLD

[A] saumy gpemed [R] &l
[A]lb [R]b &fl, <permed [R] erarug [A] &g sflwmer eaTESLOOE |

sl Qsfwaidena

CCSELIAP25 P I . | B



17.

18.

Which one of the following is correctly matched?

(A) Champaran Agitation —  Bal Gangadhar Tilak
V(Ef Ghadar Party — Lala Hardayal

(C) Ganapathy Festival , = Annie Besant

(D) Home Rule Movement - Gandhiji

(E) Answer not khown‘

SPs@T_uDmIeT ebss s sfwmesL GQurmgsrL Harearg ?

(A)  sbugrer Herired | - LITe) SRSTS) Hasit

(B) &Si1é &8 ; - GITEIT QUDTGWIMET
(O) seud Lamgems - o e Qusar
(D) saem A @ussd - &bEled)

(E)  efer Gpflwelidema

In Tuticorin, Tamil Nadu, Subramaniya Siva Campalgned for strike
in 1908.

(A) March — April (B) January — February

| M February — March | (D) April - May

(E) Answer not known

1908 b yar® asndgoeiiu  Heur gi_ﬁ]lc.p,r_r,rru:}@mm gng,gja;@quﬁld)
Cumym L gfp@ Gr&enyd Qedigm.

(A) omirE - s,rz_‘nys'u | (B) gereuf — GQueuf

(C) IQUI}G}Jrﬂ — LDMIT& (D) gugé — G
- (B) deL Gsfudoms

15 CCSEI-IAP25
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19. Which of the following statements are true?

®
(i1)

(iii)
A)
B)
©)

N1

()

The National population policy, was promulgated in April
1976. ' : '

Included provisions for health care, nutrition and more stress
on Education for girls.
The goal was an eventual average family size of two children.

(1) only cdrrect

(i) and (ii) only correct
(i1) and (iii) only correc.t
(@), (ii) and (iii) correct

Answer not known

. Qeeumd Msamasate g gs&ur@mu.:rreﬁg?

@)
(i)
(iii)

@A)
(B)
©)
D)
(E)

1976 erriyedled Casflw D& SET Qzrenss Qarerens
IQU'SEL_GBTI'JLJ@-‘S'QSD UL gl. '

@8 FaTSTID, sal L sEsg WwHHID ClLiaT Gubassaier aweléEE SiHs
WwesHuggieid ieN&EsSpg.

@sar @ose @nuie Greard @@E@gﬁmm$ Qarer gymafl @HbU
sierouns @OGHSS:

(1) w b &

1) whgb (11) wi b &

(ii) whmibd (iil) w o &l

@), (ii) womb (iii) &f

Aen Qzflwsildane

CCSELIAP25 16 B



20. Who founded the Satya Shodak Samaj in 1873?
\kﬂr Jyoti Rao Phule

21.

(B)
©)
D)
(E)

Sri Narayana Guru
Pandita Ramabai

Dayananda Saraswati

Answer not known

g5 Gangs swngy-q 1873 Qo Compmielgseur wimi?

(A)
(B)
©)

- O
®

(Sgrrg‘,] greu LyGe

uf prymua @
us&m«;__g, JLomLIm
SUNanhg sreveud
efiten_ QgMweldame

Which among the followmg was the ﬁrst Christian Ashram
estabhshed in South?

- (A) C.F. Ashram at Pachalur
b(;Bf Christukula Ashram at Tiruppatur
(C) Zion Prayer Center at Madurai
(D) Dyana Ashram at Chennai
(E) Answer not known |
&lfpa;rrmusurm,mgm eTE Ggm@ u@ﬁuﬁ?m Bpeuiu L fflevgien @emwornfer
WD %eﬂ U’LDLD ?
A) eﬂ.c;ru. <o, LegrT
B)  Afevgigo Ao, @@D'L:ggﬂr'r
(C)  ACuwrer Gymgsemar ewwib, LDGIGOIT
(D)  Hurerm Ao, Qeereanar
(E)

eflenL. QzMwieldena

17 CCSEI-IAP25
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99 The Talaikota Battle was also called as [

(A)  Toppur Battle
 # Rakahasi - Tangadi Battle
(C) Battle of Rajagambira Rajyam
(D) Battle of Kannanur Kuppam
(E) Answer not known

g,smmés@&rer; Guimir : GraTmid SMPSESILOEDS!-
(A) Gy Gumi |

(B) grsanmé — guatg Gumt |

(C) pmgsbiy priuib Gurrr

(D) serargni @iub Gum

(E) ofer Qzflwelicdbana

23. Shivaji was crowned as an independent king at

\,@{) - Raigad

(B) Surat
(C) Ahmedabad
(D) Poona

(E) Answer not known

foune) &sbHET SITFINS Wly @ LIl L @)D

I (A) JTSTL

B) e
(C) sianwzrung
D) ya

(B) e Gsflwefdoame

CCSELIAP25 18



24.

25.

In the Indus Valley cwlhzatlon the ma]or commodities in Internal
trade consist of P

(1)
()
(3)
(4)
(A)

(E)

8bgl

Cotton
Lumber
Grain and food stuffs
Livestock _
(1), (2), (3) only correct B) (1), (2), (4) only correct
(1), (2), (8), (4) correct : (D) (1), (4) only correct
Answer not known '
guleaell prafssfed  wsHwu @;rg)gjmg‘,] GurGLrsemms o dupm’_ @)

auranilLgSed &(HsLILIG eI

ey
@)
(3)
(4)
A)

<€)

(E)

LI(GSS)

LD _
2 ewre greflwikiser

SIOBENL ST | :
(1), (2), (3) wrEw &  (B) (1), @), @) weEb s
(1), @), 3), (4) sA D) (1), (4) wrEw &M

elen_ QgMweldeney .

Which is/are the aims of a sound “Theosophical Some’cy”‘? |

i)
(ii)
(111)
A)

ey

(E)

Believes in Karma, Yoga and Indian Philosophy.

Universal spiritual brotherhood.

To protect the society from evil practices. _
(1) only correct (B) (ii) and (iii) only correct
(i) and (ii) only correct (D) (i1) only correct

Answer not known '

Mybwesrer seuuler Crrésd wing ?

@)
(1)
(iii)
A)
()
(E)

siom, Guram, @bAwg sdgleusglan g po9sms

2 asermeilu gy enls sCargrsgieud

Su poLpepseilaBhg sWsTLSMSL] UITGISTLILIg).

(1) @b & (B) (ii) womib (iil) wr G &f
(i) wppid (1) weGid &f (D) (i) wrEw ef -

Ao Qsflucidme -

19 | CCSEI-IAP25
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96. Assertion [A] : The zonal councils owe their origin to the
constitution.

Reason [R] - The zonal _cbuncﬂs are the logical outcome of the
reor_ga'nisation of states on a linguistic basis.

(A) [A] and [R] are correct; and [R] is the correct explanation
for [A] '
(B) [A] and [R] are correct; and [R] is not the correct explanation
for [A] '
- (C) [A]is correct; [R] is wrong
\}Ef [A] is wrong; [R] is correct
(E)

Answer not known

apm [Al . pame  wepmssr - sepdar  CeTHPSHNEG
erflueaniidh@s sl HieTarg.

. gmpeerd [R] ¢ DERTLG LOGTDRIGET Qo @igliueLudd wrElokismar
| - pp&rewliugen siés félurer eflenemeum@b.
(A [A] wpm [R] &, wppio [A] &6 [R] sfunar eferésib
(B) [A] wpmb [R] &, wpmid [A] & [R] eflunar eflerésioae
(C) * [A] #f; e [R] sumi
D) [A] seup; pemma [R] &
(E) ofer Qsflucidvme

97,  Sexual Harassment of Women at Workplace Act was enacted 1n the
year |

2013 ' (B) 2017
(C) 2014 (D) 2016
(E) Answer not known

umﬂuﬁ]u&asaﬂeb QueTsEH&E un_aﬂ@@ gleaLmsgse (shUY oHmILD
sULSSOHLIY, ST gL i) S@LELLD @Quipprini’ L e

A) 2013 (B) 2017
© 2014 D) 2016
(E) o Qgflwieierene

CCSEI-IAP25 20 | B



28. Arrang.e the following events in chronological ordér.
1. Golaknath v/s State of Punjab
2. Kgshvananda Bharati v/s State of Kerala
3. Minerva Mills Ltd. v/s State.of India

4. AK Gopalan v/s State of Madras

@A) 1,23, 4
B) 3,4,1,2
ue)’ 4,1,2,3
D 1,324

(E) Answer not known

Spsam_aupep srepanlitg aflesiudsss.
1. Gsrespns v/s Ligpenti wmbleid

2. Gés&ajrrm‘[rgg, umydl v/s Gayarm LnrrﬁeuLb

3. erfeur Weéev bl /s @ibHu iye

4. AK. Gasrureer v/s waimen s

A 1,234
B) 3,4,1,2
© 4,1,2'83
D 1,324

(E) oflen Qsfueicena

B 21 ' CCSEL-IAP25
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29. Match correctly with the Suitable Act.

(a)
(b)

©
(d)

A 2 1
®) 1 4 3
4

el 3

M 1 2 3

I%wmﬁmﬂkmmmnAmGTAHnmma

The National Emergencies Act was

signed into law by President Gerald Ford on

The Indo-Pakistan war

Conservation of Foreign Exchange and

" Prevention of Smuggling Activities Act

@ ® ©© O
4

1

O S

(E) Answer not known

sflwurer euflengenid (Sg,r'r‘r_'r;@g@ésa%.

(@)
(o)

(©)
(d)

Q) 2 1 4
B 1 4 3
© 3 4 1
D) 1 2 .3

@QpHu SO STEID FLLLD

G,e_r,au_l seusrsTe FLsEHE Qgyror SHGumi@
sQuIpSS L e[

@pCsr—urdlevgmer Gui

@a.laﬂ;r_r;m'__(@ ufleufggeman LTSISTLIL OHHILD

S50 Qewour@sd sHi sLLD

@ ®» © @

> b b W

- (BE) afev_ Osflueiicoene

CCSEI-IAP25 '_ 22
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30. Consider the folloWing Statements, Choose the correct answer -
(i) January 30t is the Death anniversary of Annal Gandhi Adigal

(i) January 23' is the Birth Anniversary of Netaji Subash
Chandra Bose

(iif) April 14t is the Birth Anniversary of Annal Ambedkar

(iv) October 13th ig the Birth Anﬁiversary of Sardar Vallabhai Patel
(A). (i) and (ii) only correct | .
(B) (iv) only correct
_ ©) (ai) .only- correct
VB (D), (i), i) only correct

(E) Answer not known

EEETL eumdd Ltisamar &[5&15, sflurar allen_mwu Caib0s@&s.

@)  memaufl wisb 30 b G wi@rad sThSLigseflen bapbs HarorEwb

(i1) gsmsurﬂl gl 23 oyb mreT (S‘r_r)grrgé] GLImel &5ﬁgﬁunduérﬁlsh IHS
dlaromELb

(1) euire wrsbd 14 =yib -,r_r)rrs'n 9| GHITEmTED amcuga;ﬁis'm 9bg SetomEd

(v) sirgmit eubeoumi LG Gpps Hard EGLTUT 13 <D

Q) () wpmid (i) wr o &

B) (iv) wr.Gw sf

(®)) (iii) o G &

O) (), Gi), i) weEo of

(E) e Gsflweidana

B ' 23 | CCSEI-IAP25
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31. Consider the Assertion (A) and Reason (R) and choose the correct

answer.

Assertion [A]

Reason [R]

A remarkable difference between China and India
was observed regardmg mass politics around air
pollution control.

China employing the approach of Historical
Institutionalism to control air pollution.

' \/A Both [A] and [R] are correct statement [R] is the correct
explanatlon of [A]

(B) Both [A] and [R] are correct; [R] is not the correct explanation

of [A]

(C) [A]is correct; But [R] is false
(D) [R]is correct; But [A] is false
(E) -~ Answer not known

Speusd ampm [A] D SmyeTD [R] efameneu smgis. sflurar efla e

Caib s [H&s.

spm [A]

sryanrd [R]

sThOH  OTELTL L sLQUUBSssed SamellhGLD

'@Eﬁwaﬁlm@m @er_Gu B(HESD Wasr@uiflw

CaumUTLTETg!,  ASHET GPbHmEssmgw  GeuEGgar
STAWLOMEGLD creTms STawt Wi Slngl.

a;rr,mg)j LDT&ENEL 5L®uu®g,@m§m Sarr cuyerhHm Hlmieuer
2GS @mmc«mm ummu@ggm@gun@m

A) [A] Le,r_f@n.b [R] ererrp @reior® snpmid &fl; [R] ererruig [A] &@ emumer

eNaTESHLOMEGLD

(B) [A] wpmd [R] erémp @ry@m@m afM; [R] erebrigy [A] & EﬂUJWGbT-

-e9leT& &L

(C) [A] ererugy &fl; [R] GTETLIG SeUml

D) [R] ererug af; [A] erarug) seupi

(B) ealer Qsflweldene

CCSEI-IAP25



32.

Whiéh of the following are the objectives of Tamilnadu safe and
Ethical Artificial Intelligence Policy, 20207

(i) To establish guidelines for the evaluation of Al systems before
its rolled out for public use '

(i) To provide restricted access to open data, data models and
computing resources

(iii) To promote investments in AIR & D in Tamilnadu

(A) (1) only

\’(Br (1) and (ii1) only

(C) (i) and (ii) only

D) (i) and (iii) only

(E) Answer not known

SpaumeuareudpieT eTever HBPHTH LTSTILTET HmID Apdapemn Qeuhams
Bamandle s Gamarens, 2020 Ger Cpréshise <yGn? -
() Qurgwsseller LweaLM KHE @0HiusHE e  Qeubhes

Beamdle] (pepsamens dparmie; Qi eufsm @ QB penpsamar
aUG&s Geua(hd

(1) QeefliueLwrer sraiser, &7e| wrflser  wHDD  Gearwes
BSMIRIGE@HEE UMTWNISSUILIL L SIGIDFMILI CULPEIGSE :

(1i1) slppriged Qouhes QJGMTGGHT@GL] <rmi&s wHmb Cubumriyherer
WPs[HEmar rrrrg,g,su

@) @ o e

B () wpgd (i) wr G
©) @) wppw (i) we o
D) (i) wpmd ({ii) wrEn
(E) e Qsfueidame

25 ' CCSEI-IAP25
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33. Which is/are the objective/s of a Right to Information Act 20057

(i) RTI is empower to citizens, promote transparency and
accountability in the working of Govt.

(i) The Act is a big step towards making the citizens informed
about the activities of Govt.

(iii) This Act provides right to access information from public
authorities, which is guaranteed Art. 13 of constitution.

(A) - @) only _ (B) (ii) and (iii) only

Vgaf (i) and (ii) only (D) (@) and (iii) only
(E) Answer not known |

QeraueuareupmeT saeud ABlub 2 famos FLLb 2005 @er Crréstisamer
Qsfle) Q&wis. ' : : :
Q) @8 GuossEsg dsrrd 6lisso, ofler  Qewdumiged
QauefliliLenL & Semepid LOHMILD QuTILILjeRTTenG 2ar&@GelliLg G-
(i) wirfler Qeudurpsdr GOISS GosSEHES QAsAwuriuGsgieug!.
(iil) @8 <ysewwrndar e gty 13-6r & o pAwelEsiLl L GloésErsS,
Qurg sParisallmbg SH6I0S@ET Qumibd o Meperws SieN&ESDSI.
A) @) wrEb (B) (ii) wpgid (iii) wr @b
© @ oppo ) won D) () wppid (i) wi Gid
(E) &l @g,ﬂmaﬂsbméu

34. Which among the following was the first state in India to constitute
an institution of Lok Ayukta?

(A) Karnataka (B) Kerala
\(©&y~ Maharashtra | (D) Rajasthan
(E) Answer not known

@pdwureld Cors gpussrean Bmeilu s rbleod ergl?
(A siprisT , (B) Gsyerr

(C) wanyTeEggTT D) @yrgevsmer
(E) oo Qgsfwaciicoened '

CCSEI-IAP25 26 | | |3



35. Which of the following statements are true about Election
Commission of India?

(i) Conduct elections to parliament, State Leglslatures and to the
office of President and the Vice-President

(1) India’s First Woman Chief FElection Commissioner
| Ms. V.S. Ramadevi .

(i11) India’s first Chief Election Commissioner Mr. S.P. Sen Varma

(A) () only

By (i and i) only
VK (i) and (i) only

D) . (i) and (iii) only

(E) Answer not known

IQG&IQJ@QJWGUQQJ&T @pdu Caiiged ayemammub GDSg sflunearens erpgis.
(1) ungTEsLETLD, FlLLGureeuser LHYID Gl WSS Fapaeuit, Fleer

Glwrs sl LACuTs g Caighsdr HLEsag).

(i) @pdwureler wsed Quenm s Caiiged eyt Smnd. e9.erav.
TorGsedl g euri.

(i) @pdHurefer e g,(«ma)mm Gg,rrg,su gpevenriit . erev.9. Qe aufom
yaurt.

@ Gocps

B) @) wogpid (i) v @i

© () wop (i) we G

D) (D) wpgid (i) wr Eb

123 QT R T,

B - 27 | 'CCSEI-IAP25
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36. - Match :

(a) Article 257(A)
(b) Article 131
(¢) Article 245(1)
(d) Article 275

ay ® @ @

5

3 4 1
B) 2 1 5 3
© 1 2 3 4
D) 2 5 1 3

(E) Answer not known

QUITBSSIS.

(8) srpm 257(A)
(b) syse 131
(© sz 245(1)
(d) sysg 275

@ ® @ @

A) 5 3 4 1
(B) 2 1 5 3
C) 1 2 3 4
D) 2 5 1 -8

(E) oo Qasflueiidame

CCSEI-IAP25 | 28
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gt = B e

Grants-in-aid
Judicial proceedings
Supreme Court
State Jurisdiction

49nd Amendment Act

wraflu 2 g6l -
Bhssiemm pLelgE@EHET
o &5 BSloernid

mble S &Ty by

42°8 §mEes LD



37.

38.

Choose the correct matches from the following.

() Fourth Finance Commission —  A.K. Chanda
(i) Tenth Finance Commission  — Shri K.C. Pant
(111) Sixth Finance Commission - Dr. Rajamannar
(iv) Ninth Finance Commission - Shri N.K.P. Salve
(A) (@) and (iii) are correct \,(fﬁ (i1) and (iv) are correct
(C) (i) and (iii) are correct (D) (), (ii) and (iv) are correct

(E) Answer not known

gllurer @earew Csieay Qaiis.

(1) premsmd HH e — e:r.@.a;.. FhST

(1) ugsmd A G = am. Cs.8. Lps

(111) ombd B @0 - LT&LIr. ggy wémamir
(1v) géarugmbd B8 @ | | — . eranr.Cs.19. sredGou
(A) (@) wpgid (iii) &M (B) (1) wpgind (iv) &

(©€) (@) wpgiw (i) & D) O, @), (v) s

(E) oer Qsflueidee

The Financial Position of the Panchayat 18 revelwed under
VA Article 243-1 (B) Article 243-E
(C)  Article 243-B (D) Article 243-C

(E) Answer not known

samiSlsefler HF Bleavawmwsmer Ermie; Qi 2 Flsmyid (@‘r_r)g, S| rFlwed
grgar eflflufler &ip G&muuu@aﬂmgﬂ

(A)  @rflud srear 94 243-1 (B) <iwdwe sreen g 243-E
(O <wdwe sreear a4 243-B ‘(D) sirflue srear oild 243-C
(B) e Gasfweddena

29 CCSEI-IAP25
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39. Which of the following statements are true about the qualifications
for membership of the state legislat'ure?

(i) 25 years of age in the case of Legislative Assembly

(ii) 30 years of age in the case of Legislative Council

(iii) Possesses such other qualifications as may not be prescribed by
law passed by parliament

(A) (@) only \,03{ (i) and (ii) only

(C) (i) and (iii) only (D) (ii) and (iii) only

(E) Answer not known _

omhle &L L6 &le'JLS]@Tfr sEdser @Dss Hearalpd gapmisafled 6rgl

2_GrenLo ? _

1) 25 awg BrbGweniser FL CUIMaISE HGS WTaTaUT&HET

(i) 30 auwg HrdGwenrser sl CoamaiseE SGHunareisHar

(iii) unyrepwepn HapGauphlu FlLS5Te GPudLiuLTs Gp s&Hsmer
Quipdl(més GeusTHIDd .

@) Quigs B) () wppi> @) e G

(C) (@) whHmb (iii) wr @b (D) (ii) wpmb (1ii) wHib

(E) e Gsflweideme |

' 40. The Madras Legislative Council was formed by the

(A) Government of India Act of 1919
(B) Government of India Act of 1935
Indian Councils Act of 1861

(D) Government of India Act of 1858
(E) Answer not known
'G]&ais_rénsm wrasTe L1 Guyemel FU LU 2 (HEUTESILL LS.
(A) @‘r_r)ﬁu_s ors L 1919
(B) @pdu =igs sLb 1935
(C) @pdu seyensled gL 1d 1861
(D) | @pﬁu <yje s 1858
(E) e&ler Qsflwserene

CCSEI-IAP25 . 30 B



41.

42.

A 2,38,1,4 (B)

Arrange the following stages in the enactment_ of | Budget in
Ascending order . :
1. Voting on Demand for grants
2. Passing of Finance bill
3. Passing of Appropriation bill
4. Scrutiny by departmental committees
A) 2,381,4 B 1,2,4,3
2

Ve 41,32 - D) 3, 1,4,

(E) Answer not known

Spssrgmd  euje-Qswe; AU LsHayew Quppeler Havwsmar ey
auflenslilg. @UEIEGLLHSSIS. _ -

L. wreflus Canflsms Bsrer aura@a@ iy

2. . B8 wGsrgr HenpCeumbmid

3. Hf 981686 wGsrsr HeapGaupmid

4. gopsdr Gussellear ey

1, 3
©) 4,1,3,2 . D) 3,1,4,2
(E) e Qsfwcdrene

Consider the following statements about the Electoral College of
Presidential Election, which among the following statements is
correct? '

(A) . The nominated member of Lok Sabha
(B) , The nominated member of Legislative Councils of States
) The Elected members of both Houses of Parliament and

elected members the State Legislature and Union Territories

(D) The nominated member of House of states

(E) Answer not known

lereu (e ereu Hy e GG WrEHS SHEVEL (Th& 8 TET “eurds e GLpmb”

Gfigsaipgier eflwureans g2

(A) wésarencus uJLISIéSI&SDu@Lb winerr e_miLi e

S ol

B) s Cueamass Hubssiu@n Blwioer 2 minleri

(€C)  wsserewes wHDID LIROEST@aESE Caisd apaid CaibRasBHEs T L
2 mueriseT wpmid wrHle  wHmILD wenwer  rGCsamisEnd:e@s

CaipAs®asiur L & L werp o miciSeniaer
D)  wrflensamass Hulssiu@En Hluwear o mridert

(E) eflenL CgsAwelerene

31 CCSEI-IAP25
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43.

Assertion [A] : Article 51-A does not expressly cast any
funddmehtal duty on the state.
Reason [R] :  The duty of every citizen of India is the collective
duty of the state. I
(A) [A]is true but [R] is false
V?H{ Both [A] and [R] are true; and [R] is the correct explanation
of [A] -
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not. the correct explanation
of [A] | |
(E) Answer not known
FaH) [A] e gy 51-A gyeig QeauaflriLenLwins cswr,ré@@ Slig LILIGHL
sLawsmer odHssaldame. '
 gngewid [R] @ @uoésEr IQaUTHAUMHEEPETET SLeLDaa6r @gn@a@u.
- orflen HLELSATTGLD.
A) [A] smpp & ame [R] smyesrd seup
(B) [A] spn wpgw [R] smyers Grar@o &fl; whpid [A] sppissTar
[R] smyewrid &M : '
©) [A] spps soup. [R] smyewmid &
D) [A] smpp wdpe> [R] smam> Granpd of, seme [A] mppssrer
- [R] smyeard geum -'
(E) ofen Gg,rﬂmeﬁ@meu

CCSEL-IAP25 82 | B



- 44.  Which of the following articles on Fundamental Rights is incorrectly

Definition of State

Right to Education

Power of the Parliament to modify the rights

Legislation to give effect to the provisions of

the fundamental rights

paired?
1.  Article 12 —
'_ 2. Article21 -
3.  Article34 -
4 Articde35 -
(A) 1and4only
© (B) 1and2only
' V@f 2 and 8 only
- (D) 3and4only
(E) Answer not known

Spsasar SlgliueL 2 fMenwsdr Qem_iurar erFaioliL eflfls@ner eflwrst
CurmssiLLTE Qe 6rg)?

1.
2.
3.

A

(B)
©

D)

(E)

sirs@wii off 12

2iFeanwliy efld 21

| Sigeaoli 698 34

<@irsewoliL el 35

1 whHmib 4 b @Gib
1 wpmd 2 v Gib
2 whmibd 3 Lof_®Lb
3 whmib 4 i Hib

el Ggflweiidana

=i78le auenyLienm

&ed o Menip

SlgtiueL o fawsafled wmpmid Qeuiuyb
BrLm@petmddlen 2 Mapio

Sigliue 2 fenwser o drer wjbsrisamar
Qewoupss sl L Bupnd

33 - CCSEI-IAP25
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45.

46.

The word “union” is the “Union of States” in our Constitution was
inspired by the

Canadian Constitution (B) England Constitution
(C) Irish Constitution (D) U.S. Constitution
(E) Answer not known

‘orflemsalla @embluin’ eremD QempQ@prfeé GLibEubpieTer ‘eTHlwiLd’ erenD

Qemed [BITL_lg G ordluaenld@bg Thosrer QubmieTeTg.
(A)  ser_m orfluee@Li ' (B) @rdlebg iyflueaiouly
(C) wierbg SirdlueeLL (D) =Quwfss rflueenl

(E) e&er Qsfilweidena

Choose the right matches : _
1.  Power of High Courts to issue certain writs — Article 226

9 Transfer of certain cases to High Court | — Article 178
'3 Establishment of a common High Court — Article 231
for two (or) more states : .
4.  Extension of jurisdiction of High Courts to — Article 320
Union Territories
(A)" 1and 2 only (B) 2 and 4 only
1 and 3 only : (D) 4 only

(E) Answer not known | _
Qum(mgzLomer GCRTgsamaT Gsire) C&is :

L o wir Hélwempraisatler @D ,rEQ%l Quireaasamers — old 226
oL@ SIgsTrD -

2. GO L aupsGsaer o wirbHwemsSbE& Lnrrg)gug,a) ~ g 178

3. @uen( Aoz AHs LOMbleoralEs @& - - e 231
Glurgieimen o WITBSLOGTDID eSS ' :

4. s wigdoamhseiea HHsTTL LFLOL @aﬂpﬁ]u_iu ~ &g 320
LEHEEnsE olfeunssh Ceugw

(A) 1 wpmid 2 G (B) 2 wpmd 4 wi G

(C) 1 wpmd 3 wLED (D) 4 wi @b

(E) ofer Qgfluaiicvena

CCSEI-IAP25 34 | B



' 47. Consider the following statements, and choose the correct answer :

@)
(1)
(iii)
(iv)
@)
v
(©)

(D)
(E)

The American Constitution was the first to begin with a
preamble. " - |

“Preamble” - to the Indian Constitution, resembles
“Independence of the United States” observes N.A. Palkhivala.

Justice M. Hidayatullah, called the preémble, as the Identity
Card of the Constitution.

A Republic Includes all public offices being opened to every
citizen without any discrimination. _.

(1) only correct

(1) and (iv) only correct |

(i1) and (iii) only correct

(1) and (iv) only correct

Answer not known

S esrL aa{,r_i)guésassmm &35, sfwrar ellenamw CaipbOs@H&s :

@

(i)

‘sl L6 gleumiflu sd FHumbLILE sLib Qs
STl OLILITELD. _

‘@I Drdweenorner (P&HE & TIITGITE) < @wAEs R&EW BB sefer
Fsebdrgams’ CuraGas Qnsdng’ erer 2 pm  Cprédweur

"N.A. uedeurenr DPEUITHT,

(111)

(iv)

(A)
(B)
(©
(D)
(E)

BAug M.  @suggder, wseawrurers QbHu  sipFmLIG6r
SIEDLITET BL_GDL GTET <HeNLPSSE AT | _

GlqW7s erarugen Qummar, @}mmggj Cumg IgieIEEISERHLD céismwggj
G EEEREGL  aeueils  UTGUIGIETD  DieaTeumEGLD o Mg
GTEITLIENG LD a_simn_eisé]u.lgrr@m. '

(1) wr @b &M

() wppi> (v) e @b &

(11) wpmib (iii) wr Ew &

(i) wpmpb (iv) G &

eflen Ggfueldama
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48. State Industries Promotion Corporation of Tamil Nadu (SIPCOT)

was established by Tamil Nadu Government for the development of 7
(i) Large Scale Industries | |
(ii) Medium Scale Industries
(iii) Small Scale Industries
\,@( (i) and (ii) only
B) Gonly
(C) (i) and (iii) only
(D) () and (iii) only
(E) Answer not known
‘e_r,uS]IE'Qg)rTG\ oys Qsmfe aGapns HPsD (SIPCOT) aerp <SiamivliL]

g,uS]:Eprrbrt@ Sigerd  SPSEETL Qg mdled cg{mmutﬁ]mw QUETTUILISHSTS

> (FEUTESLILILL &

() samss GsmbpsTame

(i) pOssTS CsTdETE@D
(i) fm CsmPe GsmPhsTeae
@) () wppid (i) G

(B) (1) wi@Eb

©) (i) wppid (ifi) weEw
(D) () wpgd (i) LG
(E) e Gsfluaddme
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49. The Scheme “Pradhan Mantri Janjatiya Unnat Gram Abhiyan”

focuses on

(i) Toimprove the socio-economic condition of tribal communities
(11) To.empower tribal women and promote gender equality

(iii) To provide high quality education for the tll'ib_al.chﬂdren

(&) @) only
(B) (i) only
(C) (iii) only
(D) (i) and (ii) only

THE EXPERT COMMITTEE FOR FINAL DECISION

@aGaerall wHmb allsmL. @mdl (1pig el &

6U6VEV| I (G (L0 6TIGH (L6 sMmEUGSLILIL 2 6IT6NE)|.

(E). Answer not known

Grprer  wpHA  gargrd efard Pumu  wsr sGurdr S sder

Crrésorerg

@) uggrm@qr spsmsaiian sups-Cunmarnsmy Heawew Gubupdsse

(1)  upmEy ;Gueﬁma@é;@ Siglemd oeflszsd womib unaﬁm_f_@(&,w‘g,
2a1é(&605H56 -

i) vphEs GpbmssEne 2 Lisy sdalauw mgéff’ﬂ@@@

@) @) o )

(B) (1) w @b

(C) (i) wr @b

D) ) wppud (i) e G-

(E) ofeni_ Qgrﬂ.u_raﬂei)smu '
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50. . From the following in the year 1962 in the wake of Chinese invasion
which Act was passed? o
@) -Anti-Secessibn Act
(i) Anti-Immigration Act
@(iii) Anti-Trafficking Act -
) only : (B) (i) and (ii) only
(C) (i) and (iii) only _ (D) (i) and (iii) only
(E) Answer not known _
Qemeumeuareupmer 1962 b <2}, &01 (B Sar) v QuEleu bS5
ReppGauhprititL FULLD 6|7 o
() AiAemaarss sELUUE sLLD
(i) ©9Cupps sOLIHE FLD
(i) sLESD FHUILF FLLID
A) (@) wEw | - B @) wpgio (i) LG
(C) (i) wpgd (i) wLGd D) () wogbd (i) Lo
(E) oo Qgflwaiicvene | | '

51. Assertion [A] : Social Justice basically does not deal with equal

' social opportunities.

Reason [R] . Social Justice is non-proportional to either social
' equality or social rights.

(A) [A]is true but [R] is false _

(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]

(C). [A] is false, [R] is true .

~ Both [A] and [R] are false
(E) Answer not known _ | _
apm [A] sops  BH  erarug) S liueLufd  sowTar  SIPS
' - QUTLILIL|BE6TS SLITETaUS 6.
smyenrd [R] : sops HBH eTarLg  FUPS s  DADRDG  FPS
> Menio&Enhé@ lSGTETTDDEI-

Q) [A] sfluneng), pemme [R] seumrang . '
B) [A] wppw [R] @ren@d sflurareme; [R] wyangi [A] fpsrern sifluimer
efleréasLb _ - '

(C) [A] seuprangl, [R] sfwrang
@) [A] wpgo [R] @rantid geiprarae.
(B). elerr Qsflwsierena
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52.

Assertion [A]

Reason [R]

The overall policy framework for the social sectors

in India is laid out by the Central Government.

The State governments - _-ha've considerable

flexibility in designing policies.

(A) Both [A] and [R] are trﬁe; and [R] is the correct .ex.planation

of [A]

\,(JET Both [A] and [R] are true; and [R] is not the correct

explanation of [A]
(C) Both [A] and [R] are not true
(D) [A] is true and [R] is false

(E) - Answer not known

snpy [A]

smyewd [R] :

Qodureiler  sapss  HI@psEEETET RLHOwrEs
Gsmetans s Ll s oiys QUEGSS D).

GareTerssamen eulqeuaninliLie wrble) oirs saflForer

QApdlipeis sereeniLs Q& et ereTe.

Q) wmpp [A] smrewmd [R] @uen@d> &fl; wppd smemb [R] gah()

[A] s&ner sfwimer efleréaLomegLh

B) @mpy [A] smrerd [R] Qe &f; wHmIDd sTrewTd [R] D)

[A] $sner sflwrar eferéswea

(C)  spp [A] sryemd [R] @ream@ib sflwurargda

D)  spy [A] 8M, sryesd [R] Feum)

(E) eeor @sfwueloeame
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53. Choose the right matches

@)

(ii)
(iii)

(iv)

(A)
(B)
- ©
)

(E)

The first communal order for
distribution of appointments
among various castes

First Backward class commission
of Tamilnadu was appointed

Ambasankar Commission

Report on Tamilnadu Backward
classes Commission justifying

“the existing reservation

(i) and (iv) only

(ii) and (iii) only
(i) and (ii) only |
(iii) and (iv) only
Answer not known

sfwrer Qurmssrsmen Gairay GalweD

() uaGamp srdularflen Gu Hluioar
LA feyssrear (pSH aUGLILGITS Qhenemt

() sUOPHTL 6T WPSD Qou@ssu G
Q@I pearb HlublésiurL gl

(i) sibuTERIST QyEE@TLID

(v) sHBurgierer G !@555&'_6&1_
Aumutin@ssu slppTe
HUESSLILLGLTT penamTul SIDG0S

@A) G) wppd (V) D

(B) (i) wpmud ({ii) v G

©) () wpgid () LLED

(D) (iii) whmbd (V) LD

(E) eflen G]g,uﬂmeﬁ]@wéu
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94. Match the following schemes with their respective beneficiaries

(€Y

(b)
(©)

(d)

Babu J agjivan Ram 1. Scheduled tribes
Chhatravas Yojana

Atal Vayo Abhyuday Yoj ana 2. | Minorities
Pradhan Mantri Jan 3. Scheduled castes
Vikas Karyakram Yojana

‘Pradhan Mantri Janjantiya 4. Senior citizens

- Vikas Mission

@ O © @

A) 3 1 4 2
B) 2 3 4 1
© 4 1 2 3

1

B3 4 2

(E)

Answer not known

Yemeuqpid &I 1L_risenar apgpg@ Ql;t_@asaﬂm LIWIGTTarT] &5(6rh L 6hr Qummsgis

(a)

o)
©

d
(A)

(B)
(©)

LML) SR&ERGUEH (D &5 TTeuTen j ulgwedlers uphkigig uderi
S b |

<@L auGuir HLiysCGs b - 2. Amiuirerenoulerir

Ygzo wpHM smer allsran 3. Ul wiellend smdaer
srirudlyn S b | |

Aysio wpAf geargranqur - 4, PSS (GlqLOSSHET

allsmev @uEsib

@ ® © @
3 1 4 2
2 3. 4 1
4 1= 2 3

1

M 3 4 2

(E)

aflenL QzMweldenea
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55. The Justice Party was established in the year 1916 by whom?
&S T.M. Nair and Thiyagaraya Chetty
(B) P.Rangaiah Naidu and P. Ananda Charlu
'(C) Chidamparam Pillai and Subramania Siva
(D) Jotirao Phule and Ram Mohan Roy
(E) Answer notknown
BHss 8 wrgred 1916 b el HpeuriucLgi?
(A) T.M. prwr wppibd Hursyru Gelig
(B) P.paswwur pry® wHpid P. opanbs sria
(C) Aswupd Gereer wppid sLidwenflu Seumr
(D) Ggrdgmeu wGa Hmid FrbGrEeT Fml
(E) oflenr Qsflueiicensy

56. Arrange the event in Chronological order

(1) South Indian liberal Federation was formed
(2) Madras United League was renamed as Madras Dravidian

Association :

(3) Periyar E.V.R. transformed the Justice Party into Dravidar
Kazhagam :

(4) The Ministry of A. Subbarayalu Reddiar fought against the
Swarajya Party

@ @@ 0O @), (1), @, O

©€) 1),,®,3 - D) (1), ), 3), (4

(E) Answer not known
Hspasmars sre auflensiily R(OEIS®DESELD
(1) Osaafpu srymeTeunss sl L el e HamEsULLLS

(2) Quigred wmen@Ll &, Qurgrev  SHymedlL it shsD  eTa
© bpQuuflau L g : ' '

3) Quilumi Fr.Qeu.gm. BossL SHeowd Symellir a;gpa;mrra; wmhblermi
(4) . sougTu QliqurT SEFFTEE FuTRWE s 8EE aHrrs

Cuimymigwig
A (@), ®),1),0) B) (2), (1), (4), (3)

© @),2),%),0 | D) (1), ), 3), 4)
(E) o GOsflusiidene : ‘
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57. The followmg statements are about the Tamil Nadu Government’s
initiatives : Find the correct statements. :

(a)

- (b)
(©)

(d)

A)

B
©)

(D)
(E)

Allocatlon of 5 crores to translate all the works of Annal
Ambedkar into Tamil through Tamil Development
Department g

10 crores for establishment of Tamil Parapurai Kazhagam

Allocation of 5 crore for creation of separate department of

Tamil Literature i in JNU, Delhi

30 lakhs ﬁnanc1al support for Theera Kaadhal Thirukural
Project _

(a) and (b) only -

(a) and (c) only

(a) and (d) only

(c) and (d) only

‘Answer not known

sUETR  @yfler  parpwpHser LHBIWL Gemeupd Sflsmasaiad e
shlwraTeney ?

(a)

(b)
(c)

(d)
A4)
(B)
©
(D)
(E)

Siemaed bCussTer Daarsgl Ll UiysmenyLb s eueTiéEds
gleop epaid sl Qumduwuiss 5 Camg 5680

SO LTS sRa&D Smwss 10 Camg @gss6
ClLeed geuanirewmd GCmem . usbassmma‘aaslepasgg]éo ) @d}éaé]mﬁ, safls

gperw 2 Haurss 5 Camg @560

Sym s15e Hmps@ner S s58pE 30 wi s Bduyge
(2) wppid (b) wr G
(a) wpmd (¢) wi@ib
(a) wpmib (d) wr @b
(¢) womid (d) wrEib
adlen Qg Mweldrena
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58.

“Over half of India’s GDP comes from rural India and almost two
thirds of rural GDP comes from non-farm activities. Despite this,

" there are too many people engaged in low productivity occupations,

and a lot more work of better, predictable nature is rieeded to enable
a better life for rural India’s inhabitants, especially the young’.

What can be inferred from the above statement about the economic
contribution of r_ura_l India to the overall GDP?

(A) Rural India contributes less than half of India’s GDP |

(B) Rural India contributes more than half of India’s GDP, but its
economy heavily depends on farm activities

(C) The GDP of rural India is solely driven by agricultural
activities ; : :

| v(ﬁ), Rural India contributes more than half of India’s GDP, and a

significant portion comes from non-farm activities
(E) Answer not known

@ndureien Gworgg 26mpTLf o pusd (GDP)-@é urdé@n Siflsomer
Lt Agroiyp @bSureid @mpba MGEADS WHDID Aymoviyp GDP g,
gné&G®mDw apeanple @yerhL uréJuS[;) eusmub oers Qsmdsafla®bs
QupLLESDE. @ty Grsmsuio, 2idls Siere WEHET GDDHS 2 HUSS
SpeenLw  Agmpldsarie FFHUL_(eTerert.  &molLD  DSSET, GSOIILTS
Qeerwn saaup@pUlaThEE Aphs euTDSMEMUI, Guul L Gsmiléosamar
Siafldsaide aImiliusser apb Garhiés Guaib. -

Gud QsrRsstiull sEphldlmbs, QLrss 2 BT 2 MHugdludled Symori

@pduredar QumBaTTST LikisefLILy &hlsg aenen eaflés (pigb?

A) @pdureienr Qurss 2amBT(H o pusHder LTHESD GeppeiTear

uiisefltieny SymoliLm @‘[ﬁgu_m QUL GSI D |

B) @pdHumeler Qurgs e @ETLE e pussuid urdé@d  Guemer
nEefleoL  Srmolup  @BAUT  QpRIGEDS  RETTD,  HSET
Qumrermgmyibd efleusmu BL_GU Q.56 &EENET éﬁu Gl FTHGIETETS|

(C) Agmotiyp  @bHwredlen  Gorss o eipT(® 2 pusd elleusTu
BLGUlq&aaESeTTe LOLHGEW QusstiuGEDS

(D) @pdwunefar Gorgs 26mBTL( o pugHie Aymolyp  @bHwr
um éSng GupurL uvrsaiou  epEEGHDS, Coaih @@

 EPLYILSSEs UGS LITenaT @S BLGIqs@&&aTdl(HHI! au(mS DS

(E) oflen Qzflweilebened
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59. Whlch of the following statements are true about “The Chief
' Minister’s Breakfast Scheme 7 /

(1) Ithas increased student attendance to high schools
(i) Primary school children benefit from the scheme

(1)) The scheme has led to improvement in learning skills among
children '

(iv) - The scheme is limited to government schools only

(A) (i) and (ii) only

‘}B)f (1) and (iii) only

(©) (i) and (iv) only

(D) (i) and (iv) only

(E) Answer not known

@gso@mwrﬂem srane é_emrrsug, QI_J_L[S ubhBlu  GDemeuqmid ahg)g;ja;a‘ﬂeu 6Tg)
Q_WI'GU)LD’?

@) ecwrblewn udaisdia LDTFGWTQJIT"G].I@G&&EGEUJ 2iflsfgg creng)

(i) Gsmssiiered Gimssd s Lsfd Lwiae Apmisdr

(1) @Bss S b GphmgsaieaLCGu spned Hnearsamar Gobubhss uererg
(iv) . @gg}gn_m SI7& Uetaflsafled ol {ib @am@u@gguu@\aﬁlm@

(A) (i) wogid (i) wGus

(B) (i) whps (i) wr @

(©) ) wppis (v) Qo

D) (i) wppo (v) oo Eo

(E) oo GsMweldene

B 45 ~ CCSELIAP25
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60. Match the four engines of development in the Budget 2025-2026 : .

(a) 1%t Engine 1. MSMEs
~ (b) 20 Engine 2
(c) 34 Engine 3. Agriculture
. K

(d) 4tk .-Engine

Export

Investment in people

@ ® © @

a3 1 2 4
B 3 1 - 4. B
© 4 2 3 1
3 2 4 1

(E) = Answer not known

2025-2026 HPufsmsde GOLAGarer praTG  GuUBHT uEEEET
QurBESIS. . '
(a) 1% Qupdd 1
b) 2% Qupsro 2. gppod
() 3% Qupdyd 3. efleusmud
(d) 4™ Qupdywd 4

MSMEs

& WwsshH

@ ® © O

A 3 2 4
® 3 1 4 2
©) 4 2 3 1
D 3 2 4 1

(E) e Qg,rﬂu_laﬁlebsmu.
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61,

Which of the following statement(s) are correct about “Tamil

Pudalvan” 'Scheme? /

Launched on October 2024,

@
(1) Improve the financial status of all male students studymg in
government school after school educatlon
(i11)) Monthly financial asmstance of Rs 1,000.
(A) (1) only
(B) (@) and (ii) only
WA€) (i) and (iii) only
(D) (@) and (iii) only
(E) Answer not known
Gaomwssiar ‘sl ygdeuar &Lib GO Sg& &r‘ﬂmrrsa QemhQor_eniy
Qsfley Qeuis.
@) =&Crur 2024-Ge G]g,nl_réjasﬁiui'_'l_gj.
(i)  werefiiLigLysEL IQ,LE;QUJ SIT&L LaTafl ramreuirset e Gmmuquqagg
Comaiirar H8 Heamwou CobuEsEADE.
(1) wns ,r_ﬂﬁu_;gaﬁ]urra; epumi 1,000 eupiisiiu@épg).
@) 6 wepo |
B) ) oppw (i) wr Ew
© (i) wppus (iii) e G
D) (@) wpgis (i) wr o
(B)  deor Gsflueidama
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-62. Why Business Firms choose Tamil Nadu as their preferred

63.

destination for investment?

M The State of the Art Infrasti'ucturé
~(B) Tax Concessions

(C) More number of unemployed
(D) More number of graduates
(E) Answer not known '

aafls Hnoueamss g6 SUODRHT L wsSyhHE efruwrer @)L ors
Caire) Qauidlermen ? '
&
(A) peler o ars L ey
(B) afissgiamssdr
(C) <=fs aanafsmsuione Couamauddang Ggmplamariser
D) =fs eaneafsmauiaomer p L grilser
(E) o&leo Qzflweierena

Name the scheme, a Tri-ministerial effort which includes Women
and Child Development, Health and Family Welfare and Human
Resource Development. . '

(A) - Integrated Child Development Scheme

(B) Child Development Scheme _
Beti Bachao Beti Padhao Scheme

(D) Smart City Mission

(E) Answer not known

QuaeseT LHOID GRHMSsaTian wenGarppid; HESTSTTD WHHILD GO IbL BEOET;

weflgeiar Guiburh wduarehen o GTETL&GEW epeT)l SIEDEFTEISETGH
pups b egl? '

(A gorfloahs GRHoS mmr‘réaﬂg AL

(B) @ybos aarissls Hlib

(C) Guiyg ussnGar Guiy ugrGar S
(D) vt Ay Sl b

(B) oo Gzflusiidemna

CCSEI-IAP25 | 48 Ly, B



64. Assertion [A]

Reason [R]

During 2001 to 2026, for the states Bihar,
Madhya Pradesh, Rajasthan and Uttar Pradesh,

the population is expected to increase by 45-55%.

More than half of demographic transition is
expected during that period.

(A) [A]is true, [R] is false
(B) [R] is true, [A] is false
(C) Both [A] and [R] are true; but [R] is not correct explanation

of [A]

\}5{ Both [A] and [R] are true and [R] 1s the correct explanatmn

o [A]

(E) . Answer not known -

sdo [A]

sryenrd [R]

e, &S WA TCaseib, @Unamgnm LoHmILD

2 585G <y duw Lombleomigarfl e 2001-2026, &me

sLLgE, wssaQgnamas 45-55 sseisid 2F&M&@D erar
UGG Gérarg).

Qu@pd LGHwrar wasarOsTams eueTidd &L rHDREET
Qbs wrflonseie @b sragdler Hawb  erar

56.’!'0ﬂ855LJL|L_®61T6TT6’0T

(®)  [Al 5 [R] saup
(B) [R] #f.[A] seup

©) [Alb sf [R]w &fl; gparmed [R] erarig [Alss sflwimar eflersawrsng

D) [A] vpmid [R] @r,rsmsr@m &fl; [R] ereirug [A] @ sfwmrer efleméasrELd

(E) o9ani_ G]g,rﬂuaﬁ]eumm
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65. Assertion [A]  :

Reason [R]

The demographic dividend is defined as a rise in
the rate of Economic growth due to a rising share
of working age people in a population. /

India is in the midst of process where it faces the
window of opportunity created by Demographic

- Dividend.

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] s false, [R] is true
: \’Q?)l Both [A] and [R] are true but [R] is not the correct explanation
- of [A] is correct

(E) Answer not known

spoi [Al

smyewrd [R]

ésadsTesl  Gara eramug R0 &seT0 TS D
o @PHGD WG U wésaflar  LkE HslEg
euHeusTe  GHUEID QuTmeTTSTT cuariied) 5SS
ghu@ Fsflurs e TUDISESILOE DS

 &sETEsTaEN 19 eTesemmed  (HEUTSSILILL

amitiuseilan greTgdeams T TEaTeT@EBLD Qawidpenmudler
BHeler QpHwm o drerg. :

(A) [A] ef gyerre [R] soum
B) [A] wpmw [R] @ren@Go &fl wOmID [R] erenug [A] &g sfwmen

aferdsLd

(O [A] paug, [R] &l
(D) [A] wpmp [R] @ran@Guo &fl pemmed [R] eremug [A] &@ sflwumar
aﬂa‘r.ésasLb Qeree eremug &l ' '

(E) ofler Gsflweiidena

CCSEI-IAP25
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66. Match with the schemes and its main focus :

e f

(a) PMGSY 1. Focus on rural youth between the age of
15 to 35 years from poor families
- (b) DDUGKY 2. Sustainable livelihood opportunities
(0 NRLM 3. Rural connectivity _
(d) MGNREGA 4.  Livelihood security in rural areas
@ ® @© @
A) 1 2. 3 4
wB 3 1 2 4
©) 4 3 2 1
™1 2 4 3
(E) Answer not known
ElL Risenar g6 L3 Cﬁrlbnéaasgg,jl_sﬁ QuTmSSELD :
(a) PMGS,Y 1. gows GEbURsmE Geibg 15 apsed 35 -

QUGG UL dymolyn Geaereiadr Sg)
seuand Clegisg s

(b) DDUGKY 2.  Peewurar aimpeunsmy euriiiyser
(c0 NRLM _ 3.  dymouup @evenriiyy |
(d) MGNREGA 4. drmoliypriselle eumpeursi LTgSTIL

@ ) (@© (@

a1 2 3 4
®3 1 2 4
©) 4 3 2 1
® 1 2 4 3
(E) efen Qzfweicrane
B | 51 - ~ CCSELIAP25

[Turn over



67. Match the following :

Water Conservation Programmes and States

States Programmes
(a) Andhra Pradesh 1. Jal Jeevan Hariyali
(b) Bihar 9. Neeru - Chettu
(¢) Gujarat 8. Jal HiJeevan Hai
(d) Haryana 4 Sujélam Sufalam Jal Sanchay
' Abhiyan
@ @® @ O
\)“6 9 1 4 3
B) 1 2 3 4
T N T 3
(D) 4 1 2 3
(E) Answer not known
Gurr@g_i}gjas'
ﬁ)rr urgsTLS S pb Lorrﬁeurmas@m
Lol QoI ET L BISET

(a) <pdra GrGgend 1. ge geuer apflumed

(b) s ' 2. pm-EG

©) ©gIs 3. e apus geudr apmi
4. '

(d) efwmenrm HQEMD SLQMD RO FEHeul Sl

@ ® © W

@a 2 1 4 3
B 1 2 3 4
C) 2 4 1 3
@) 4 1 2 3

(E) ol Qsflweiicoena
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68.

‘Assertion [A] : There has been a significant rise in the

percentage of labour force engaged in Industrial
sector during 1990s and 2000s.

Reason [R] : There has been a significant rise in employment

in the construction sector between 1991 and 2011.

(A) [A] is true, but [R] is false
V?Bf Both [A] and [R] are true; and [R] is the correct explanation
of [A]
(C) [A]lis fal'se [R] is true _
(D) - Both [A] and [R] are true, but [R] is not the correct explanatlon
~ of [A]
- (E) Answer not known
gapm [A] : | 1990ser whmd  2000s6fe G]g,rr@sbgjsbmuﬁ]eh o _grer
' Ggmfleorariseier sseish wflshsgerarg.

SyawTD [R] 1991 womn 2011 <yib  yar@aEbsE @ ulled
slpwrers geopuld Ceumeeimiiliy GO _S555
<serailed 2iflasfsg erang. :

(A)  [A] afl, gyeme [R] gaup)

B) [A] wpgw [R] @rer@n &rﬂ wpmid [R] ererugy [A] efpes &rﬂu_rrrsm

efiler&asnmELD
(O [A] saup, [R] &

D) [A] vppw [R] @res@w &, <yame [R] eragl [A] Ap@é sfwumer

clleT&sLoere

(E) eflevr QgRweierana
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69. Which of the following 1is not the function of the Finance
Commission in India? '

S

(B)
©)
D)
(B) -

Preparation of Union budget

The distribution of net proceeds of taxes between the union
and the states ®
Recommend the principles which should govern the
Grants-in-aid '

Any other matter to be referred to the President to promote
sound finance '

Answer not known

5C Qsm@ésrul Harataeuuen erenal Qrdu s @Gupeder Leni Gaoame?

A)
(B)

©)
(D)

(E)

70. Which of the following statement is true? _
Increasing Bank rate policy reduces borrowing among

(1)

(2)
(3)
(A),
©)
D)

(E)

néHu Sirflar eurel Gswals L sms SUTilLg)

&S HOHID wrhonseEssHor Gu Blsr aufl auEeITLS®ET FIEE0
Qslg LdThsefssed '

wreflwbd QunespsTer s&H GHSE aTaTamssmar o & Q&g
pave SHworar Hfow Ho@BTLEL  auaTEmLd @QpHus  (GigUTsES
seaalfler LTT@aisEs Gsmarn( tede Geueairig wig

MenL Gsflweildeame '

4

businessmen :
To control inflation RBI increases bank rate policy
Bank rate policy helps to control increasing price of goods

Statement (2) and (3) are correct
Statement (1) and (2) are correct
Statement (1) and (3) are correct
Statement (1), (2) and (3) are correct
Answer not known

Epése saphhled gRlwmerg 6Tgl?

ey

(2)
3
(A)
(B)
(©)
D)
(E)

o wmDd eumdl aillg G aasisaian_Gu sLer GUDIL < Tailb
G@PHE lbHHDs!

LamelEssmss st HLLESs RBI aitidl aily diggms o WiggHngl
auridl aulllg. GiBD QurpL_seiler eleoe e wimed s BULOSSIEDS
sapm (2) wpmid (3) & |
ampm (1) wpmid (2) &M

sapmt (1) wpmid (3) &

spm (1), (2) wppid (3) o

afenL Qgfuweiceme '
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71.  Match the following :
(a) Jawaharlal Nehru
(b) S.N. Agarwal
() J.P.Narayan
(d) M.N. Roy

) O ©

(
WS 4 3 2

(B) 4 2 3
@ ¢ 2 4
D) 1 3 4

(E) Answer not known

QUTBESS :

(a) am.@mr‘rwm'@m
(b) S.N. wsieure
(© J.P. mromuer

@ M.N. g

@ O (©
A 4 3 2
B 4 2 3
© 2 3 4
@ 1 3 4

(E) e Gsfueidma

(d)

N = =

(d)

DO = =

55

S S

oW e

People’s plan
Sarvodhaya plan
Gandhian plan |

National Planning

Commission

D&ESET Sl L 1b
&r‘r@eurrg,ug S b
ST S ib
Ceélug AL s &

CCSEI-IAP25
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72. Achleved growth rate of Eleventh Five Year plan is /

©) 10.0%
D) 7.0%

(E) Answer not known

11-aug mpsramr@®s Sl éqml_;ﬁg, aueri&s eSS

(A) 8.2%
B) 9.0%
€) 10.0%
D) 17.0%

(B) e Gsflueidene

 73. According to Ragner Nurkse the starting point and continuation for

development lies in ___ : v

(A) Organised money market
VQKY Increasing the rate of capital formation
- (©) Technological growth

(D) Removal of dualistic economy

(E) Answer not known

Traent piGey Seuiselldr smESIULY, parGahpsSherar gHTdLD LOHmILD

cgqmg)mmg, QsTL(HeughHa e m@@@nm GTeTLgl __ <p@Ib.
(A) EmsstulL UewE SHS |

B) wosar psEEDS &ﬁauu@ggmg

(C) Qsmfe miru eeri&s)

D) @rieLt QUIEHETTST] AL SHSDDISD

(B) oo Oslusidome |

CCSELIAP25 | 56



74.

5.

When one sees the person who taught not forgettir_lg what they

‘taught is dealt in the chapter

(A) Detectives (B) Hopefulness in Trouble
(C) Tyranny of rule ' \}Bf Benignity (perspective)

(E) Answer not known

‘BerQart(®) LuleTnTers ST el
S HlLar Lomises T LT’ - e GlumsEneLw sifsTyid 6TS) ?

(A) @(rj);_nlrrL_si) | (B) @6ssar <furamio

_ (C) Qar@mCsrerenio (D) sawCerrm Lib

(E)  elenr Gsfweforama

“Ozhukkaaraak Kolka Oruvandhan Nenjaththu

Azhukkaaru Iladha Iyalpu”. What is the meaning of the word
“Azhukkaaru”? | '

(A) Love
(B) Submissive

\M Jealous

(D) Good Character

(E) Answer not known

“‘PupssTons Qsrers @messen OBEresg)

SiWsETY Beors Query”’ - eeb @pefled aumd ‘@iwssmy’ earugen
Clummer wimrg) ? _

@) oeny

(B) SIL_&&1D

(C)  Qumprenio

D) uewy

(E)  eleor Qsfwelome

57 _ CCSEI-IAP25
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76. Pick out the incorrectly paired from the following :

1
(2)

3)

(4)

A
¥4

)

(E)

1962 -

1967 -

1968 —

1969 -

The Madras State (Alteration of Name) Act was
passed by the Parliament

Perarignar Anna Sworn in as the Chief Minister

| of Tamil Nadu

Perarignar Anna was elected to the Rajya Sabha

The Madras State (Alteration of Name) Act came

into force

(1) only incorrect

(1) and (2) are incorrect

(1) and (3) are incorrect

(1) and (4) are incorrect

Answer not known

emeumeuarelbiled(bHbg SeDTE @ earssliul HeTeTenSS CsibEg[Hésa,Lb.

(1)

@)
3)
(4)
)
®)

©)
(D)

(E)

1962 —

1967 -

1968  —-

1969 —

Qaemenar omblev (Quwsrr oTHOD) LD

. BLTEBDETDS S HlenpCeup oL g

BL01pE (PSOEDFETTELI Gudl@piT i esTemrT ugeﬁ]@mmmm‘r
@'uq,rfj]@r'_r S T aRTIT Urr%u_!aturrefﬂgb@. Ga Qg Hisa L LT

Qaerenar wrHle (GUWIT LTHOID) FLLD SIDOIEE UDSH

(1) L b seupTarg)

(1) wpmb (2) sauprarema,

(1) wHgid (3) saupreaTael

(1) whmibd (4) seuprarame

een Qzflwislldene

CCSEIIAP25
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77.  Find out the rightly matched pair/s from the following and choose
the correct answer from the code given.

(1) 1925 — Periyar EVR started the periodical ‘Kudi Arasu’
(2) 1928 — The English periodical ‘Revolt’ was started -
(3) 1934 -  Periyar published Viduthalai’ as a Tamil Daily
| Newspaper -
- (4 1937 - 'Periyar bfought out the Tamil Weekly
‘Pagutharivu’ '
Codes

‘/ﬁr Only (1) and (2) are correct

(B)  Only (1) and (3) are correct

(C) Only (1) and (4) are correct

(D)  Only (1), (2) and (4) are correct |
(E) Answer not known

&G @wr@&astnuL@e‘rrmmeu,@gﬁ]sﬁ]@@g sALTsL] QummpHL  Qevasamars
sahiblig S, QarRésiur _@)gﬁ]uﬁLLq_G&@ﬁ@_ gflwmar) uglenavg

Gg,r'r{rj’;@g;@éaasmi_b.
(1) 1925 . —  Quflwmit rF.Qeu. . - ‘G s aem Lmed  @)semnps
Qgmr_midlerm. : ' _
(2) 1928 - ;Qb'rélélsu UHed Q&L ‘rﬂ@surmm‘_’.@g,m_réuﬁuul'_l_g
() 1934 —  Quflum ‘Psma’ ous s preflgions Qesalud L i
(4) 1937 - Quilwrt ‘Lgssley eemm silpeuy Qs Ceuefuirmi
GHIE |

(A) (1) wpgid (2) wrECL sNureTee

(B) (1) whmibd (3) LDL@@LD sMlwurareney

©) (1) wpmb (4) W ECL sNwrerame
. R ot ) i G e

(E)  eewr Qsfwcidrenss

B 2 Lo 59 CCSELIAP25
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78. Assertion [A]

Reason [R]

Tamilnadu Women Conference held on
© 13.11.1938 at Chennai under the leadership of
T. Neelambikai Ammaiyar.
This conference passed 2a ‘resolution for
abolition of caste discrimination and the title

“Periyar” was conferred on E.V. Ramasamy by

this Tamil Nadu Women Conference.

(A) [A] 1s true [R] is false
(B) [A]is false and [R] 1s false
(C) [A] is false [R] is true, but [R] is not the correct explanation

of [A]

) [Alis true and [R] is true

(E) Answer not known

spm [A

sryemrd [R] -

SO DHBIH Quainser wrpr@ 13.11.1938-a@ 8. pambdms

&ILDGIDLDU_IITIT sevoanuie Cearameruile E@L_u@urﬁ)g)@

Qs omprgd erdu  Cappeveu  PLEHED
7.0ey. pmpemdE@n  “Quilumt”  LLLD  QIPEREGUSHSD
Siromed HlevpGaupprilitLg.

(A)  ampm [A] A ypermed smyennd [R] el

(B)  spm [Al g,su@. whmib sryeud [R] seumi

(C) spm [A] sy smyewmd [R] s e [R], [A] &g sfwmar
e eTd & L6IED

(D) smpm [A] & mﬁ)gym- SMyemTLD [R]-ib &f

(E) oo Qsflweiidema .

CCSEI-IAP25
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79. Match correctly books/journals with authors

(@) The Mirror of the year
(b) History of the Justice Party

(c) From Sir Theagarayar to
Dr. Kalaignar '

(d) Justice Movement

@ m @© @
A) 2 3 4
B) 1 2 3
e 3 2
D) 1 3 2
(E) Answer not known

i T S

1.
i

A.P. Patro
N.S. Elango

Muthusami Pillai

A.R. Mudaliar

- uisEsLer = euiserg L$35mseT/ sl fNsamaseamer

QUITEBESaD.
(a) & Bigi < & Guir |
(b)  aflevr M i & sevigev L.
© &t Qursprufdmps

Dr. sea @i euey

(d) . mevigev ppeiQieirs

@ ® @©@ @
A) 2 3 4
“®B1 2 3
C) 4 B 2
D) 1 3 2
(E) ofler QzMweleaned

S A

B

. A.P. Gur Cyrr

N.S. QeriGar
WsgIeTdl Gerener

AR. @g,a‘ﬂmrrr‘r_

FsRlwursL

CCSEI-IAP25
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80. The members of the Justice Party were sent to meet Joint select
committee in London for finalise Government India Act in 1919

(i)  Arcot Ramasamy Mudaliyar
(i) Koka Apparao
(i) T.A.Ramalingam
| @1v) S..K. Thulasiram
(A) (i) and (ii)
(B) (i) and (iii)
©) (), Gi), Gv)

W7 0, G, @)

(E) Answer not known

1919 b <anh @pdu s s Lsos Qnig G]atu'_lsug,ﬁoésrre; SIMW&ESILLL
sl D% Coiieys Guamen oL ald shflés b Bhsal & o muiderisar

G eypsr® Gymosmd apsdluri |
(i) Garem eLTyTel

(i) 1q.¢. FroElmSD

(iv) erev.Gs. gerdlymbd -

A) (@) wpp (i)

B) (i) wppo (1)

(©) (id), (), @)

D) @, (D), (v)

(E) oL Osfusioma

CCSEI-IAP25 62 , B



81.  Choose the right matches among type. /

(1)
2)

3)
(4)

(B)
(©)
®
(E)

Krishnabai Nimbkar
Rukmini Lakshmipathi

Antony Ammal |

- Manjubhashini

(1) and (3) are correct
(1) and (Z)Iare_ correct
(2) and (3) are correct -
(3) and (4) are correct

Answer not known

Madras Youth League

President of the Madras
Women’s Students Organisation

Pankaja Textile Mill

Acting President of the Tamil
Nadu Congress Committee
during Quit India Movement

sflwmen AumBEs eumsmws @g,r'rﬁ@g,@és&éum-

(1)
@)

(3
4)

A)
(B)
(©
(D)
(E)

gl(mememrmumiy Blibsir

GEI e &aiuLdl LI

. 2BCsrafll wjbwmer

LD@hegeLITes) el

(1) wpmd (3) sNwrerae
(1) womib (2) sflwurereneu
(2) Loﬁ)g;ut_b (3) sfMwrareneu
(3) wpgid (4) shlwnerea:

elenL. GlgMwalerene -

63

LOGHTED @)eneT(ehiT Frhigsid

OSTTeD &6 T rewTeu a6
SHENEVGUIT '

L rémﬁgrr gaafl o

SOPBTH srhdlren @ peer

Boeer (Qurmitit) QeueranerwCer

Gleuafl Guim) OWEXF-F ) Cung

CCSEI-IAP25
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82. Assertion [A]

Reason [R]

The company asked the Collector of Ramnad to

Summon Kattabomman to his office at Ramnad. /

Kattabomman was asked to meet the Collector in
connection with the arrears of tribute that he

owed to the company.

(A) [A] is true [R] is true
(B) Both [A] and [R] is false
UG@T Both [A] and [R] are Itrue; ahd [R] 1is correct exi)lanation of [A]

(D) Both [A] and [R] are true; and [R] is not correct explanation of [A]

(E) Answer not known

spp [A]

sryenrid [R]

< Gawl - sQuaflurerise G LITETIq LIS
&L 1L GQumbLoenen @ ITBETSLTSS! <pL_Slwimeriler
SIQUDESSHED HBUTESLT) Gal_(H&6lsmeorL_miT.

%réja%]Gsuu_l spQualurmé® sl Geuargw  &SULID

Aamade @nuustd L durarery g5 &@Lmm)

s L Qumbwer Cal_(H&Gamerem Ll L.

(A) [A] &/, [R] &

B) [A] wpmbd [R] seum

(C) [A] womd [R] &f; Goaubd [R] ererug [A] eyé sMwnar eflerésid

A GLD

D) [A] oppo [R] of; Gogiod [R] aang [A] apg shuar clerss

606D

(E) efler Osflueiidena

CCSEI-IAP25
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- 83.  Arrange the following events in chronological order :

ey
(2)

@)

(4)
(A)
(B)

©)

¥

(E)

Semeusd Hlepeysamers sme auflensliu@ggs.

(1)
(2)
3
(4)
A)
(B)

(©
(D)

‘Salt Satyagraha

Swadeshi Movement

Quit India Movement

N;m Co-operation Movement
(1), @), (@), 3)

@, 3), @), (1)

@, (3), (1), (@)

(2, (4, (D), 3

Answer not known

2 Uy esSwindlysid

&Cs8 @uissid

QevereramuGar QeuafGum @wigstd
gEsI@PUIDD Quisid

(D), (2), (4), (3)

9,3, @, 1)

(2), 3), (), (4)

@), @, (1), 3)

(E) el Gsfueidma

65
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84. Identify the person who uttered that, “Nothing can be done without
shedding of blood. Japan was prepai'ed to sacrifice 20,000 men and
gained a victory over Russia. If 15 crores of Indians do the same,.

“Swaraj will be obtained”.

(A) V.0. Chidambaram Pillai

\)8{ Subramania Siva

(0) Subramania Bharathi
(D) Vanchi Aiyar
(E) Answer not known
“Grssn SbHSMDD gD Qe AP guurreiﬂ 20,000 eSyirsear
Hursd Qe suTITs SHBHSS! Feswimeney Geuengl. 15 Gamg @)bSluifser
Qengé QAeBTD, “G'TU;ID'H'%U_ILD” HoLs@n ety bl pUMI SieLwmarD
SranTaid.”
A) e.2. é]g,Lburbe Qerenar
(B) gLiFeeiw Seur
(© &uqmamﬂu_l ungé
D) eunEpd guirr

() &fev Qgflweierena

CCSEI-IAP25 . 6o, - | E 8



85.

Choose the right matches among type :

p—t

o

4.

\JA{ 1 and 3 are correct

(B)

©)

D)
(E)

1 and 2 are correct
2 and 3 are correct
3 and 4 are correct

Answer not known

— A sangam age fort

. Porpanaikottai
Iron Knlife —  Pallavaram
. Merchant Guild .Inscr-iption . Mayﬂadumpérai
| Sarcophagus | —  Marungur

SereupLieneusailay #flwirear Aurpssseos Csib0sHss :

1.

g
3.
"
(A)
(B)
(C)

)

(E)

QumpuenearsCam_an_

Boous ssd

auamflasE sl ()

sheeublu’iy
1 wpmbd 3 sflwurarensy
;| lemguLb 2 sflunerenal
2 oppib 3 sfwurerenan
3 wpmid 4 sfwnareney

dlenL- Agfwealdane

QR emg sre Camen
LiebevmeuyLb
uler@ourem

LO(THBI G iT

67 CCSEI-IAP25
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86. Arrange the following with reference to different stages of hu

development :

2
2.
3.

4.

(A)

(E)

weflg euarrgsluded ﬂdﬂm@m QaucuCoumy Hleva@saer Q(REIS®ESAD

L.
2.
3.

4.

(A)

(B)

()
D)
(E)

The Nomadic stage
The pastoral stage
The hunting stage
The agricultural stagé
2, 3, i, 4
1,4,8,2

Answer not known

BTGy Hleve

'c%u_ifr. iBlene

GeuL_eim Hlenew
efleusmu Blene
2, 3, i, 4 |
1, 4, 3., 2

3,1,2,4
4,1,2,3

ellenL_ Gg,xﬂmdﬂ@mm

CCSEI-IAP25 - 68
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87. ‘The Ocean of birth swims, swims and does not join the Lord’ — What
is the philosophy of this Kural?
(A) Siva Philosophy | (B) Vidhya Philosophy
\ﬂf Surrender Philosophy (D) Soul Philosophy
- (E) A_ns'wer not known :

CApedls QuesmsL® Ehgiaunt fpsm |
Qemeuary Ger s’ — @E@DET 2 @TGHID SHSIQUD eraar?
@) Ao psgian (B) efiswr sggiau

O syamsg) spyan (D) syeino sgaud
(E)  &le Qsflueioeme

88, Thirukkural Uraiasiriarkal :

(i) Pariperumal

(1)) Dharumar

(1) Ki.Va.Ja

(iv) Dhandapani Thesigar

(A) (@) only ' ~ (B) (i), (ii) only
(C) (iii) and (iv) only (D) (iv) only

E) Answer not known :
= : THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE

' ' THE EXPERT COMMITTEE FOR FINAL DECISION
Sm&@ner e_anqwrd Awiraser

@ Gastell WMHmIL edleml @midl (g ilm &S

(i) st

(11)  &.eu.ggm.

1v) gs&r_Limentl Cadlair | _ s

(A) (@) vrEw | B) @), (1) wEw
(©) (i) wHgid (iv) b G- D) @v) wrEo

()  e&fer QsAweldera

B | | | 69  CCSELIAP25
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89. Assertion [A]

Reason [R]

That is the land or country which forces free from
fierce famine, wasting plague and ravages of
enemies

Poets consider it their primary duty to wish the
country and wish for the development of its
people. They want all countries to be special, not

just their own..

(A) [A] is true but [R] is false
(B) [A] is false but [R] is true
VQZ{ Both [A] and [R] are true, [R] is the correct explanation of [A] .
(D) Both [A] and [R] are true, and [R] is not the correct |
explanation of [A]

(E) Answer not known

sapm [A]

sryenrd [R]

“o puAlyb e Werfluyb Cepueswbd

Gegr Hueaig BTG

BTl eumpgleuemaund, Br( wésefen Gobum’ et
ApbLeumBUD  L@eTEeT — Seneoulmul SLeNLOWINGS
smgHament. s&r BT wrQuilerd  ereenm(hibd

- AprigpD(mHés @Si@Lbué]sisr;o@Tr'r.

(A) [A] &M, syame [R] seum
B) [A] seug, gpemme [R] &fl
(C) [A] wogw [R] @rer@n &, wHmibd [R] Gram_tgj [A] Ape sfwimear

eNleT&SLDMGD

(D) [A] wpmid [R] @Quan@o sf, wpmb [R] eaug [Al dpE sfumer

N 6TEHS D6

(E) &fen Gzflwueiiererew

CCSEI-IAP25
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90.

91.

Which of the following statements are true? N
1. All the religions were accepted and appreciated in Thirukkural
2. Every religions ratified the views of Thiruvalluvar

3. He didn’t believe morality |

4. Valluvar said that men with high principles deserved to live as.

(A) 1and?2 only correct (B) 2 and 3 only correct
2 and 4 only correct (D) '3 and 4 only correct
(E) Answer not known -
#flurar Qgr_ers sarfls.
L. QeueuGeumy sowgmss FMMBgeTSE@HD. Slmé@naaer) Gumhdlearmadae.
2. ﬁ@mm@mﬁ BHHD  SOWSMBE STTHFET GTeMD  FOWRISET Fmeu)
&M iger. - '

3. p0pHude SQi(Wpgswrar BLGGmSWHDeIT.

4. o wiks GM&Camer Qaman® weflger aumpGeuan (@ warprir.
A) 1 opmid 2 we @G & B) 2 wpmib 3 WL G &
(C) 2 wpmid 4 v @ & (D) 3 wohmib 4 wr @b &
(E) &eor Qsfuaioame

Arrange the following in order :
1. The goodness of the help to domestic life
2. The possession of love -
3. Domestic life _
4. The obtaining of sons
3, 1,4, 2 B) 2, 3,
©) 1,2,4,3 - D) 3,1
(E) - Answer not known
aflensiLpss s :
L. aumpsams samer pab
2. S@yeLeno
3. @éanpses |
4. ysdeayl Qumse ,
A) 3,1,4,2 (B) 2, 3,1
©) 1,2 4,3 - (D) 8. 1,2

(E) oL Gsfueiovama

71 CCSEI-IAP25
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92. Which book features the series “Pagaivar pull Aarga”™?

(A)
v
@)
(E)

Natrinai
Kalitthogar
Aingkurunuru
Purananuru

Answer not known

‘Lenseulr L <pits ergb Qsm i @ ibEupmieTer Hred.

Y
(B)
©
D)
(E)

fufllzalz
s0$0BTOS
LEGSDIBID
LDBTennml

aden_ Qgilweierene

93. Who gave .special importance to Village Administration?

\ﬁ)’

D)

(E)

Cheras
Cholas
Pandyas
Pallavas

Answer not known

Armo Hmeunssgs@s Splisb Glasrr(})g,cg;rrfr

(A)
(B)
©)
(D)
(E)

Qe
Gampir

LI TegoTig Wl T
LIGDGOGUIT

e QgMuaicaeme
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94.

Assertion [A] : Some poets live on their prize money. Most of the

-~

-

poets have their own professions. They don’t -
depend on prizes. |

Reason [R] = When poets who make a living out of their prizes |

A)

9

get prizes of low value / below their expectation;
they reject it.
[A] is true but [R] is false -

Both [A] and [R] are true, but [R] is not the correct
explanation of [A] is correct |

Both [A] and [R] are true; and [R] is the correct explanation

(©)
of [A] _ |
(D) [A] is false, [R] is true
(E) Answer not known
gapm [A] : Heveufrsartled HaCry Lf&e QUMDESESEMILI
Crop Qamairiq (5 hsanir. QumbLrGeomt S50 S,
afl@pLinioner Qgmfldsamans Cewigl eurpey BLsHani.
sryentd [R]  : uffled  eumpdamsamu CopQsranGLr  sedHses
(GDDEUTS uifla Bevdlw Grimg)b (PSLd )
2AefigsCurgid  uQunmmear gi&sboar  wHss
ODISSETIT.
(A)  [A] &M, gpamed [R] U
B) [A] wpmd [R] %d Qram@in sf, e [A] & CTETLISH(S
[R] eflwrer eferssivadn - _ '
©) [A] wpgid> [R] 8w @ramGu ot wppis [R] wyens [A] sparar
gilwrer eflerdsLomEb
D) [A] seupreng, [R] sflumang
(E) eleor Gsflweldame .
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95. One man, 3 women and 4 boys can do a piece of work in 96 hours,
9 men and 8 boys can do it in 80 hours, 2 men and 3 women can do it
in 120 hours then 5 men and 12 boys can do it in

(A) 39— hours - (B) 42- hours
11 ; 11

\/M 43% hours ' (D) 44 hours

(E) Answer not known

@ e, 3 GuaTse, 4 euwueasd Coipg em GHUALL Gamemu
96 wenll Crrsde OGsudaperr. <Cs Caumaewl 2 pETSEr  HHID
8 auwensedr Carbg) 80 waxf] Crrsded Qendenpent, ety 2 p@rrgEeT WwHHILD
3 Quenser Geipg <Gy Goumaanwl 120 wefl Cpyib Geudlampenrt, erafled
5 yemraar wHOID 12 emuwIeTseT <G5 Cavmaamu Q5w dHE3S QasmaTenb

Cpyid : DG LD.
A) 39— e Gpmd (B) 42— wesfl Gpyid
1 ki
| = By e 7y el B
©) '43{71 i G (D) 44 we Cpyid

(B) el Gaflweidena

96. The diagonal of a rectangle is thrice its smaller side. The ratio of the
length to the breadth of the rectangle is

(A 38:1 | (B) +3:1

C) ~2:1 @ 2211

(E) Answer not known

G Qsaicuside ApeEIlL DTS HASET SN LGSSSET (PEDl LOLBISTE
o areng) erafld Qecdieuagdlen Herb WHOID SsHS e NElgD ererer?

A) 3:1 (B) +/3:1

€5 «2d - D) 24/2:1

(E) e Qzflweiicvenad |

'CCSELIAP25 74 = - B



97. Ifx:75=8:y=7:175 find x:y

(A 3:22 B) 1:7

& 3:20 (D) 3:23

~(E) Answer not known

£:7.56=8:y=7:175 aafle x:y g srens. |
(A 3:22 (B) 1:7

© 3:20 : (D) 3:23
(E) oL Gsfusfdma -

'98. IfRs. 1,600 is divided among P and Q in the ratio 5 : 3 then @’s share

929.

15

(A) 900 w600
(C) 1000 - (D) 1200

(E) Answer not known - _

. 1600 & P wpgn @ eremp Quan® puisErsE 5 : 3 aam allflgs e
Gflgsrer @ Qe Linki;

(A) 900 ' (B) 600

(C) 1000 ' (D) 1200
(E) aflen QpMlwueicoane .

L.‘C.M. of (23&2'_- 3xy)2, (4x - 6y)° and (8x3 - 27y3) 1S ?

(A)  2x(2x - 3y) (40* + 62y + 9y?)
2°%°(2x - 3yf (4x2 + 6xy + 9y2)
C) 2°x*(2x - 3y)2(4x2 +6xy + 9y2)
D) 2°x*(2x —3y) (4x + 6xy +9 )
(E) Answer not known _ |
(2% ~3xyf, (4x - 6y) wopmin (8x* ~279%) —ar 8.Qum.10.

(A4) 2x(2x -3y) '(4x2 + 6xy + 9y2)
B) - 2'x*(2x - 3y)° (4x2 + 6xy + 9y2)
(C)  2°x7(2x - 3y)*(4x® + 6xy + 9y?)
D) 2°x*(2x - 3y) (4x + 6xy + 9y)
(E) oo Qsflueloema

% CCSEI-IAP25
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100_.' Peter got 30% of the maximum marks in an examination and failed
by 10 marks. However, Paul who took the same examination got
40% of the total marks and got 15 marks more than the passing
marks. What were the passing marks in the examination?

A) 35 (B) 65

85 : (D) 70
vl I

) Answer not known

Seoh eemueni @@ Gairelldr <ids wHuQuarseiieo 30% Gupp,
10 oSG LI T ET AsHurssde Comavafl L& prr. Gogibd, LITed GTETLIGUT
G5 Coieaoar apd. Qurss wofuGuarseio  40% Qupm, Gsied
Qupeuspatar  WLHALGUETEERTE  STIGEID - 15 wHuCuarser s
Qupiflpri. TN JABSS Gairedlen Gairés) S IGLIekT erebre ?
(A 35 (B) 65

©) 85 | (D) 70

(E) eflen QsMuwciiévena

101. Akila scored 80% of marks in an examination. If her score was
576 marks then find the maximum marks of the examination -

s 720 | (B 620
(C) 820 - (D) 710
(E) Answer not known

sfor  Csield 80% wilubuaTsmer Qupprer.  eudm - GUHDS)
576 wALQUETsET aafldr oibs Coredler Qorgg WHIGUGETE®ET &T6ETS.

A) 720 ; : (B) 620

(C) 820 | D) 710

(E) ol Qsflwciicrena
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102.

Find the next term.
0.5, 0.6, 1.5, 4, a8,

@A) 126 ~ (B) 135

©) 143 &) 17.0

" (E) Answer not known

103.

SIS 2 mitiL| srer.
0.5,0.6,1.5,4,89,

Q) 126 (B) 13.5

©) 143 | (D) 17.0
(BE) aleor Gsfusdoman ' |

A,B,C,D, E and F are cousins. No two cousins are of the same age
but all have birthdays on the same date. The youngest is 17 years

~old and the oldest E is 22. F is somewhere between B and D in age.

A is older than B. C is older than D. Which of the following is not
possible? |

(A) Dis 20 years old (B) Fis 18 years old

(C) Fis 19 years old ‘m F is 20 years old

(E) Answer not known

A, B, C, D, E vogs F < ECuim gapief L sCargrisear. oeuiseie TS
Do sCangyis@sd @85 wdlant @, e, Sl@analhEGh Ynhs
glard Fob. Sjeurseild Wss@Sonhs euwg 2 e weur 17 WD, 18ls ods
awug GCsram_ E, 22 ewgn ee_wueir. F <eaatr B wpmin D &@
Qe o erer gGsT @ eug Qsran_eir. A aeruent B & oL Quflweur.

- Cadruar D g efL Quilwer erafld Spésam_eupile) ergl snsHwbldae ?

(A) D eremucufer G)_I.U__lgj 20 (B) F eréirucuflen auwg 18

(C) F aremueumien auwgy 19 D) F srs&TuaJrﬂéhT.aJu_@ 20
(E) e Gsfuefome

77 - CCSEI-IAP25
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104. In a dice, if 2 is adjacent to 3, & and 6, then which of the following is
necessarily true? |
(A) 8isadjacent to 6 ' \}{; 1 is adjacent to 4
(C) 2is adjacent to 4 (D) 2is adjacent to 1

(E) Answer not known

@m usaL Wl 2{5@' omdéd 3, b wppd 6 edeng erafler G
QarpésriL_@Gerer saphle e pluiner e@red eTEl?

A) 3 &5 2nGs 6 2 dmerg B) 1 s =®Cs 4 26merg)

(C) 2 &8 nGs 4 odeng (D) 2 5@ <(mGs 1 2 dmargl

(E) oo Gzflweiicrana '

105. Five girls are sitting in a row. Rosy is not adjacent to Sivanandhini
and Abi. Anuradha is not adjacent to Sivanandhini. Rosy is adjacent
to Monika. Monika is at the middle in the row. Then, Anuradha is
adjacent to whom out of the following?

\,@ﬂf Rosy (B) Sivanandhini
(C) Monika ' (D) Cannot be determined
(E) Answer not known
b Quarssr @@ afl@sild  SATHEGSSDTTSET. Grmerdl  ereTLIGUIT
Hauppdafl LHDID A5G B @ooe. @rst Haupbilalss S|(Hle

@oee. Crredl GuorafareinE omde @Qméfprer. Cuorafla auflangulled
pHedd GQmsSmer. Gerart, HETIST Qemaupeuareupbled WMHES SHBHD

@) (m&S pmeT ?
(A) GCpmedl (B) feuppdlaf
(C) Gurefsn (D) &rworelss 1pigwngl

(B) &er Qsflweidoene

. CCSEI-IAP25 18 ' B



106. One Rutherford is equal to

o
(B)

D)
(E)

108 disintegrations per second

104 disintegrations per second

10¢ disintegrations per second
1 disintegrations per second
Answer not known

6(h @g,fm%@urrr‘r@ 6T GTEITLIG) &@é;assuwpeuﬂ)@m THHGEF FOOTETG) ?

(A)
(B)
©)
(D)

(E)

@@ Cesarh Crrsde 108 fegasmers Qarhegn  sffuss:
Qurpefler eeray ; : :

20 Oesar® Cprsdo 10 Amseysmens Aerh&s@h sHfluss
@urr@aﬂm |66 . ;
@ QeseanQ Crrgdler 10° Aamseisamers Cerhé@h  sdfluss
Qumpeafler jaray ' : '

@@ Ossar® Cprsde 1 flwgejsamens  Qsr{&eb &Elflwde
Qummpafler <jaray

eflen. QgNwelerenc

107. Kessler syndrome refers to

(A)
(B)
wer

D)

(E)

Radio Frequency Interference in space

Light Pollution in space

Accumulation satellite fragments, spent rocket stages and
other discarded materials in space _
Formation of Cirrus, Cumulus, Cumulo Nimbus clouds that
distracts the light penetration a3
Answer not known

. Gaaveit Ser_ Cymib GTarliLi(Heugy

A)
(B)
(©)

D)

(E)

el erlleuafluded FHLGID Grig Gwir wiaaeflas GINEEI0)

eQarQeuafue gHu@mb eafl wr&LTH |

eflanteuafiuier Geflpgiearer Qewners Careradr, Tr&ECE. whmib B)&ré
slesemmed gHLBL elenerey

e, Gepean, Gl BHiue Curem Cosmserred Ghlw gefluler
par(pl(peueiied eI eflaneray

eflen_ Qs fwelerana
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108. Assertion [A] : University students think 'more critically about.

the new subjects and situation they encounter.

- Reason [R] . University professors encourage conceptual

(A) [A] is true but [R] is false
' \,(«BY Both [A] and [R] are true; and [R] is correct explanation of [A]
(C) [A]1s false but [R] is true
(D) [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
sapm [A] u:gﬂu_lﬁ Cum_miser  opmib  HSwE Ghhleasemear
adiQamerend  QuTEpS UOSMOESPE  DTERTEUTHET
Awiear fHwnss HpHéslenmer. |
smyewrd [R] : Los@m@ssps CuiTdfursdT smsaIeTT shped LODID
| 2D Heeuid ySHwul um rhsmers S(HSHE ENTHSI
L Qarar® she sms@edsdanpart. |
(A)  sapm [A] o, gyeme smard [R] seum
(B) sapm [A] eyb smyemd [R] b &l whpid sryend [R] sapm [A] &3
sRlwrer eSleTdsm@Lb
(C) ampm [A] seug, sTyeRTd [R] &l
D) spm [A] apbp smenrd [R] b &f, <pewmed sryewtd [R] GI'.GESTL_.JQ_I, _
sapm [A] 8@ sflurar eflerésifidama
(E) oflerr Qgflwefdena

learning and understanding of the new subject

concepts' at the primary levels.

CCSEI-IAP25 | 80 - [3 "



109. Match the following and find out the correct sequence. /

(a) Abiotic component

(b)
(c)

(d)

(A)
(B)

(D)

(E) Answer not known |

Bagasse
Carcinogen
Carnivorous
@ b (0
L. 2 - -3
2 3 4
3 1 4
4 1 2

(d)

Lo D

The crushed cane: after extraction

of juice
Animals that feed on other ammals

Non-living component in an eco
system

Toxic organic compound causing
cancer

Sipserm_euhenp QurBsgs wHmbd Cuoaib sfurar eiflas (PODEWLI SHTEHTs.

(a)
(b)

e Wyho Qurgyer

S(HOLEF s&Ha05

(©)  srieflGarmegen

(d)

(A)
(B)

©

D)
(E)

26T 6| GYor 6Bt

@ ® (©

1 2 3

2 3 4

3 1 4

4 1 2
adlenL_ @gﬂ-maﬁlcﬁmm

(d)

O DN =

a1y 505055 e QBrmisasr_L
S(HLDL

wHD ellekiEsamer 2 eramib efleurki@ser
GPaSlwed e 2 arer e ullymm
Jo. I

UDPDICEIeW o @ mé@d piss sfo
FOME

CCSEI-1IAP25
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110. Assertion [A] : Overloading of Nitrogen in the environment can

cause an imbalance to the natural nitrogen cyble. S/ -{

Reason [R] . Nitrogen becomes a pollutant when it escapes 1nto

the environment and reacts with other organic
compounds. |
A) [A] is true but [R] is false
‘/Bf Both [A] aﬁd [R] are true; and [R] is the correct explanation of
A] | .
(C) [A]is false, [R] 1s true
(D) Both [A] and [R] are true, but [R] 1s not the correct explanation
of [A] '

(E) Answer not known

sapm [A] O EhDiFEGe@ wpLIg®er  ASSLTE FHmeIg
Qubeawurar @B TR spHfude  ghHnSsTH®E
o G M&H@&HS DS

srpand [R] : = Qg sHnEGREle sobg DTE S LDrrgS] WwHo ST

(G&iTLD 151 & (@1 L6bT e fEng!.

(A) [A] &f, [R] saum

B) [A] wpgn [Rl @ren@w sf; wppo [R], [Al SApsrar sRwirer
eleT&HSLOT@ LD ' :

©) [Al s, [R] &l

D) [A] wompw [R] @rerhio sil, gpyemme [R], [A]le9psrer sflurer eflerésid
@ eene ' | -

(B) &fen Ozflweideaa
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111. Which of the following caused by earthquake? /

@
(i1)
(iii)
(iv)
v)

2
®)
©)
D)
(E)

Lightning
Landslide
Thundering
Tsunami

Floods

(1), (iv) and (v)
(1), (i1) and (iii)
(ii) only -

(i) and (v)

Answer not known

1Yl ebreu (e a6 Hfl e LL&DLISSTE qrg)u@u@eu GTENGL ?

@)
(i)
(iii)
(@)
V)
@)
(B)
(©)
(D)
)

Ll GhreaTed
blossfley
8g

a;mfruﬂ .

©eudTerid |

(i), (v) wpgi> (v)
(1), (ii)_ Lnﬁ)g)_u.b (111)

(i) wi @G

- (1) wppin (v)

aflen Qg Mfwelerena

83
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112. Match the following :
Column I
(Waste Disposal Method)
() Sanitary landfills
(b) Incineration

(c) Pulverizing

(d) Pyrolysis

@ b ©
a 2 1 3
@ 2 1 4
©) 1 2 3
D) 4 g~ 2

(E) Answer not known
&Q&G&WL@J@@@Q QU rSEIS
Op@euflens I

(5180 SisHDD (PaD)
(a) damoésfe) Hniyse
(b) erfigged

(©) gremméGs
(d) Qeautusfosey

@ B ©
A 2 1 3
B 2 1 4
© 1 2 3
D) 4 3 2
(E) eferr Qsflweiidene

CCSEI-IAP25

Column IT
(Process)
1.  Burning of waste

2.  Deposit the refuse and
compost it with bulldozers
3, Combus_tion in absence of
- oxygen
4. Spreading the waste on fields.

(dJ THIS QUESTION AND AMNSWER ARE TO BE PLACED BEFORE
4 THE EXPERT COMMITTEE FOR FINAL DECISION

3 @sGsarel wHph el ANIA (prelDEs

4  susLEYIBI (HpOIlSH (DT sMEUGSHIILL 2 siTemS).

1

OpHeuflans 11

- (@Qeua (penD)

. W as@sqasaﬁm_mﬂ!{r,gsb
nEsHUL L SflesET HNID 2 g
o duier @ubS LD EpeLD Ceilgzen
2pESHean Geamod erilgse

4.  sPleysmer Heonisaie
uguQeiihged

(d

R W

P ;



113. Choose the incorrect answer of forest types and their species in

India. - |
. (1) Evergreen forest — . Rose wood, Toon, Ebony, Gurjan
(2) Monsoon forest — Silver fir, Walnut, Deodar,
 White Willow -
(3) Tropical forest — Chir, Blue Pine, Spruce, Cypress

@) (1) only

(B) (1) and (3) only
VQZT (2) 01113}

(D) (2) and (3) only

(E) Answer not known

Qpdwurelld o érar cuar alenssdr LOYIb Sfeupdler @artiser LHHL seupmar

Lflews Csiray Gewiwayib.

(1)' L&D LIYTE &) = Gomevayl, @er, sriisne), @ g

(2) uBauL®ws sTE —  Qeugrafl &9, aurpL, Caeugm,
' Qeudtenar aflebCevrm

(3) ywsdw Crevs srRssr — - 8T, Liep smuén, efuu@;-,fu, @&LITen

@ 1) oo

B) (1) wppid (3) wrGo

©) @ oo

D) (2) wpgi> (3) G

(E) o9eni Qg Mwelléena

B e 85 CCSELIAP25
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114. Consider the statements on monsoon and choose the right answer

@ .
(i)
(i)

(A)

B
©
®)

(E)

Most monsoon rainfall is caused by the depression over

Arabian Sea and Bay of Bengal.

The amount of rainfall increases with increasing distance from

the sea shore.

The eastern coastal area of Tamil Nadu remains dry during

-South West monsoon.

(1) 1s true

(1) and (iii) are true
(ii) and (iii) are true
(1) and (i) are true

Answer not known

LmeuESTHO LHHL Snhpiseia sRwurarauhen Caibbs® -

(1)

(ii)

(1i1)

@A)

®)
(©)
D)
(E)

SICriu s LDJ_i)QJLb auiismer elfGLrelld o drar STHOWPSS STLE
Heasermed QUEBHLLLTOTET LI(HAILDELD Qumpdmgi.

sLCamrsler @Qmbs SO 2fefa@d Curg wapuiler daTa|b

IS EE: 3T

QaenGnE Lihauwapuiar Gurg) slpasdar fipse sGaml UGS
cumeTGL smemTLILI(HID. : : -

(1) sflwmrerg

(1) whmb (1i1) sflwrerene

(ii) whmiwb (iil) sfwrerea

(1) wpmid (i1) sfwrerenen

.Gfﬂ@.i)l_. Qs fweleame
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115. Match the following type :
Match correctly the Nationalist Papers and its Authors

(a) Subramaniya Bharathl 1 Swadesamithran

(b) Mrs. Annie Besant 2 Madras Mahajana Sabha
(© G. S.ubramanya Iyer 3. India

(d) P. Anandacharlu 4 New India

@ ® @© @
A 1 3 3
B 3 1 4
wel3 4 1
M 2 1 -4

(E) Answer not known

W N NN

sHlwTaTeubhenmL QumrpSess
Ceflw prefisy eiger % Afwer Qurmsgs.
(a) sudmwenflu urgSwmt
(b) Mrs. oeredQuae

©) G. suQmoeilu guir -

&Gae1058) rer
Cleaana wamegam i
@pdun

AW @pduir

ol

(d) P. gampsemia

@ ® @© @
@A 1 3 9
(B) 3 1 .4
© 3 4 1
D) 2 S
(E)  afler QsAwefdama

W N N

B ' 87 CCSELIAP25
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116. Match the .followinlg . 4
| (a) Home Rule Movement
(b) Kudi Arasu
(c) Women’s Swadeshi League

(d) Abolition of Devadasi system

@ O © @

W 2 4

1 3
®) 3 4 2 1
C) 4 3 1 2
® 3 2 1 4

; (E) Answer not known

Ensararucipenls QUIBSES :

(a) swrd @_uéi;aaLb LA
(b)) Gywrs

(c) Queansear &G58 smsLD

@ Goousrdl peop GPOL

@ b @© @

A 2 4 1 3
B) 3 4 2 1
© 4 3 1 2
® s 2 1 4

(E) ofler Qsflwelicvened

CCSEI-IAP25 88
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o B B9

S. Ambujammal
Annie Besant
Muthul‘akshmi Reddy

E.V. Ramasamy

S. iDLy SHDLOTET

g ementl OlLigeL
p&gQeradl Qg

F.Qeu. grogmdl



117. Arrange the Conquests of Iltutmish in Chronological order :

(1)
(2)

(3)

(4)
(A)

(E)

Bengal

Bilsa Fort
Gwalior
Ranthambhor

1), (), (3), @) ® 1), 6), @,

-4, (@), (3), (2 | D) @, 3), ), (1)

Answer not known

(@GDLGIL&QL}: & Qmm@&mm&s asrrmejﬂm&uu@g,ggas

ey
(2)
3
(4)
(A)
©)
()

Yéver Cam_anL

Geuredluwifr _

gregLb G : ' _

(1), (2), (3), (4) i B) (1), (3), (4), ©2)

4), (1), 3), (2 | D) 4, 3, @), 1)
eflen_ Qzfwelerena

118 Wthh of the following statements are true about the Houses at
Mohenjo-daro?

@

(i1)
(111)
(A)

It was discovered in Montgomery District of Punjab.
Mohenjo-daro the houses were made of Kiln-burnt bricks.
Kiln-burnt bricks in large quantltles were used for drams

(1) and (iii) only . (B) (1) only

Vﬁer (1) and (iii) only ' (D) (ii) only
(E) Answer not known :

@mn@m@&gwegn@ﬂgﬂmm ﬁ@ammu updlw e mppiseld  erg
o_GRTGILD 7

)

(1)

(i)

(4)
©)
()

Qg Lgpemer e Gsrewof reul L&l samd iy St L g).
GorangresmGrraler aihaer s L Qemishaermdd 2, TG
&L Cemshser oifes oerelie QU HTOSEHSGL LWeTUHSSILL L ar.

(1) wpmd (i) we @ B) @ vrEw

(i) wpmo (i) v o D) (i) we@o

elen QzsMuicldena
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119. Pick out the incorrectly paired from the following :

(1) Smoke and Ashes : Opium’s — | Amitav Ghosh
Hidden Histories

(2) The Golden Road - William Dalrymple

(3) Twilight Prisoners : = Minakshi Dewan

The Rise of the Hindu Right
and the Decline of India

(4) The Final Farewell : e Siddhartha Deb
Understanding the Last ' |
Rites and Rituals of India’s
Major Faiths

~(A)" (1) and (4) are incorrect (B) (1) and (2) are incorrect
(C) (2) and (3) are incorrect \.,(ZY (3) and (4) are incorrect

(E) Answer not known

SpQsTHEsILLLaDDSI BHS SDTE @aanssiulLoss CoibbsHésaib: '

(1) 5CLOME e <2} EEN = siflgeu Cameiy

- @udubed ablLar aflevl_ffev :

2) 8 GareoLer GG - 2 Hdalwb GLafbGe:
(3) refeer Wfeverie : - Sermés Heumer

5 e 21 5 @b @
SIFTL & lgSenerar g1 @pluwim
(4) 5 euad SQULTCa® : - fsariss Coll

et GLamqm & emevl M6

e Mésaiden <plt @hEluimen

Cogyit SblLige
(A) (1) wpyd (4) seuprarae B) (1) mﬁ)gﬂb (2) seupraTeney
© @) vpgnd @) saprama (D) (@) wppi () paprawa
(E) aﬁ]sml_-(agﬂu_taﬂsbema) ' '
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120. Reason and Assertion type :

Assertion [A] : In 1946, the Muslim League withdrew its

acceptance to the Cabinet Mission Plan.

Reason [R] : The Muslim League joined the interim

(A)
B)

(©)

o

(E)

government formed in 1946.

- Both [A] and [R] are true and [R] is the correct explanation

of [A]

Both [A] and [R] are true, but [R] is not the correct explanatmn
of [A]

[A] is true, but [R] is false
[A] is false, but [R] is true

Answer not known

sMyemtd LHMID ulLNSSH auems :

adlluymssed [A] 1 1946@d wavelld oS amm&&qmmg SNHI&E( THmé

Qsmam_og cdosds Qarar_g).

smyewtd [R] 1 1946@e ewEsILCL QoLsste  rarhsssd

@)
®)
©
D)
)

pevedld 5% @)emanhss).

[A] womb [R] @resid &f whmiid [R] TETLIG| [A] aflpamar sflwimer
aflerésid

[A] wogis [R] @rem@io e wyama [R] erergl [A] eparer sflwrer
leT&ESID e

[A] &M, gyammed [R] seumy
[A] seum, <yermad [R] &M
ellenL @g,rﬂmaﬁ]s’uemu.
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121. Assertion [A] : DMK played a leading role in the Anti-Hindi

campaign.

Reason [R] . Tt urged people to write under the Tamil identity.

@A)

v

©)

[A] is true, but [R] is false
Both [A] and I_’R] are true, and [R] is the correct explanaticin
of [A]

[A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the corréct explanation
-~ of [A] |
(E) AnsWer not known
sapm [Al . s Qpd srg%lﬁm_m Gunq&LLg,gm- p&Swiomer
LEQERsEE AsTaTLE.
smpems [R] @ S.ap.s.  sswers  HOPT  GE@TD  SEDLLITATEEIE
O genfleanu apUpsSUg. | |
&) [A] f, sperrés [R] som
(B)  [A] wppio [R] &fl, Gogid [R] @er eferssd [Alsg sfurang
©€) [Al saup, [R] &
D) [A] wpgid> [R] s, syerme [R] @ar sflarsai> [A] 6@ geuprens
| (E) aflen QzMweleame
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122. On 24th September 1932, Poona pact was S1gned between 7

(A) Gandhi— Irwin
(B) Gandhi — Jinnah
Gandhi — Ambedkar
(D) Gandhi - Ramsay Mac Donald
(E) Answer not known _
1932 b yawr®  Qeoivur 240k Csdl yem  euuBssHD
smas@u.;rruu;ﬁLL_eJrrasm : . :
A)  smpd - @\ el e
(B) .asrrrr_'r,r‘sf,] —~ ehleramm
©) ssrtr_'r;é] — CugsT :
D)  arpd - rdGes Q&G rardr
(E)  eerr Qsfwedcrena

123. Choose the right matches :

(1) Ferosha Metha . —  Disciple of Gokhale

(2) Gopala Krishna Gokhale — Servants of India Society

(3) Dadabhai Naoroji — Drain Theory

(4) S.N. Banerjee | — Safety Valve Theory
\,@!ﬁ‘ (2) and (3) are correct (B) (1) and (2) are correct

(C) (2) and (4) are correct (D) (3) and (4) are correct

- (E) Answer not known

sflwmrer Qummssnisamer Csib0sH&s :

(1) 9Cyragr Guogsm : "Bock GanaGaular £ _
(2) Casrure &mevenr CarsGe — Qidlw serfluiirseafer s
(3) smsmumi QperGymg) - - g &Te QEsmaTens

. (4) S.N. urarigl - urgIsTLL 2argsh Cam_ L)
(A)  (2) wpgyio (3) & B) Q) wppd (2) o
©) (@) vpg> (4) & D) (3) wppid (4) &

(E) oo Qsflwefdeme
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124. Match correctly the Excavated materials with their corresponding

Excavation place :

.(a) Shell Bangles 1. Azhagankulam
‘) RingWell 2. Thulukkarpatti
(0 Roman Coins " 3. Kezhadi

(d) Silver Stamps 4. Vembakottail

@ ® © @

A) 2 1 - B 4
-\;B)’zl g 1 2
©) 3 2 1 4
D) 1 4 2 3

(E) Answer not known

oisprield daLgsll QUIHLEMETLD, S&SPTe] Qeuwrniul L QL smgud

QuTmSSs.

(a) &G euaneTWIEHSET 1. cqupaseisr@ml.b.

(b) zep Hawrg 2.  sl@usiuly

(¢) Gumb BHrERTWIBISET 3. &y

(d) Qeucredl oi&s 4. Qeubu&s&CasrienL

@ ® © @

A) 2 1 3 4
(B) 4 3 1 2
) 3 2 1 4
D) 1 4 2 3

(E) efeni Ggﬂmaﬂmmm
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125. Reason and Assertion type :

Assertion [A] : Muhammad Ghur attacked . ‘the Fortress of

Tabarhind, a strateglc point for the Chauhans of
Ajmer.

Reason [R] : The Ruler of Ajrnei' Prithvi Raj Chauhan marched

(A)

BT

(©
()

(E)

to Tabarhinda and faced the invader in the first
Battle of Tarain (1191) '
[A] is true, but [R] is false
Both [A] and [R] are true, and [R] is the correct explanation
of [A]
[A] is false, [R] is true
Both [A] and [R] are true, but [R] 1s not the correct explanation
of [A], [A] only is correct

Answer not known

SMTERTLD OHDID FahHm U :

spm [A] 1 S CleaTanres@rdE @@ - apGOrLmy  ebwbnTs

Qmbs suredibsr Csm e auw wpag Carfl gréderi.

amyenrd [R] D oimlbfler o Awmerit . Gflsed gy Qeerapmer

@
®)

(©)
(D)

(E)

suadlem_rellhe iefeussgs Qe Wpad ghyier
- Gumfled (1191) uer Qu@iurarenry erdlit QamegorLmir.

[A] &fl e [R] seum
[A] wppd [R] @rean@n o amranio. CSLD@JLD [R] eretruigy [A] e sfwrer

AleT&sid

[A] seum c%smr_rsb [R] &f

[A] Lﬁﬂ)gﬂl.b [R] @Quam@n &M, syeama [R] eramugl [A] ar sflwmar
eflerssnde [A] b &

e @g,rﬂu__l@‘:'ﬂsi)anw
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196. Which of the following pairs are correctly matched?

:

®
B
©)
)
®)

Right to Privacy

Passive Euthanesia
Right to Vote

NOTA in Elections

1 and 3 are correct
1 and 2 are correct
9 and 3 are correct
3 and 4 are correct
Answer not known

Justice K.S. Puttaswamy Rtd.
Vs. Union of India '

Common cause (Re‘gd. Society)
Vs. Union of India:

Ministry of Defence Vs. Babita
Puniya -

Swapnil Tripathi Vs. Supreme
Court of India

Q@mau(hLd @eansafle erg sfluing QumpBEHwerarg) ?

1. 2|bsTEs 2 Mo
2. @&ﬁ_neorq')m &(HEneRT& 6l &ETEmna
3. ursseilé@d 2 e
4, Cairgasafied Cg‘r_r;m'_l_rr'
(A) 1 wpmb 3 &
(B) 1 wpmbd 2 &
(C) 2 wpgid 3 &fl
D) 3 wpmb 4 &
(E) o&flevr Qsflweilcraned:
CCSEI-IAP25
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meviged Ga.er. LLLemll (@ue)
Vs. @bdw gambluid |
SMOGT  SIT6 (LSleys . SMSLD)
Vs. @pdw gerpluib

LUTESTUL S@béssd VS, LbgT
Lot '

dwaaled Hfurd Vs, @pdu
o &bl oemmId _ :



127. With reference to the functional items placed within the purview of
' municipalities, consider the following.

(i) Regulation of slaughter houses and tanlneries |

| (1) Safeguarding the interests of weaker séctions of society
(ii1) Small-scale industries, including_ food process.ing industries
(iv) Technical training and vocational education.

Which of the above is/are correct statements?
(A) (i) and (iv) are correct

(B) (i), (iii) and (iv) are correct

(C) (), (iii) and (iv) are correct

@ () and (i) are correct

(E) Answer not known
BarTLSlseflenr erdenedEer @eussLILIL([eTer Dswedur (Hé geariLsamert
QurmisseaienT, letreumeuaraihenmd smsHe Qamers.
(D) Qonifls  smLmsdr  wpmib (_Sgrrs'ﬁ ugafiG  Qarfihsrerosmar
RPRIGUHSSSD '
(1) sapssder naeianorar Gflefler posmsamant LTSS TSSE
(iil) 2 ewrey LFLLESSHID AsMfdaeT o drafi Sy sereflarar Qgmdser
(iv) Qsmfemru LWGHA wiHmib QgmfnHaeed
Cuopésam_eupmer erg)/ereneu sfuraraal ?
Q) () wpmn (v) sfwrareas
B) (i), (iii) wpmid (v) sfwurerereu
€)@, (ii) wpmw (iv) sfwurerme
D) @) womb (i) sNwurarena
(E) eer Qsflweicrena
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128. The Union Executivé consists of the

1. Council of Ministers
2. President of India
3. (Central Secretariat
4. Vice President

Choose the correct answer by using the code given below :

(A) 1only | A (B) 1and 2 only -
W€/ 1,2and 4 only (D) 1,2, 3 and 4 only
(E) - Answer not known | | _

wiHu Gewer 8 gepuler LIGSHws @@DQ@

S|MLOFFTENG (LD
Gl WIS SENCEUIT

w&Hlw Qeweasld

N N

&l WITE Slenan SenaaliT

Spsarapd eflesamuils LweTUHSS eflwimer aﬁ]smt_smmg; CaibsH&s !

(A) 1 wi@Ew _ - (B) A mmgjm 2 L (HIb |
C) 1,2 uwpmb 4wl Gid . (D) 1, 2, 3 whHmd 4 wLLHID
(E) el Ggflweierena :

129. What is the definition of a child under the POCSO Act?

(A) - Below 14 years of age . (B) Below 16'years of age
Below 18 years of age (D) Below 21 years of age

(E) Answer not known

POCSO s i_sder &b @@ GRboslar aueLIED Graan?

(A) 14 cawdip@ 2L UL L auiiaEr (B) 16 awdps &L'_L_M'_L_Q_H'TSSG"!T.

(C) 18 cuwdis 2L LI L GuiT&aET D) 21 euwPp@ 2L UL L auisar

_ (E) oQen_ Qg flweicrenay
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130. Assertion [A] : Every Citizen shall have the right to move freely

throughout the Territory of India or to reside and
settle in any part of the éountry.

Reason [R] :  This Right shall be subject to restrictions imposed

by the state in the interests of the general public
or for the protection of the interests of any
Scheduled Caste.

A0 [Alis true but [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation
of [A] |
(C) [A]is false [R] is true _ .
(D) Both [A] and [R] are true, but [R] is not the correct
explanation of [A] is correct
(E) Answer not known
| o [A] Db R0 Gl4LE@IEELD, @‘mg‘,]urr@%ar BleoriL@gudea
&&pSITons CQgdeayb, cgqeuengﬂ G'qWbreyLh, meﬂasasmm
2 flenio o g (p.
aryenrd [R] - @bs efleovwurag, Guoarfurer Qurg  waseler
Beven &mAD, ahs sTpssrLr CLrar Bever &(Hluib
Sirs els@d Bupsaman (mmgumme_}s@&:@) &L_L_J[_L_gj
(A)  [A] o, syerme> [R] sauy
B)  [A] wops [R] @ram@w of; Guogid [R] [A] e sflurer ederéa
L RGD |
(©)  [A] saug [R] &
(D) [A] wpmd [R] @raw@o &f; %GUUTGO [R] [A] e &rﬂu_mem aflerésid
SO eremig &l
(E) . e Qsfwelorene
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~ 131. Which of the following statements is incorrect about India’s Act

| East Policy?

\)A{ This policy promotes proactive diplomacy with political and
military intervention to curb insurgency in the Asia-Pacific
region

(B) This policy was originally conceived as an economic initiative
(C) This policy focuses on the extend .neighbourhood in
| Asia-Pacific region
(D) This policy promotes enhanced connectivity to Asia-Paciﬁc
region through North-Eastern Re_gi.on |

(E) Answer not known

Qeneumd sappisefiey @bHunailar Spsd Crrsflu Qamdresuile g,mgoﬁsm
RETDTGLD |
(A) <pfu vddas QrrpHugder SHeriéslapuw SLHUSES TS WwHDID

@ rremiey senauilenL Qsrar.  perapwphé TTRSEHTS®S
oerd; &6 HE D)

(B) @un@mrrgrrq @GBT@U_IJ'DEF]UJ#&; SHSLILLL S|
C) <fu uHbs ﬂqnﬁﬁugﬁm o gTaT UPHS &HOILLUDSSD Seuard
- Geazdug | |
D) <du v Grmpdusdar GobUESSILLL @evanriL eurles
QUL a‘é]g_ués@)‘ &Unﬁ,@;mgﬁm @ enemriienLl GLDLTJU@&;QUJQ}
(B) oL Gsfudme
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132. The objective of the National Human.Rig’hts Commission are :

(1) To strengthen the institutional arrangements through Whlch
human rights issues could be addressed in their entlrety in a

more focussed manner

(i) To look into allegations of excesses, independently of the

- government

(ii1) To contrast and strengthen the efforts that have already been

made in this direction.

(A) (), (ii) and (iii) are correct

(B) (i) and (iii) are correct

\}Z)’ (i) and (i1) are correct

(D) (1), (i) and (iii) are incorrect

(E) Answer not known

Caélw waeflg 2 fleposar Yeamugder Corbsnisdr :

(1) wells 2 Mevivser Wy earsamer QPURODLWTES @aLTeTs anqu_l Blmieuer
FHUTHSE®ET aUILILIHSSHISD

(1) orsrmssmss FTTLO6D, SAFSLILIGWITET GDDEFT (HSEET <DpTTiIS56D

(1) @ps Peoawkes gpsaGea Cup@srarertiur Hearer wpwhélsemar
Capubsd aiiubssiso

A) (@), (1) wpmbd (i) &

B) (i) whyo (iii) &M

(©) () wpmib (1) &M

@) G), Gi) wpgo (i) ge

(E) - v QgRwedichana

B 101 CCSEI-IAP25
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133. Match the following (Women Empowerment)

| ~ Name of the Act | | | Enacted Year
() Medical Termination of Pre_gnanéy Act 1. ~2013.
(b) National Food Security Act _ 2. 2016
(c) Rights of pefsons with Disabilities Act =~ 3. 2017
(@) Mental Health Care Act 4. 1971

@ & © @

@A 1 2 3 4
B 4 1 B 3
© 2 3 1. 4
3 4 2 1

(E) Answer not known

Spsam_apep AuInsEs (ALETSEsEE aifsmoeisse) |
_&l'_i_g;ﬂcsiﬂ Gluwir ' Qupoiu’ L o6t
(a) Lb@r&@éuaulq_u_zrrsﬁr .5®£5mmuq FU_LID 1. 2013
() Csélu oamay LTSI & LD 2. 2016
(c) wrppdpge Curpsstar 2 fawse FLLLD - 3. 20.17
4

(d) werpe LFTOALILY FLID 1971

@ ® © O

@1 2 3 4
- (B) 4 1 2 3
© 2 3 1 4
3 4 2 1

(B) el Osflueimana
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134. Which of the following 1s correctly pair/pairs?

o

Fifth Law Commission

Tenth Law Commission
Nineteenth Law Commission

Twentieth Law Commission

(D) 3and4

'(E) Answer not known

- KV.K. Sun‘dararxi

—  Justice K.K. Mathew

—  dJustice M. Jagannadha Rao

—  B.S. Chauhan

Yemeumeuareundled erg/eTenal sflunear @enent/@) aveamradr 2

1.
2
‘8.
4.
(A)
(B)

©
D)

(E)

%‘E;.QITGLIQJ FUL_ SenenTullb -
LUSSHTOIG FLL_ ,EDETLILD
u§,@§rr6hug,rr$ EF.I'_I_ <2 EDEWTILILD
GmusTaug) gL %GD-UGWTU_ILD

1 whgb 4

1 wpHmibd 2

2 wpmid 3
3 whmib 4

sllenL Gsflweldeame

103

—  Gs.69.Cs. spsyb
—  péursi. Cs.Cs. Guosu,
—  Bfluger.end. gaarams rre

—  Y.etelv. QFersmerr
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135. Assertion [A] : Art. 121 prohibits any discussion 1n parliament

with r.espect to the conduct of any Judge of the
Supreme Court or of a High Court in the
discharge of his duties.

Reason [R] : The objective of Art. 121 1s to ensure the

(A) [A] is true but [R] 1s false
\,@{ Both [A] and [R] are true; and [R] is correct explanatlon of [A]
(C) [A]is false; [R] 1s true '
D) Both [A] and [R] are true, but [R] is not the correct
explanation of [A] is correct
" (E) Answer not known
gmpm [A] . opsewilar Gfle; 121 oyearg e ssbiloapid @16’1}@6@
o wigHwerp BHudadr B verflurpmderm  CGurg
L BLSMS SOSSI, LT T(@RLOGTDHLD
Aeurdiuemg geL QewLdng. |
smyaud [R] . Gfley 121-er Goréswrag SHssmpuiearn a;fé;r,‘r_'r)élr}ﬁo
: whgid seraiusns e ng enagnEL.
A)  ampm [A] &l earmed smyewTd [R] S6uml
(B) amom [A] LoHHID SmyauTLh [R] @rem@w> &f; Gogib smyewd [R] sapm |
[A]aaasrrran gfluires aﬁlm&a;m ' '
(C) empp [A] seup smyend [R] &
(D)  sapm [A] wHoib sryewid [R] @na@b &f; e amad [R] ahg)QJ
[Alssrar sflurer slarésb e aearug #il
(E) &lenr Qsflwefleena

independénce and dignity of the Judiciary.
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136. Assertion [A] : Parliament has exclusive power to make any law

with respect to any matter not enumerated in the

conc'urrent list or state list

Reason [R] : VIII schedule of the constitution contains union

5

list, state list and concurrent list

[A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C) [A] is false but [R] is true
(D) Both [A] and [R] are true; but [R] is not the correct
explanation of [A]
- (E) Answer not known
@pp [A] 1 Quigiulque wHmL wrHle UL %tﬂq_:é.njmﬂsb
FEPULLIS Qamtigedr Cgmfims s b Gubdmibd @p
SdlsnysHamar LmyrEHweD CsTeTHerarg
amyewrd [R] : <siggeowliler VIII-eug i1 cuenen, WSHW UL g uieb,
wrHle  LLiguied wHmibd Curgiiuiguie e duieuhann
Qararr(Dererg
(A)  [A] #fl. syeme> [R] saup
(B) [A] wpgd [R] @ran@o &f; Guoaubd [R] aTeTLIg| [A]a;@ &Iﬂu_fﬂ'ﬁfr
alerésib.
©  [A] paug, yenre> [R] oA
(D) [A] wppb [R] @ranGo of; eamed [R] ms&fu@ [A] -5@ sfwrar
PAE AT
(E) &lenr Gzfwefdrens

105 CCSEI-IAP25

[Turn over



137. Match the Article :

(a) A_udit and Accounts of Panchayats

(b) Reservation of seats

() Electibns to the Panchayats
(d) Gram Sabha

(D)

(E) Answer not known

4

3 4
4 2
1 4
g 3

b  ©

W G e

(d)

FUL adSlsemerL @-QI_T@;E_'BQ]BS.

()
(b)
(©)
(d)

()
(B)
(©)

O
E)

CCSEI-IAP25

serflEms WHYID SETES LUEHSTUSS) &4

B 95680 GsmLiiLemLw LUEETUSS el

u@.scrru_l‘&@g Cairee aﬁ]g‘,\
Aymo geu g

(a)

2
3
2
4

efev Qgflwellrenen

(b)

3
4
1

2

(©)

4
2
4
1

(d)
1
1 :
3
3

106

> W b

B moRm

243 A
243 J
243 D
243 K

243 A

243 J

243 D
243 K



138. The False statements about the Legislative powers of the President
are T

() The Punchhi Commission has recommended that whenever any
state bill is sent to the President for his assent under Article
201, he should give his assent within a period of fifteen days.

(i) Article 111 of the constitution gives details regarding the
President’s role in the law making.

(iii)_Th_e' President is given the right to promulgate ordinances
under Article 123. :

V&I () only

(B) (i) and (iii) only -
(C) (1) and (ii) only

(D) (ii) and (iii) only
(E) Answer not known

Qpdlus  Guurss semeeufsr slLblwupmibd  flsmmd  Ghlss seuprer
. G DMIGETTETS) _ ' _

() epsemwOy e ooy 201-Qar &, eahs @@ wrflesHar Fi
areieyyh  eruGur@saand Guurss semeeaifer RUILISDISS
Si@iuiu@BdnCar QUQumpg  ereemd 15 B &@h&@G6T el
SPHGS s @UUsm eupns CeauarOb ear LEHF g aanrld
ufibgiersss) |

(1) swpseowiber s gy 111 eyerg, sl Bwuppede Gl WIT&S
sevaeurien Lkimss Agafleuns pL&E awriGADS. | '

(1il) sweewiy sl e gy 123 @er &, @ywurss SEDWCU(FEE; IS
Hlove Grsagesis GpLi9ss ofarybd Qarhsserens).

A) @) wEo

B) (@) wpmib (i1i) w o
© @ wpmw (1) wrEw
D) (Gi) wogw (1il) wr Ed
(BE) - e Qsfluieierena

B 107 CCSEI-IAP25
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139. Match the following :

(a) Justice should not be denied 1. Article 42

to anyone based on the grounds '
- of Economic (or) financial setbacks

(b) Establishment of Gram Panchayat 2. Article 43
by providing needful powers to
these self governing units :

(c) Favorable, Humanitariate _ 3. Article39A
situation to work and to provide '
maternity benefits to women

(d) To ensure work, pay, favourable - 4. Article 40
climate to Agricultural (or) -
Skillful Labourers
@ ® @ @

(A) 4 3 2 1

(B). 1 3 2 4

3 4 1 2

D) 2 3 4 1

(E) Answer not known

sRlwunareuhenn QUTHSSIS |

(a) QunEeTTsTy g B Guerm 1. eminy 42
SITE@TONS GTaumEGD &L bl - _
WHISSLILILOTETG eTeTLIS)

(b) Aymo LEEETWSE SSHEDET THUDSES Ceauar(@id, 2. 2@l 43
Sianeu &I L Fluler SiEGSSeTTs
QeweuL g Caemeumer SSISTyLD
auprisiuL. GalammhHibd ererig

() ueflyfeugpaner Hlwimuorer WHHILD 3. epuy39A
waflls Q&0 Gl e marssuus
Gauar(pid wHmid CLpsTe 2 S6fl
auprisliiL. Gouarhib ererugl

(d) Geuerrair Hd@g AsTNOHS c
OsmflerrisEnse Gaiame, aumpaLLS WD,
B QUTHENES STSMSS STEUE
Lieslyflujb @we 2 nd GauuGaarhb ererig)
@ @® @ @

A 4 3 2. 1

B) 1 3 2 4

C) 3 4 1 2

D) 2- 3 4 1

(E) &9 Qsflweiicrene -

4. o puy 40
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140. Which of the following statements is true about Article 21?

(1) This article reminds us of one of the famous clauses in Magna
 Carta.

(11) - The constitution does not confer right to die.

(111) Custodla] death is perhaps one of the worst crimes in a civilized

society governed by Administrative Law.

(C) () and (i11) only
(D) (i) and (iii)'on_ly

(E) Answer not known

oy&lwieven o9 er Gfey 21 g uHM Geraumd sappseie eg 2 @main?

(1) | LD&TEFTEMSSED o eirer &Liﬂﬁi@ua;aﬂm HspGunn gatan Ebs |51|ﬂ6q
BLD& S, lﬁsmamgbt_(aeﬁmgﬁ

() ewfueemwily siLib @néeb o fambeaw GIJIEQFEIEGQGIDGEJGD,

(1) Hlopaurss s ssme %muu@'\[e prafles sWwsTusHD Sreud WwyaD

fls Guorswrer @GHohsD GeTDIELD.
(A) (1) wlEw
B) @) wppid (i) wrew
(©) (@) wpmw (iii) LD
O) (i) wpgo (i) wr@
(B) alor Gpfuciame

B 109 CCSEI-1IAP25
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'141. Read the following Assertion [A] and Reason [R] and find the correct

answer .

Assertion [A] : Considering apart from, citizenship among in India,

there are two types of Aliens, Friendly Aliens and

Enemy Aliens.

Reason [R] : The citizens of enemy Aliens also enjoys protection

(A)
B)

against arrest and detention under Article 22.

[A] and [R] are correct; [R] is the correct explanation of [A]

[A] and [R] are correct; [R] is not correct explanation of [A]

€ [A] is correct; [R] is false

(D)

[R] is correct; [A] 18 false

(E) Answer not known

ampm [A] sryeerd [R] auews elarr, FRlwrer eflenL_eapul @g;r'rﬁ@g;@ésa; :

sapm [Al . @pdurede @mEED Gguflabsmand sLbH UMMESD

QuTpg), BL U s Serafluisar, erdlil auams S| 6b1aufl LI &6
e @a( cuamsudant @ msdlannert.

smpewd [R] @ e eueastiul L sianaflwisd S THSeTET (GlqLDEEEHES,

(A)

(B)

©)
D)
(E)

DF@WLLIL L 2] 22—6r Ep @s5EG THITS|D,
sHUY STeURISEE agyrsalb LTgSmiemL QumSleTmerir.

[A] wpmw [R] erérm @r,reo'w@Lb sf; [R] erarug [A] &g sflumen
eNeT&SLOMEGHLD : -

[A] .LDQ')QJL'D [R] erarm @rar(id #f: [R] 'Gréisrugl [A] &5 sflwurer
eleTS&HLD66

[A] eramug &, [R] ererug soum
[R] eramuigy &, [A] eretruig) seum
ellent_ G]grﬂu_lsﬁlsbméo '
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142. Match the followmg parts of the Indian Constitution with their
corresponding subject-matter.

(a) Part XIV 1. Elections
(b) Part XV 2. Amendment of the Constitution
(c) Part XVIII 3. Services under the Union and States

(d) Part XX _ 4. Emergency provisions

@ ® © @
VO 3 1 4
B 2 4 1.
(C) 4 2 1
D) 1 4 3
(E) Answer not known

DO O W o

Spssam. @bHu wrsmwLfar LGHsmer ojeubdlar glepamt Ol (e L e

QUGS :

(a) ued XIV 1. GCaigeser

) usd XV 2. sl st Hrssd

() u@Ed XVIII 3. wsHw whHmid wrHlers Lellser
(d) ugd XX 4. Opmésy Ml <ybsrsar

@ ® © @

(A) 3 1. 4 2
(B) 2 4 1 3
C) 4 2 1 3
D) 1 4 3 2

(B) oo Qzfwefevene

B | | - 111 - CCSEI-IAP25
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143. “Co-operative Societies” gave a constitutional status under

&7 Article 243 — ZH to 243 — ZT
(B) Article 243 — PH to 243 - ZA
(C) Article 243 — NH to 243 — ZH
(D) Article 243 — HZ to 243 — ZH
(E) Answer not known |
“anl_ [De| FESHSEREE GBS TFeoLL Gfleder S Sirdueenliy 5&8
eupmIGLILIL (HeTerg)
(A) ayss 243 — ZH to 243 - ZT
(B) euss 243 — PH to 243 — ZA
(C) suss 243 — NH to 243 — ZH
(D) syss 243 — HZ to 243 — ZH
(BE) &fevr Qsflweierena

144. Match the List I with List IT:

(a) Jal Jeevan Mission 1. 2014
(b) Beti Bachao Betipadhao 2. 2019
(c) Swachh Bharat Abhiyan - 3. 1995
(d) National Social Assistance Programme 4. 2015
L@ ® © @

w2 4 1 3
® 2 1 3 4
1 - 2 . 3~ 4
an & .88 4
(E) Answer not known
L iquwied I ntiquie IT e e QuUTHSSIS :
(@) GubiT cuprised S 1. 2014
() aeers STULTHY LEDETL Lig&s e gL ib 2. 2019
() gmierw @bHwr HLib 3. 1995
(d) Csélu seps 2 56ls FLb 4. 2015

@ ® © O
A 2 4 1 3
(B) 2 13 4
© 1 2 3 4
D) 4 3 2 1
(E) &fe Qsflweiierenaw
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145. Consider the following statements about Women Helpline. Which |

among the following statement is incorrect? -

@)

®)

©)

&

(E)

Provide toll-free 24 hours telecom service to women affected by

conflicts seeking support and information

Facilitate crisis and non-crisis intervention through referral to

the appropriate agenc1es

Provide information about appropriate -Slipport services,
government schemes available to the women affected by

violence

Provide integrat'ed support and assistance to -Womon affected

by violence in public spaces onIy

Answer not known

Queirser 2 g6l erer LHBlus 196mau(mHid snhmisemers srems. (Geralhearedibled

15 sMwLraTgae ?

(A)

®)
©
)

()

wpramufeusrd, urdésiulL  QuaTsErEE ST  bHmID
saaudsmears CsBib 24 wallCrr sl ambldar COsmamas GFmi
G&a)mmu_i QULPTEIESE

QuIrmSSLoTEsT ﬁgmmm&@aa@ urﬂlr_r,gysml;ruug,w epeULD Q‘[r;(r_r)asasmr oHmiLD
QBHEsY DTS Samauil e eraflgns@se

mdn@m(mmrrd} urdlésiuc L Guengd@s J.ﬂsm_-és@m- Cummgsomer
2576 Cameusdr, oirasd S L _miger L.i'fj)'lﬂu_i SHEUDSGENET 6L &S0
Qurg @Lmisafldr LHLD - mm@ommmnm Ll L Gumras@asg)
P(Hhadmahs ST OHDID &g,s:&lmu_l a.neprmgg;a)

dileL Cgflweildama

113 ' CCSEI-IAP25
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146. What are the objectives of public distribution sy'stem? |
(i) Itis based on income status
(i) It focuses on the families of Military Personnel

@(iii) It ensures by making available essential commodities of good
quality at affordable Prices every month

(A) () and (i) only (B) (i1) only

\4€) () and (iii) only (D) (iii) only
(E) Answer not known

Qurg NHCGwiTs penpulles @lr_r;rrésar'élasdfsrmm?

Q) @a aumworer Haowuiar siglineL e S@bbgerers)

i) @ UIT@)_]G;I aigisaflen G@HIDURISMET @LOWILONES Clare (Hiarerg)

(111) @gj @@G]Gurr@ wrgpb e elamauid poo sromar Dgluredlul
QAuimaETsmaTs HoLsss Qaliauger ppold 2 nf Caldng

@) @) opgd () wrEn B) (i) wrEw

©) () wppo (i) ween D) @Gi) vrGib

(E) ofenr. Qzflueidveme

147. The amount given under the Dr. Muthulakshmi Reddy Maternity
Benefit Scheme has been increased since 2018 to Rs. |

\;Af 18,000/ - (B) 24,000/-
(C) 12,000/- (D) 32,000/-
(E) Answer not known

pmsget wsgeorss Qrig wsiCup pesdlLsdasn 2018 g
o wigsliLL HeTer 2 6ilg Cgres epLmL

(A) 18,000/- (B) 24,000/-

(C) 12,000/- | (D) 32,000/-

(E) e Agflweideme
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148. Match the welfare schemes with its beneficiaries .

(a) Pradhan Mantri Jan Dhan 1. Farmers (especially small
Yojana (PMJDY). and marginal farmers)
'(b) Mahatma Gandhi National 2. Women from rural and
Rural Employment Guarantee remote areas
Act MGNREGA) S,
(c) Pradhan Mantri Ujjwala 3. Low-income households
Yojana (PMUY) and economically weaker
_ sections
(d) Pradhan Mantri Fasal 4. Rural households living
Bima Yojana (PMFBY) - Below the Poverty Line
‘ (BPL)
@ ® © (@
3 2 4 1
B 2 3 1. 4
© 1 3 4 2
D) 4 1 3 2

(E) Answer not known
Bl L nismer Fflwrer Lwamells@Ler @ameardg S L ab
(@) Qygrer wHAN ger ger Gurgarr 1. eleusrlser (GHuurs A

(PMJDY) ' HnIb & eNeusrulser)

(b) wargwm 5n§£ Gzl Symoriym 2. Sgrodyp wHmb Osrees
CauenaveumiliiL 2 lreunss gl uggsamers Carpbs
g b (MGNREGA) - QueiTser |

(©) YGrsrer wHAMN 2 Haurer 3. GMDHS GUHLOTEITEISEDETE
Guirgerr (PMUY) ' Qsrar @@ bUBSET HDID

Qumrmerngmy Féwims
BadleuenL_[b% LO&SSHET
(d) Yysrer wHHM SHugd 4. ‘aupews CamlighH@ S
Swr Gurgerr (PMFBY) _ aum(pLd AFTLIL|D & LbLIkIGET
@& b @© @
A) 3 2 E 1
B 2 3 1 4
©) 1 3 4 2
2

D) 4 1 3
(E) oflen Qsflwaiidene

B | | 115 . | CCSEL-IAP25
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149.  Which of the following is incbrrectly paired?

(1) CDI .- Child Development Index

(2) ABC - Achievements of Basic Children Needs

3 MPI - Multidimensional Poverty Index

(4) HDI - — Human Development Identification
S (@and@ ®B) (1) and (3)

(C) (1) and (4) (D) (2) and (3)
" (E) Answer not known : :

Qénau(HeuaTeLDNIET cTaa Seups AUTHHESwaTaTg ?

(1) CDI - @Gubmssdr earissl GHuie

(2) ABC - @©ubossden sigliLoLs Camasaflear srsmanser
3) MPI - uve uflorer apewn GHUE

(49 HDI - wais cuaii&d) SieLwimerb Srawrd

&) (2) vpgid (4) B) (1) wpgid (3)

© (1) wogod (4) | (D) () wppid> (3)

(E) &fer Gsflwaierane

'150. Who introduced the modified scheme of elementary education which
provided part-time learning of hereditary occupations? '

(A) K. Kamaraj  \® C.Rajagopalachari
(C) T.Prakasam (D) Raja of Panagal
(E) Answer not known '

LIFIbLIen TS Qg mcosemearTd L& Cryors FH (LD cuemaUSled
wrpflwuewssiul L QT _&s shells SlLsmg SiHpsiLpSSweut wri?
(A) K. smogms _ (B) C. prgCGasrunemnggm

(C) T. Qpsred (D) uerse siyar

(E) &fevr Gzflwsllcrene -
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151. Choose the right matches :

(1) Shyama Prasad Mukherji — Integrated Clué_ter Action
Rurban Mission Plans

(2) Saansad Adharsh Gram Yojana — Skill training to global
' ' standards

(3) Rashtriya Gram Swaraj Abhiyan — E-governance in
| ' Panchayats

(4) Deen Dayal Antyodaya Yojana — Poverty alleviation
- through SHGs

(A) (1) and (2) are correct
(B) (1) and (3) are correct
© '(2) and (3) are correct
"QBS’ (1) and (4) are correct .

(E) Answer not known

Fiflwimeor G]urr@‘ej,grm_esmm (S{g,ﬁm@g@é;a;mm.

(1)  edywmor Gyeng wsigd miLer Wager — @ERS@aHES SerevLi
Qewed i1 miger

- (2) sTengS sy Symo Cummernt — sasamelu FrsHhE SHoer
' _ L pél S
(3)  greiggfwur Symb evaurrgy o1Gwmedr  —  LEgETLSFHISD Blararem)
' | 24, (EHNE
(4)  Sar pumer @ipsCursLr Gurmam  — sW 25608 GEsET apeLD
| aupieno ity

@) (1) wpps (2) o
B) (1) wppi> (3) o
© @ oo (3) sf
D) (1) wpps (4) o
(B) e Gsflueidome

B | . 117 CCSEL-IAP25
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152. Which among the following is incorrectly pair_ed?

®)
(i1)
(i)
(iv)

A)
o
D)
(E)

Babu Jagjivan Ram
Chhatrawas Yojana

Atal Vayo Abhyuday
Yojana

Pradhan Mantri Jan Vikas
Karyakram '

Pradhan Mantri Janjatiya

Vikas Mission

(i1) only

(i) and (ii) only
(1i1) only

(iv) only

Answer not known

Construction of hostels

for SC students

Improving the quality
of life of senior citizens .
Socio economic
development of refugees
Strengthening tribal
entrepreneurship

\QetreupeuaTaldMIET SeupTs GeanssliLL(heTargl ergl?

() umy gégedr b FSTaUTED |
[

() eiLd alur siysts Sib
(i) YGgsw wHAM ger ellsTev

- srrwélyd :
(iv) Wrsw wHHM perpSu alsre

@ussD '
(A) (11) w@bd
(B) (@) wpmw (1) wrGb
(C) (iil) wr @
D) (@) b
(E) ofen Qsflweiicrene
118

CCSEI-IAP25

LU g WIGSI&T LD EmTaU T (@hdsaTe
A dHser sL(Hseo

Wpds Glgossaflen aurpsamss
srsmg CobUOSSSD

L E seps-QUITHETTST
auaTi&sl . _
L@ lq W arfler Qgmble
(penanenal euIIL(HSHIFD



153. Find the elements of India’s climate action :

(1)
(i)

(111)
(iv)
A)
(B)
©)

5

(E)

Net-Zero Emissions by 2070

Increase Non-Fossil Energy Capacity and Renewable energy

share
Planting trees and stopping deforestation

Reduce Carbon Intensity and Carbon Emissions

(1) and (ii) only

(11), (iii) and (iv) only
@), (iii) and (iv) only
@), (i) and (iv) only

Answer not known

@Qipdwrefer srablame ll'_F;LG]JLq.JSGi’)&SU.‘.I]@T SDIBET WITenal ?

- (@
(1)

(i)
(iv)
A)
(B)
©
(D)
(E)

20706@sr sy uhgu o Bipa;

qmgpuq@mm‘m < Hmed e whHmid qéjﬁlﬁ]éi&é}g;é&&i erflggsdluflen Likiens
<Slafsse0 | _
LOPTAISE®ET HHGSED LOHHILD 5rrL|_@u6mu Hlmi&gised

a;rﬁm Saﬁlm.b wHmib sflw a@@@mé; GODSSD

() wppi> (i) wr G '

(i1), (iii) womw (V) wr @

(1), (1i1) LoHDILD (1v) @b

@, (ii) wppid (v), - Gid

flen Gz flweiledrene

119 v CCSEI-IAP25
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154. Assertion [A] : A recent study by the World Heaith Organization

(WHO) commissioned by the Jal Shakti Ministry
reported that Jal Jeevan Mission would succeed in
averting close to 4,00,000 deaths from diarrheal
diseases, saving approximately 14 million DALYS.

Reason [R]  : It is envisioned by the Department of Drinking

(A) [A] is true but [R] is false : .
M Both [A] and [R] are true; and [R] is the correct explanation
of [A] _ : &
(C) [A]is false, [R] is true : ; :
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] | |
(E) Answer not known
sapm [A] md 565 S@viFsssTE BufEsILLL 2®& &FETHT]
aenider slusHu  piedd, @ geuer  lager
al@nys  Gursg Cprusamed  ghHUGD 4,00,000
@ouiusmars sEUILSD CeupHl GugId eTampib, g 14
LS\ edlwer DALYS IO &FILIHSSID GrETmILD
eSS LI LG ' s '
smyewrd [R] : 2024 oyib ETHESET Agmoiyn @pSwirelild e erer
: ' Soasg  SAEsEREED  galiul Gbr Gl
@eariiser EpeLd  LMGSTLITer whmd  Gurgorer
Gy ephs GgbT LOYD HSTSTTS  FDUITD
S Bl tul HeTerg). '
A) [A] &, emed [R] seumi _
B) [A] wpmb [R] @ran@ind &fl, whHmibd [R] ererug [A] fpe sflwmen
eTeT&SOMELD s :
©) [A] pougs, gemme> [R] &l , -
D) [A] wompb [R] @rew@ #fl, e [R] erarug [A] 9@ efwmen
eflersELoeven
(B) e Qsfweldme

water and sanitation to provide safe and adequate
drinking water through individual household tap
connections by 2024 to all households in rural
India. ' : :

CCSEL-IAP25 120 | A B



155. Match the following :

Schemes e : Beneficiary

(a) Kalaignar Magalir 1. Woman to travel in Govt.
Urimai Thittam bus at free of cost _

(b) Tamil Puthalvan 2. Woman college students

who studied in Govt.
_ schools till 12th standard
(¢) Vidiyal Payanam 3. Woman head in a family
(d) Pudumai Penn Thittam - 4, College students who one
studying in Government
and Government aided
colleges

_ @ ®m @© @
V_(K) 3 4 1 2
B 2 1 4 3
© 1 3 2 4
D) 4 2 3 1
(E) Answer not known

ereumeuaraupenm Ffluirs QummsHs smLejb
S (MY - vwerreflger
() sowe vaali o Aowns HLb 1. Quans@Epssnar @eoals
' 2ir& CumBEIL LwewTd
(b) s ysdeuen - 2, 12 eu@ly aiey oiys
veTaflsetied Ligss Cluiesmr
_ SHEOQIT LD & 6T
(c) afliquied Lwentid 3. Quer @&HbUS sl
(d) ygiewworr Quesr S b 4. 27 HOID SiTEH 2 S6SL
Qumib  seg@rfludled  Lig&ED

LDTERT 6L T8 (6Th & (&)

@ ®  (© (@
A 3 4 1 9
B) 2 1 4 .8
©1 3 2 4
D) 4 2 3 1
(E) e Gsflueldena

B 121 " CCSEI-IAP25
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156. Assertion [A] : Tamil Nadu Government replaced Rupee symbol

(%) with Tamil letter (em.) in its budget 2025-26. /

Reason [R] . To ensure the widespread development of Tamil

(A)
B)

©

V.3

Nadu to benefit all.

[A] is frue but [R] is false

Both [A] and [R] are true; but [R] is not the correct explanation
of [A] is correct ' '

[A] 1s fa'lse, [R] 1s true

Both [A] and [R] are true; and [R] is the correct explenation
of [A]

.'(E) ~ Answer not known
aai,r_by [A] = guShEppsrr@ 2T&H  STG 2025-26 'uLG]ggl'_lq_s'u
(?) Aerangews @sell (), AsHS LUlons g_,l.ﬂgp TPSSTET
e (epLImil) wrhblujarerg. |
smyemrd [R] : SmaraE@GD  Lweareis@hd - euamasuien ‘Q").LIS]IEUQ [BITL_ g 607
| Leuerer aueTidflanw o mifl Qeiige.
&) [A] o, e [R] saup
(B) [A] wpgp [R] @ran@wn &f; <pemed [R] ererug [A] ererugh&
; sRlwmer eleT&sD e erarlgl &l
- (© [Al seup. [R] sl
D) [A] wpgn [R] @rean@n &fl; Cogib [R] eremug [A] efler sflwimen
deré&d ' '
(E)

v Gzflweiidene
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157. Match the following :

(a)
(b)

(VX

(d)

ez 1 a4

(B)

(C) 2 1 3
D) 2 4 1

®

District with highest sex ratio

District with lowest sex ratio

District with highest child sex ratio

District with lowest child sex ratio

@ (® @© @

1 -2 3

W b b W

Answer not known

sflwrereuhenm @Uﬂ@ﬁ@&i;

(a)

(b)

e @uer efldgi .@;gf,]a;m

2 GTET WTeil_ L LD

<& Guer eldshd @opaurs

2 @TeT el L b

(©
(d)
(A)

(B)
©)

<fs @wpes Doy aﬂéé]g,Lb

D _GTeT LOMeUL_L LD

G®PHS Gebes Ay s

D @TeT LOmeUL L LD

@ ® © @

2 1 4 3
1 2 3 4
2 N - 4

3

M 2 4 1

(E)

allenL Gz flwelidane

123

L

Theni

The Nilgiris
Cuddalore
The Nilgiris

Ggefl

Ewﬁﬂ

&L_GQIIT

Badlif

CCSEI-IAP25
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158. Tamil Nadu Chief Minister’s Solar Powered Green House Scheme

(CMSPGHS) was launched for the benefit of the

Poor in rural areas
(B) Poor in the semi urban areas
(C) Poor in the small town
(D) Salaried class people
(E) Answer not known

s8ips pswewssfar  @filu gl @um@d usmw &R L L1b

QsmL_raIsLULIL L g :

(A)  Aymoliyp T WESEHESTE

(B) Al F&ILD G ESEHEETS
(C) psiiLD g WE&EHEETS

(D) swuer auGLIL WESEHESTS

(E) ofenr GaMuiaiicrene

159. Due to Global warming the following | are badly affected.

(i) Agriculture and Environment

(i) Agriculture and Industry

(iii) Agriculture, Horticulture and Environment
(iv) * Industry

(&), () and (i) (B) () and (iii)
M€ (i) alone (D) ()and (v)

(E) Answer not known

el Qautuneieugred — EPSSEHTL.  HIE@DSET
urdlésiuBGE g |
()  efleusmwid wHHID &HHIFSHHD
(i) efeusmud Hmb GsTHéd oo
(i) eVeusmuid, Cam L és@me LHYID FHNESHPD

- (iv) Qsmfnsieop
A) @) wpgd (11) (B @) wppw (i)
(C) (11) i Ew | (D) @) wppid (V)
(E) vt QgMuiaiidrane

CCSEI-IAP25 | 124
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160. Which of the following statements are true about Child
Development Index (CDI)? | |

(1)
(1)

(i)
@)
®)

CDI was developed by the ‘Save the Children’ campaign.

Health, Nutrition and Education are the three indicators

lconventionally used for measuring CDI.

CDI is calculated in the same way as that of HDI.
(11) and (ii1) only

(1) and (i1) only

(1) and (ii1) only

‘/zf @), (ii) and (iii)

(E) Answer not known

Gpbag aeriésl GHUE (CDI) uphu Gereumd sappiseiies erg o a@maio?

@)
(i)

(11i)
(4)
B)
(0

D).

(E)

‘Gbmgamas sruGUMD Grsemrssmed CDI & (HeUTEELILLLg).
CDI g wwel@agiE apssorss LLEULESSILEL  apery |
GOST 9. &6T HETFMID, 26’ | &5dg LHHID Goedl <@ '
HDI GSGGETEiiﬁl_Llu@Lb <165 aufludleh CDI samsdl_LiLGdps.
(1) whmb ({il) w b

() wppi (i) e e

@) wHmib (1ii) wr @

(®), (1) wpmud (iii)

ev s flwelerene
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161. Assertion [A] : The poverty line is determined on the basis of

calorie requirements.

4

Reason [R] ~ : The poverty line is the mmlmum income required

-

to meet the basic needs of an individual whlch

includes food, clothing and shelter.

Bofh [A] and [R] are true and [R] is the correct explanation
of [A] '

B) [A] is true but [R] is false
(C) [A] is false but [R] 1s true
(D) Both [A] and [R] are true but [R] is not the correct explanatmn
of [A]
(E) Answer not known
sapm [A] . apews Gsrh  eTErug  sGanf  CGaeveusaflen
@igriveL e SiorelssiuG DS '
smyenrd [R] 1 eaupews Car® Greﬁrﬁgj @ gsuﬂrfﬁuﬁlm Sig LG
: Cameusmart Lisd Celws GCseeiumar GSODHSUL &
amLTEIONEGD. Q& ey, 2L DHYID g,rsl@m @b
.%ailu_:meu D|L_TBI(GLD. :
(A) spp [A] wppb smamd [R] @rasr@id &fl, Cugid smemd [R] sbHm
[Alssrer eflwmear eflarésLmEGLD. | "
(B) éhﬁ)g)] [A] &f eyarmme smyamd [R] seum.
: (C) ampm [A] soum yamed smyewrd [R] &f.
D) by [A] wpgd sryeend [R] @ran@b &M, gpeme sryewrd [R] sabms
[Alssrer sflwunar efleréswae
(E) ol Gsflweiidene
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162. Arrange the following programmes in chronological order:

(1) Pradhan Mantri Awas Yojana - Gramin
| (2) Deen Dayal Upadhayaya Grameen Kaushalya Yojana
(3 - Pradhan Manthri Gram Sadak Yojana
(4) Samagra Shiksha Abhiyan

@ 0,06,
® ©, 1)@, @
© ©,®,0

VB 3),@, 0, @

(E). Answer not known

19l 6breu(mHLD ﬁqsbeamerré; sreeflensliig @;@mé;&mm.

(1)  Qygrer wpHN seure Cuirggern - SymiSar

(2) e swner e umgmumw HymbSer Gla;qT&@u_l Cuimggarm
(3) ggmer wHSHM Hgmd ses Cuirgerr

(4). F0dy Héagm nQwmer

@ ), @, ),
B (3), 1), @, @
© ®),®, 1),
D 3, @), ), @
(E) ofen Qsfweicrene
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163. The main aim of MUDRA Bank is to :

Provide financial assistance to develop Health Industry.
Provide credit to Micro, Small and Medium enterprises.
Provide Credit to develop Tourism Indus'try. .

Provide financial assistance to rural development.

(i), (ii) and (v)

\ﬁf (i1) alone

©
D)

(E)

@), (11) and (111)
(i) and (i)

Answer not known

MUDRA auriduQan Qpaaé]m Gpr&EsLTaTS)

)

(id)
(iii)
(iv)
&)
(B)
(©)
D)

'(E)'

m@g,gjmg, glepeni Cuu@ss H& 256 G]&u_lg,@)

Ay, Gpl LHRD FOSET ABTIDSODEES sLdr APBESD
&gbgjmwg'gwmmm Cobu®ss &L sulc.prEJ@g,s'\)
QEUGS-.Q.IGTI:I'.&&E]SS@ 58 2 gl Ceiige

), (i) woppi> ()

(11) wr_Hb

@), (i) wpgw (i)

(i) opmin (i)

el G]g,sﬂma‘jlsbmcu. :
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164. Arrange chronological order/event :

D
2)
©3)
(4)
W)
(B)
o
(E)

Spaseur_ Hape|seer s auflevsiL(sgs :

(1)
@
3)
@
@

®)
©)
@)
(E)

Mahalwari system
Ryotwari system

Zamindari system

Gramdan movement

@, ®), @, (1)
®), @, @, ()
®, @, O, @
@, @, @), @

Answer not known

ameeunfl wpenm
yugleurtl aperp
gbangnfl e
yBgnand e
4@, 3), 2, (1)
(3), (2), (4), (1)

(3,@, 0, @

), (D), 3), 4)
SlenL G];ggrﬂu_iaﬁld:eﬁa)
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165. Which of the following statements ‘are true about the Fifteenth

Finance Commission?  /
(@) The criterion of demographic performance has been introduced
(i) The criterion of Fiscal Discipline is given 10% weightage

(iii) The criterion of Forest cover is replaced with Forest and

Ecology
(A) (@) and (i) only
(B) (ii) and (iii) only
\jz{ (i) and (iii) only
' D) (@), (i) and (id)
(E) Answer not known

udeapsteug HE ye@mrusms UHDw 1966 (HLD aai,rj)gjasaﬂd) eTana

©_6H0T6m LD TETENGL ?

@) ke Qsens Qewed Hpaissnear Liaraflaar P psrILEESILLDETens).
() PP pusssdde 10% udralisdr aiptisiuGaps) |

(i) sr@safer Loy aaub ARbE LSS sTH LHRID ERalud e

9fley SPpaiiLBSSrILL[HeTerg |

A) ) wpp ) w6

B) (i) wppio (i) oo

(C) () wppud (111) G

M) (@), (i) whmwo (ii1)

(E)  elen Qsflweiicbans
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166. Identify the correct statement

(a) The rate at which the RBI is wiHihg to borrow from the
commercial banks is called reverse repo rate

~(b) If the RBI increases repo rate, it makes borrowing expensive
| for banks vice versa |

(c) Repo rate is a tool to control inflation

(d) A lower reverse repo rate decrease inflation
VQK{ . (a), (b) and (c) are correct

(B) (b), (c) and (d) are correct

(C) (a), (c) and (d) are correct

(D) (a), (b) and (d) are correct

(E) Answer not known

sflwrer cunsdlugseans sem e

(@) wafls cndsefllBlBhg aumigb s aisatar RBI Gar(ss aﬁ](_rbLi_aqu
el g 698gCw BSer ApuCur cldgib

(b) QuuCun Nfssms @i,élasﬂuug,ﬁ oD SL6T eumkiGeagharear Qewal
- ofsfsdpg, s auriiGeumss GonsSns N

(c) | Lanaisssmss sHUUESSID smelurs QriGur s o drerg
(d) ©opss BSer AruGur ez uaTeisssmss G@DSEDS

@) (), () wppd (©) &
B ), © wopd (d) &
(© @, © oppo @ s
D) (@), (b) wpgwd (d) of
(E) oL Osfusidvame

B HINPA 181 | CCSEI-IAP25
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167. Which of the following statements are/is true about “Niti Aayog”? /[ |

(i) Niti Aayog has been instituted to replace the Planning

Commission
(ii) It has no power to allocate funds
(iii) Niti Aayog is a think-tank
(iv) President of India is the Chairperson of Niti Aayog
(A) (i) and Gv)
(B) (iv) only |
© (1) and (iv)

VBT ), (D) and i)

(E) Answer not known

“B8  CGurs”  updl  Gera@eeeuppeT  aThsEs SaHml/ FDHMSET
2 GRTENLOLITETENE ? -

() Sris guadpey uars B wGurs d@wssiuLgl
(i) sephse fH goss s Goma

(iii) HE 2Curs @ dpsmars GW |

(iv) @pdureden Guurss soealr H Cursdldr saameul
(A) (i) wpmd @)

(B) (@iv) v

©) (@) wppd (iv)

(D) (@), (1) whmwb (1i1)

(E) ofen Oaflweidvene
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168. Choose the right answer among type :

(@)
(i1)

(i)

(iv)

A) -

(B)

o

(D)
(E)

The Ashoka’s Inscription was found at Brahmagiri.

Chinnamanur Seppedu mentioned Thalaiyalanganathu
Pandian Nedunchezhien. |

Thirukkovilur Inscription mentions the death of Avvayar,
which was published by T.A. Gopinathanayar.

Ancient inscriptions not available in Karnataka till AD 10.
(1) and (i11) only right

(1) and (iv) only right

(i) and (ii) only right

(111) and (iv) only right -

Answer not known

Yerau(meuaTeupmieT Ffluneraiheans s@rLdls.

@

2ACGanan  erpsHt  Aunlser ewgt ArmpHugdd  Gmbwdhuia

- Heosdanng.

(i1)
(iii)
(iv)

(A)
B)
(©)
()
(E)

Sl eTLOETITE QeriGum EHVWTOBRISTAISSHIL -~ LITEHTIq U6
QO eraflumers GhlLidhSemmg.

8. Comlprsprur udiilss HmpsCarelant erpss@urd gearamau
2 W9 ZIDHENSE @gﬂuﬂ@ﬁ@ﬂm@

£.9. 10 <D @rmg)rram@ auemyuiler e BMlge  GIEE6M

- flen_sselevane.

(1) whmd (1i1) v b &
(ii) wpmid (v) wi @b &
(1) wpmd (A1) wrEw &M
(1i1) wHmb (V) wr Eb &
eflen Qgflweldene
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169. Assertioﬁ [A] : C.N. Annadural was fascinated by the self respect

movement joined the Drav1dar Kazhagam Party.

Reason [R] . C.N. Annadurai treated Justice Party and

~ Dravidar Kazhagam equally. /

J

M [A] is true, [R] is false

(B)
(©
)

[A] and [R] are true, [R] is cérrect explanation of [A]
[A] is false, [R] is true |

[A] and [R] are true [R] i.s not correct explanation of [A]

(E) Answer not known

son [A] : Aerar. sewenmgieny,  swofuTDS QUEHSSTE

saiibSps&sul @, ﬁcrrreﬂu‘r sasHler Carpbs.

smyenrd [R] . ferer.  oewemngiey, BHEsLE  wHOID SymedlLi

@)
®)
©
D)
(®)

FPEE®S SOLNEG BLSHanT.
[A] &, [R] saum
[A] _gmgjm-[R] s , [R], [A] ssmar sflwurer eflaméstd
[A] ﬁsﬁgn- [R] &l
[A] wpgid [R] o, [R], [A] ssnar siwrer Aerissid 210

efenL Ggiﬂmeﬁ]é})mw
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170. Which of the following statements are true regarding Vellore

Mutiny? /

.(i)' - The Mutiny was lasted for eight hours.

(i) The Mutiny was lost its.importance due to local treachery.

(iii)) After the Mutiny, the family of Tippu was transferred to
Madras. _ | _ :

(iv) The British captured more than 2000 Indian Soldiers.

() @) only

(B) (i) and (iii) only

W€ (), (i) and (iv) only

(D) (i), (iii) and (iv) only

(E) Answer not known

Gereumd  eursdwiisafle Ga.lgmrr gsbd GsmLimyeLw o @rewwrer

SnppTeU.

1) pss swsb Gri;@ wenfl CrIL euenry 'If;lq.éﬂ'ig;@.

(i) <obss swsb o dHTE @(3wa;§§rre‘u Qs WEE LGS uSemer
Brbss!-

(iii) <ps swssdbe G Sy a;d)g,rrsaﬂm @@Lnum G&mww&;@
OIHOUILILLg).

(iv) <rdCawisedr 2,000-5@¢ CupurL @pdu  Auumisear
Yig SSiTEer. _

). @it -

B) (@) wppb (i) wLEL

(€) @), (i1) wppd (1v) v E

(D) (Gil), (i) wpgid> (iv) e Gud

(B) e Qsflueldame '
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171. Arrange the following events in their chronological order. (’K"

(1)
@

3)
4

Wy
(B)
(©)
(D)

(E)

Periyar published the book ‘Pen Yaen Adimaiyanaal’.
Periyar started the . Tamil bimonthly ‘Unmai’ at
Tiruchirappalli. :

Periyar was arrested for .publishing a Tamil translation of
Bhagat Singh’s pamphlet ‘Why I am An Atheist’.

The title ‘Periyar’ was conferred by the Tamilnadu Women
Conference held in Madras. '

1), 3), (4), )

1), @, 3, @)

@), (1), (2), 3
4), 3), (2), (1)

Answer not known

_QG&T@J@LD Hapesmar Seupdlar sraeuilasrilig wrﬂm&@u@(&;gmm.

®
@
3)
@
@)
(B)
©)

(D)
(E)

QUAWLTT ‘QUT G6T i EOWTEITET TeTD LiSS55605 Qeuefud_Lmi.

QuAlunit ‘e e’ aem sl @mors @sowp Hmsflymivereniudie
Qgm_radlermi.

uss SAmdlen ‘e Gen prgdeer  eremm  giar([H ﬂg&qgﬁ,]w I

@mn@@utﬂr‘rumu GQeuefudi L ghers Quilum magé Cenutur LT

Qeerananude paLQuDD SWODHIH GUETSET OTHTL g ‘Quiflw’” eresm
l_n_'_i__Lb QULDMISLILIL L GI. '

(1), 3), 49, @

D), (4), 3), @)
(4), (1), (2), (3)
(4), (3), @), (1)
cAer_ Asfueidme
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172. Which o_f' the following statement/s is/are true about the rationalist
marriage system ‘Self Respect Marriage’, devised by Periyar?

@
(11)

(iif)
(iv)

(A)
B)
el
D)
(E)

The Self Respect Marriages were conducted without any
priests or chanting of the rituals in Sanskrit.

They were often deliberately conducted in times considered

‘auspicious.

They did away with thali-tying ceremony.

The couples took oaths promising to treat each other equally
and as friends.

(i) and (iii) only

(1), (1) and (iv) only

(1), (1ii) and (iv) only

(1), (@), (1) and (iv)

Answer not known

Qulwmi QUlqEUEMLDESE errUJLmﬂu_[rrsmg, Jmwend’  eaap  uGSSHeaus
Smwansamsit LHHlu Slerau(mLb Fbmiseted ergl/aTanen &rﬂmneﬁr@?

(1)
(i1)

(i)

(iv)

(A)
(B)
©
D)
(E)

suofluress SHmoerhser ohs ystlsEsd @ g
FE(heS5S D FLhiEGsar g&&rﬂasasuul_rrmcu BL &SI 6.

Simer umburgd GCaianr@QuwarCy wrisaTs TS ES S(HSLILHID
- Gprasefle) pLSSLILIL L a.

Sauiser gmedl s elpranel @ilssart.

suglser gmeumsGasT( el - FLOIDTEGLD p’;ﬁtfﬁrurr&mrra;mm @Lg@mgna;
o milwuelgg 58 wib Qaiiger. ;

(1) woHmd ({ii) wr G

(@), (i) wpgid (V) wi G

(1), (1) wHmib (1V) i Hib
(¥); (11), (iii) whmib (v)
afenL_ Gsfwelldena
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173. Assertion [A] : Justice Party opposed the Home Rule Movement

of Annie Besant.

Reason [R] . Justice Party feared that Dominion status would

(A)

93

(©)
D)

give more powers to the Brahmins. /

[A] is true but [R] is false

Both [A] and [R] are true and [R] is the correct explanatlon
of [A] | '
[A] is false but [R] is true _ :

Both [A] and [R] are true but [R] is not correct explanation
of [A] | |

(E) Answer not known
smpm [A] 1 pHssL oaraflQusean_er  saraml s  QuEsSDS
TETESS-

smyanrid [R] :  GQumblaflwer - SIbSES 19 [y ITLO 65T 1785 (@1 &5 (&) XL |

(A)
(B)

©

)

(E)

2fsrrsHaman auPhssEsHILD ere SeUEnELILILL .
[A] e amenn pammed [R] seum
[A] wpmd [R] @rawr@bd o amanto Glogyid [R] aarug [A] epsrer

sflwner aﬂsn‘ésaub' _

[A] seum <parmed [R] e amano

[A] wpmd [R] @rem@n o amenn permed [R] ae&rugj [A] Sl & mes

sRlwumear eleTéssbd e

eflen GzMweldene
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174. Arrange the following -ever_lts in chronological order. .~
@) Karﬁarajar in Vaikam Agitation |
.(2)' Thirunelveli riot : |
(3) Madras Mahajana Sabha

(4) Swadesi Sangam

@  @,0), 0,3

VB 3,9, @,

© @), @), Q), O
D) (@), 3), @), 2
(E) Answer not known

19 éreu(mid pﬂ'@mmm a;nsﬁ@m,mguq aflesiupsss.
(1) eeassbd c:um;rru_g;gm SMTEHT

(2) SBOpoGaiad sosib

(3) Qsemaar waTEeT FeOL

(4) &CGs8ls srsd

@ @,6), 1), @

B @), @), @), Q)

© @, @, 1,0

@) (), (3), (), @)
(E) e Qsfwefdena

B | 139 . CCSELIAP25
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175. Which of the following statements are true about Anjalai Ammal?

@
(2)

3)

@)
(A)
®)
(©)
D)
(E)

Anjalai Ammal was pregnant while in prison

Anjalai Ammal born in Chennai took active part in Neil Statue-

protest

Husband of Anjalai Ammal was not interested to participate in

freedom movement

Anjalai Ammal served as Congress MLA from 1937 to 1946

(1), (4) THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
- THE EXPERT COMMITTEE FOR FINAL DECISION
@), (3 .
@), @) @aGamsrall hHmib allemL. @m &l (1plg el &
? 6USUEVI B (@ (LpEIIGH (LN emeuS SHLILIL. 2 GITEME).
(1), 2)

Answer not known

SigrE@a Sibirenerls LiH Qareuqnid smppisailer aTg)/ereneu sflwimarg)?

(1)
(2)

3
(4)

&)
(B)
©)
(D)
(E)

<3| (EHFEME bomer Happuded @@lr_r;g, Curgl STILIOTE @(mBSTT
Qaarevande Gnps Sigemawiborer Ho Hame GumymlL S5 p&&lw
Lmki@ eudlgssmT

S| EpFemauiblorafler ereuT FSHSTL GumymLgdeéd umkiE dupeiams

eNlmLeildeane

S|EEEMEWIDIOTET SMBISTED  6TID.CTed. 6. ame 1937 wse 1946 euery
Liewflwmh i et '

(1), (4
(2), 3)
(3), 4)
1), (2
ellen @g,fﬂmm‘jlsbmcu
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176. Which of the following is incorrectly paired?

ey
@)
3)

(4)

(B)
(©)
D)

(E)

Sir Thomés Munro
Sir Charles Metcalfe
Lord Wellesley |

Lord Canning

(1) and (4)
(1) and (2)
(2) and (3)
(3) and (4)

Answer not known

Licensing Act of 1857
Liberator of the Indian Press

Printers name at the bottom of the

paper

System of License and Censorship

ﬁ]mm@@maumﬂﬂsh 6TE HEIDTS ‘@mwésesluul'_@mm@?

(1)
)
G
(4)
(A)
(B)

©)

D)
®)

&t gmen erGmm

ér‘r TG @LDI'_GEIIT:OD
Qaud@araoed gLy
srafli Gy

(1) wpmiid (4)

(1) whpib (2)

(2) wpmiod (3)

(3) wpmid (4)

eflenL Agfweideane

1857 gib @ 2 Mg s L 1b
OYLESIN ugﬁﬂéismasesdﬂm N Hgemeowimerit
srafler G iFsQUTAwrert QUi

2 flevo wpmidb gefllsens apem |
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177. Which of the following statement is/are correct about Vaikam
Protest?

@
(2)

3)
@

- (€)
(D)
(E)

George Joseph of Kerala acted as the mastermind in the
Vaikam Protest.

Gandhi had difference of opinion about the involvement of
Christian George Joseph in the untouchability issue.

Statue of George Joseph was erected at Madurai.

George Joseph and Karur Neelakandan were not interested to
join Periyar on Vaikam Protest.

(1), (2), 3), (4)
(1), (2, 3
(1), (2)

(3) only

Answer not known

SpE&ETETUIDMIET GTEl/cTene eauSsLD Gumprl_Lib ubhdlu sfluirer sadm?

(1)
@)
®
(4)
N
B)

(©)
D)

(E)

Garerreneus Gsihg g Cerell eeussD Gumym_LSer ppenaruiTs
QeweLL L. ' | S

Sar_neins Hesdled Sflevgeigrar Qi Gl sopgQsraraigle
snhé &HSS! Cauguim(® Csmesig(HBSTT.

sy Gegmaen wmiruena) Hana wgieyuied HpeuiuHererg).

sty Gggraiib, ST HaseT gib QuAlwmT eeussb GuTTTLL S8l
sobg Qsrdreiag edlmbueideae. ' - :

), @), 3), (@)

), @), 3

(1), (2
(3) wL_@Hb
Ao Opfucime
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178. Match correctly :

(a) Kolliporai coins 1.  Pandya Kings

('b)- Peruvaluthi coins 2.  Chera Kings

(¢) Bead Making Industry 3. Kangayam

(d) Textile Industry 4.  Mohenjodaro

@ ® © @

2 1 3 4

B) 3 2 1+ 4

©C 2 1 4 3

4 2 1 3

(E) Answer not known

Hereumaianaipenn AUIbES :

(@) Qsrodu@urep premurkised 1. uremqwirsEr
(b) Qu@meuws Bramurkiser 2. Gesyirser
(©) waflser o pUsH ey Gsmfipsrere 3. smmGswib
@ g 2 pusSs Osripenea & Bonsasiin

@ ®m @© @

A 2 1 3 4

® 3 . 2 1 4

.2 -4 -4 -B

(D) 4 2 1 3

(E) eer QzMwedena

143 CCSEIL-IAP25
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179 Reason and Assertion type

- As sertlon [A]

Reason [R]

Archaeologncal excavations conducted  in

Pattanam, Ernakulam, Kerala unearthed signs of

early Roman trade

The excavatlon proved that Pattanam was a part

of Muz1rls, the port city of the Sangam Cheras.

(A) [A]is true but [R] is false
\)BT  Both [A] and [R] are true and [R] is correct explanation of [A]

(C) - [A] is false

(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

(E) Answer not known

SJemrLd mp_g);m_éaxgbgj &nﬁrﬁ;gg ;

e _[A]

smyemnd [R]

- GBSI]‘GITLD arireRTTGeTSSer o @rer LI ig @b Aymogsled

BLSSULILL Qgrevedwied &lalepajrrmrm&él Glg;ni_.EasEnsu :

Grmoreflu eurefllssamss QsMNellsSng.

FRSSTD Gurm&rrasaﬂw S®ODUPS BSTTET @o‘ﬂ,r_f)\ﬁm R

u@)g\u_nra; Ul Lewrd @UBhsSg eTaTUenS DB peuTgmiIES]
Bep s8pg. '

(A) [A] & sgeme [R] gsngjj

(B) [A] wpgw [R] #f wpmid [R] ereruig [Al-er &rﬂmrrén HarésDd DG -

©) [A] s

(D) [A] wpmid [R] &f syemmed [R] erebrigy [A]eur sflwmen cllenésd SO

(E) afan_ QzfAweldame

'CCSEI-IAP25
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180. Match the following customs with literature :

(@) A custom performed by an
unrequited Lover

(b) A custom of mixing Palmyra,
sugarcane juice with coconut water

(c) Custom of offering crow with
white rice and Ghee

| ~(d) The custom of painting the walls of
~ private houses ;

@ ® @ @@

b 8. 4 . 1 2

® 2 4 1 3
© 4 2 1 3
M 1 4 3 2

(E) Answer not known

1.

Kuruntogai

Manimegalai

- Tholkappiam

Purananuru

Seraumid LSS eupsshismer @) wissL ar Gun@ggmm.

(8) u ks sTsoamd QEuUILED
6(1h GULD&SLD
(b) @erffer Lewar wHMID SHDLEFTD
A Suapmns SOEGD QPSS
- (0) Qeudrener il wH@D QBLiwyL 6
&M&EM&EEE @pGauswid QFwu|b euPEsLD

(d) ei@sefier seisaiied alwib SHib

Guggé;a;Lb -

(@ (b)) (@© (d)
@A 3 4 1 2

B 2 4 1 3
© 4 @ 2 1 3
D 1 4 3 2
(E) e Osflusfdame

B N 145
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181. Which one is belongmg to the Chapter Gratitude in Th1rukkural‘?

(1) Self control of senses, like a tortoise, focussed on results, affords

everlasting protection

(ii) Equality is up rightness in thought and conduct always guided
by a rational mind '

(iii) A friend in need is a friend indeed; do not forget him or forsake
comrades

(A) (@) only
@& (i) only
(C) (i) only
@) () and (i) only

(E) Answer not known

AeraupeuaTeudmIET aTbss @ner Aswp perHlubSD *5*@5”'75“’53.5“&!35@1?

() emewyer %wm@urrd) pHSLESD L hbler
 eT(penioulb oMLl LjenLS3

() seh congin peGp LeALTS
CumpuL B RSy Quletr

(iii) wpeups wrspprr Caameno FDaIHS
| geTUSSIET LTt B

@A) @) vl

(B) (i) w b

© (i)

®) @), (i) v o

(E) ofen Qsfweiidene
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182. Based on the verse of Thiruvalluvar, “Four ills eschew and virtue
‘reach” arrange the following human qualities that will make you
© reachvirtue: - G i 2y o : :

1. Anger

2. Desire

3. Malice

4. Bitter Speech '
(A 2,8,1,4 = (B) 1,2, 4,8
0 4.8,2,1 - A 8,2,1,4

(E) Answer not known |
“@r’s:pésa;rr Swerpg omid’ eremp. euer@neuit. @efiareul Gereum @ahismeaT
UMenFiLI(h&s 5. ' 2

1. &emd Asmemengd (Qeugafl)

2. yms Qandrense (ieum)

3. Qumpren Qamarered (Siwésmm)

4.  shE0erd saped (Qararmssme)

A 2,3,1,4 | : - B 1,2
©C) 4,38,21 ' D) 3, 2,
(E) &L Qsfluciome

183. Reason and Assertion : _ .
' Assertion [A] : A person who thinks that he will not be despised by
others. :
- Reason [R] : He will refrain the thought of attaining any object
' with a forgery from entering his heart. -
[A] is true [R] is true
(B) [A]is true [R] is false
(C) [A]is false [R] is true
(D) [A] is false [R] is false
(E) Answer not known
Fhm LHMID STFewTDd UM :

gapm [A] » Qogred - @apriuLmod @mss  Ceuam@ib erenm
- GTEHTEY) LIGLET.
smyenrd [R] D wrdgmmp  Qummeneruh  searaTsSlenTdd DL IS Foulg LI

_ aarand Gpepslafier ysrsuy arsgs Qarareumer
A)  apm [A] &f, sryewrd [R] & '

B)  a@wmpm [A] &M, sryewnd [R] Beup)

(C) epm [A] seum, smyewrbd [R] &

(D)  sapm [A] seug, smyeamd [R] seumy

E) o Osflusdadma

B 147 | CCSEL-IAP25
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184. Choose the wrong pair :

1s
2.
3.

4,

(A)
B)
(©)

v

(E)

Thodakku —

Andalai Aduppu  —

Iyavithulam -

Yeri Chiral o~

1 and 4 incorrectly |
1and 2 incorrectly
2 a_'nd. 3 incorrectly
3 and 4 incorrectly

Answer not known

The ornaments on the neck’

" Cock shaped

Weapons for gouging the eyes

The equipment to stock Bow and

arrows

SeUDIeT ‘@GK)G&TGE).U_IS'S sarLHs : |

8

2.

3.
4,

&)

(B)
©)
D)
(B)

QsT_&@ | —

@ SAGUY  —

gualggHembd -

el Hlyed ' ; -

1 wpgib 4 seum
1 HDID 25@@1 |
2 wpmid 3 Feum
3 wppid 4 saup

aflen Gzflwslldvane

CCSEI-IAP25

sWSHD LigulBSSD srdlad

Gaeued aulgeUTEng
saenentd Q&TSFID HU|SHD

@nhqassif @ausQsL|D erHSTD
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185. Match the following :

Excavated sites in T.amil Nadu

(a) Chennai SRR Mallapadi
(b) Tanjore - 2. Kambar Medu |
(©) Dharmépu’ri- o 3. Kodumanal
(d) Erode 4 Pallavaram

@ ) (o (d)

) 4 2 1
B) 2 1 - 38
© 3 1 2
) 4 1 2

(E) A’nswef not known

o

Auimsgis : |
s10lpes8d Sispnie) Cup@sTerariurL @i ks
(a) Qsamepar ' 1. Loebcmjrriq.'
(b) g,@acrrgbr‘r 2. sburCGn@
(c) ity | 3. Qsr@wenred
d) ~Crme 4. Lb@remb

@ ® @© @

@ 4 2 1 3
® 2 1 '3 4
3 1 2 4
® 4 1 2 3
(E) ofen Gg,rﬂmeﬁ]@é}@)
B | o 149 E CCSEI-IAP25
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186. Choose the right matches among type :

1. In the ancient day, it was Tamil culture to conduct marriages
on a spread of sand — Akananuru . R

9 'The Groom fastened a thali upon the Bride — Tholkappiyam

3. There was a practice among the people of the bride to give
dowry to the groom’s family — Nannul .

4. There was the practice of conducting the marriage infront of
fire — Silappadikaram '

) 1and 4 are correct | (B) 1 and 3 are correct
(C) 2 and 3 are correct - (D) 3 and 4 are correct
(E) Answer not known

Qérameuarappier QU BSSLOTETEDEDDS CaibllsH&s.

1. uprsregdd gullpiadr Hmpoarsdad wemed urid eflpr ahssenT -
SSHTOID :

2.  EMDS@EHEE LG STal Seflalssd PSSITGD — QgresTuuib

3. awosdr eSiigart s eI THES augslsman QsTH&ESGD
apssSl(HESS — P | |

4. § Qpplouce Geuerellg Sl(moemTid — Haoviudsmyid

(A) 1 wpmwb 4 &M (B) 1 whmid 3 &

(C) 2 wpmyw 3 & _ (D) 3 wHmb 4 &

(E) eflen Qzflwellebened :

187. 8 Men._working 9 hours a day complete a piece of work in 20 days.
In how many days can 12 men working for 10 hours a day complete
the same piece of work? =5 ok e = -
(A) 9days (B) 10 days

(C) 1ldays = : \ ,@i 12 days
(E) Answer not known .

S
A

8 puisdr @@ preoversg 9 wafll GHL Cauma Qaiigned, g Coumeeaw
20 prsafle wyuur. G GCaumeaw 12 puiser @@ provers@ 10 wanfl
Cpyib Cauaned Lleligmed eTdgmen BT &6 (ApigLILiif?

(A) 9 priser ~ (B) 10 priser

(C) 11pmser (D) 12 priser

(E) &fer Qzflusiidene S s
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188. Three circles of radius 3.5 ecm are placed in such a way that each
' circle touches the other two. The area of the portion enclosed by the

circles is : : |
) 1.967 cm? ~ (B) 1.975 cm?
(C) 19.67 cm? (D) 21.21 cm?

(E) Answer not known

b 3.5 Q&8 2w ey el L miser er&slL (R feupBled eaiQeuns
LLpd wHp @@ el L kismear QsmHwm SmwssUuh&ng erafled
Sl L BIg@R&EE @ liul L ugduler LjtiueTey :
(A) 1.967 Qs.152 ' (B) 1.975 Qs..82

(C) 19.67 Qs.152 _ (D) 21.21 Qs..52

(E) oen Gsflucidvama

189. If the difference between S.I and C.I for 3 years at 5% is Rs. 183,
~ then find the principal
(A). 18,000 (B) 8,000
_ 24,000 (D) 30,000
(E) Answer not known _
3 y@peErsE sansdlird, sef QL g&EGD, &l () | aUL_lg &(@&LD
%m;@uud’rm clgfunsd . 183-<s, 5% yew® ey  oSssHd
DL T Fedler L ererar? . : :
(A) 18,000 : (B) 8,000
(C) 24,000 - (D) 30,000
(E) ofenr Qsfweicrena

190. Ramesh deposited Rs. 15,600 in a fixed deposit at 10% per annum
simple interest. After every second year he adds his interest earning
to the principal. The interest added at the end of 4th year is
(A). Rs.1,716 (B) Rs. 1,560

- Rs. 3,744 : (D) Rs. 1,872
(E) Answer not known | ' | |
QrCuwey . 15,600 8 eauys Asteswurs 10% afleul g ellflasHed
g0 Cewudpri. @eaiQeurs @uawLmamg e (i Qb St uligd
Eﬁf,rrmassmu_l DNFQILGT  QevasSpTT  erafldd  prensmbd SpaToET (1Wig6dle

Qeanss LR alys Csras D&LD.
A) e 1,716 (B) . 1,560

(C) em. 3,744 (D) es. 1,872
(BE) e Asflusidene :

B : 151 CCSEI-TIAP25
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191. The salary of A, B and C.together amounts to Rs.33,300. If they
spend 80%, 85% and 75% of their respective incomes, their savings
are as 7:6:9. Find the salary of B.

(A) Rs.8,000 (B) Rs.10,000
(C) Rs.15,000 . \ﬂa‘)" Rs.12,000

(E) Answer not known

A, B, C =8Cumi @uQJL'D oar )W bl &G 6T ah@g,s'i) - 5.33,300.  sjeuitser

Seurame@LL  ai@orassd Gmbsl wapGu, 80%, 85% wHmid 75%

Qsaa; Qaudarpari. GIb SeufsEhaL L Cafoy 7:6:9. eaflé® B-er

oarfluid ereme ? : ' ! ;
(A @.8,000 | (B) ¢5.10,000

(C) .15,000 - (D) .12,000

(E) efler Qaflwciicraned

199. Three numbers are in the ratio 3:4: 5 and their L.C.M. is 2400. The
H.C.F of these numbers is .
G 40 | B) 80
(C) 120 (D) 200
(E) Answer not known ' - | .
3:4:5 aap OdssHod sewps 3 aansaier 15.GUT.W 2400 erafled
Seupdler 1B.CQur.el. i :
(A) 40 | | (B) 80
(C) 120 D) 200
(E) oferr Qaflweiidvena

193. If a, b are two digit numbers such that HCF(CL, b)=15. Then how
many pairs are available? '

O 11 @

©) 14 - D) 15

(E) Answer not known |

(@, b) e BuQu@p Qurg aEsd 15 womn O, bgdume Filess aarsar
craflér Geueimy ersBane @averr eramseT srauLiLIbE e ? .

A 11 _ B) 12

€ 14 D)5

(E) eler Qgflueidame
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- 417 |
194. 65+ _3/.2—gof{§+—2—0f—1—1=
E PR | 13
A 1= | B 222
&) 5 (B) 49
. 1— : D 2_
VORRETE ® 22
(E) Answer not known
_ 4__.2_1 _
I, (625011
5-5 5-3) 5 9 8% 2
3 ;L
1 . 13
A 1— c B 22—
@ 13 ® 22
i3 ' 3
C 1— D) 22
© 1% ®) 2

(E) e Gsflueideaa

195. In an AP, ¢, —¢, = 20. Which one of the following is false?

- (A) We cannot determine first term
(B) Difference between first term and 10t term is 60
(C) AM. of 12t term and 20t term is 16t term
A M. of 5t term and 30t term is 17t term
(E) Answer not known

@R sl Hsbsmfe £, —1, =20, GI'GEﬂGD Sletraupeuareubbled 618l Heupmeg) ?

(A)  wse 2 pueu Sioralss Quens

B) wso 2 grnEn 10™ 2 pridhEb o 6rer eflswimsn 60

(C) 127 o puupEnd 20™® 2 prpED et & syref 162 2 mitiLy
D) 5™ 2 prudp@ 30™® o milb@En s Qs sgref 17 &gjuq
(E) oflenL @g,rﬂu@ﬁleusmo

B 153 CCSELIAP25
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196.- Mary is 16 years old. She is 4 times older than her brother. How old
will she be when she is twice his age? ;
&) 20 B 24
(C) 28 ' (D) 32
(E) Answer not known
Cof eraruafiar spCurmsw awg 16. oeud saigl sbQuiar eiweng el
4. wmg Qufluesdr crafled e Hang| gbGuller auwms el 2 wLmiE
- Quilweserms @@GEEWL Aurepsl, Cofluller euwig) erarer?
A) 20 A - (B) 24
(C) 28 . (D) 32
(E) e&ler Qzfluciicrancd

197. Pick the odd one from

CGKO : BFIN : AEIM : FDKN
(A) CGKO ~ (B) BFJN
(C) AEIM \ \JB) FDKN
(E) Answer not known
QaTHi&Es UL LGuDHDIET ng_r'rlﬁlsbmrrgs erpSsmBs SHarr_Hluiaiid?
CGKO : BFJN : AEIM : FDKN |
(A) CGKO _ (B) BFJN
(C) AEIM ~ (D) FDKN
(E) eflevr Gzfluaiidena

198. There are 5 machines that.make 5 parts in 5 minutes. How long
does it take to make 100 parts in 100 machines? |
Véﬁj' 5 minutes ' (B) 100 minutes
(C) 50 minutes (D) 30 minutes
(E) Answer not known |

5 apdrmser b urskismaer 5 BILAlL_rasertled g,unﬂés@mrrmrreb. 100 ij,‘é,]rjrﬂessh
100 Lnsiisemer crélaierey HLlLmisafler gumf@id? | '
(A) 5 Pl raiser _ (B) 100 flfl_ruser

(C) 50 Hud_ruser (D) 30 Hifl_miser

(B) &ler Qsflwciicraned
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199. When we write like this A1B4C9D16..... Z676, what is total value of

200.

earamsaflen Gorgs gl eréirer?.

the numbers followed by P and Q?

A) 770 _ (B) 677

(C) 869 i - (D) 481

(E) Answer not known ' _

A1B4C9D186.....Z676 eren g Curg P oppib Q-wepéd Qsrigriu@in

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE

(A) 770 ~ (B) 677 THEEXPERT COMMITTEE FOR FINAL DECISION
(©) 869 bk () A8 st e .
(E) fenL_ @gﬂu_léﬂei)mw ; | GéCacall whm el Gmidl (pualnsns

SUSDEVI BT GDETEH (LG MEISSLILIL 2 GTaNS).

_ leen below are 4 pictures of a cube

solssls )

Which number is on the face opposite to 3?
A 1 B) 2

ey 4 ' - D5

(E) .Answer_ not known

50 preng sansg rhiser QarOds LT [HdreTar

IV
3 eremp ﬁmmﬂm@ rHCy o drer LESSED UKD -eTeiT

@ 1 (B) 2

C) 4 S D5

(E)  dflenr Gzflwefdana

155 | CCSEI-IAP25
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_GENERAL STUDIES
(Degree Standard)

Duration: Three Hours] [Total Marks : 300

Read the following instructions carefully before you begin to answer the qu_estions.

10.

11.

12.

13.

14.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior o the commencement of the
examination. :

This question booklet contains 200 questions. You should not remove or tear off any sheet from this
question booklet. ; _ _

An OMR answer sheet will be supplied to you separately by the room invigilator to shade the
answers. Instructions regarding filling of answers etc., which are to be followed mandatorily, are
provided in the answer sheet and in the memorandum of admission (Hall Ticket).

Answer all the questions. All questions carry equal marks. _ : :

Before shading the Question Booklet Series Number in the OMR answer sheet and answering
the questions, you shall check whether all the questions are printed serially and ensure that
there are no blank pages in the question booklet. If any defect is noticed in the question booklet,
it shall be reported to the Room invigilator before the commencement of the examination and
candidate must get it replaced with another complete question booklet. If the defect is reported
after the commencement of the examination, it will not be replaced. '

You must write your register number in the space provided on the top right side of this page. Do
not write anything else on the question booklet.

Each question comprises five responses (answers) : ie. (A), (B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or ®B) or (C) or (D) and chade the same in your answer sheet. If
you feel that there are more than one correct answer, shade the one which you consider the best. If you
do not know the answer, you have to mandatorily shade (E). In any case, you should choose
ONLY ONE answer for each question. If you shade more than one answer for a question, it will be
treated as a wrong answer even if one of the answers shaded by you happens to be correct.

You should not make any marking in the question'bobklet except in the space provided at the

last pages of the question booklet, which can be used for rough work. This instruction should be

strictly adhered to.

In all matters, English version is final. _

You are not allowed to take this question booklet and the answer sheet out of the examination
room during the time of the examination. '

- After the examination is over, you must handover your answer sheet to the Room invigilator and

you are allowed to take the question booklet with you. - .

Please write the Question Booklet number supplied to you in the OMR answer sheet. OMR
Answer Sheet will be invalidated if the Question Booklet Number printed in the Question
Booklet supplied to you is not darkened correctly in the corresponding bubbles. The Question
Booklet Number darkened by the candidate is final.

Answer sheet will be invalidated if other than black ink ball point pen is used for darkening the
OMBR answer sheet. _

Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion.
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